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(Computer an Introduction)

|l U=t (Introduction)

1. Which of the following is NOT an essential
characteristic of cloud computing?

wE-H FARSE FEfET H
e ferrear @i €2
(a) Fixed Pricing/faa qea fafwor
(b) Rapid Elasticity/ds Ik
(¢) On Demand Self Services/ 3 f&uis I gfdg
(d) Resource Pooling/R&re gfei
UPPCL Assistant Accountant— 22/06/2023 Shift-11
Ans. (a) : TATSE HRITST T TAHA TaoToar &—
o 3717 femis gow Afdg

fraa qea frerteor (Fixed Pricing) i8S WT il
ferersmr e 21

2. Which of the following is an example of a
digital Electronic?

fefea goraeif~ren =T SeTeuT 87

(a) Computers/shIX

(b) Mobile phonesﬂ:ﬁa’l%?r HI

(c) Digital cameras/fefseer &M

(d) More than one of the above/?s"qg?ﬁ R

e
(e) None of the above/‘a"‘f@[?ﬁ ¥ 9 & T2
BPSC TRE 3.0 Exam-2024 (11-12)

Ans. (d) : f5Rd soiaeie T T e ¢ S| sar
A G F A (0 3R 1) F w9 F T9E, ©R R
Ziafre fFr S 21 39 ffm W F soEeife
SuHT S whbeT &1 ST B S 8, St A
fien W STRT T 81 IO FFR, AT IUHIT,
fefea Fmu, fefea Ioffesm, wiw ==, USB
Y, AeRd B, 7 fews afe )

3. The three main components of a digital
computer system are

fefsree wmger fawew & i g wew €
(a) memory/ﬁtﬁﬁ, 1/0, DMA

(b) ALU, CPU,memory/ﬁTﬁ'ff

() memory/ﬁtﬁﬁ, CPU, I/O

(d) More than one of the above/@'ﬁ?ﬁ FUTH Y
At
(e) None of the above/‘ﬂ'ﬁ?ﬁ ¥ 9 & T
BPSC TRE 2.0 Exam-2023 (11-12)

Ans. (b): ALU, CPU 3R 79t f7 77 fefiea wregex
fed % 9e& §1 ALU il iR @ifths aRehed &
T CPU #7232 & Ao § i 3 & oIy 3 a9
327 3R SEaRH B @l w9 ¥ gk w0 % fw 2
4. ____ performs simple addition, subtraction,

multiplication, division, and logic operations,

such as OR and AND?

AT AT 99T OR 3 AND St arfeher wferamd

Y ATt

(a) Control Unit/&eTd Jfe

(b) Instruction Register/3&eM ST

(¢) Program Counter/ STHH ST

(d) ALU/TEeg

UPPCL TG-2 17/11/2023 (Shift-I)

Ans. (d) : ALU (Arithmetic Logic Unit) #%X & CPU
F UF T 9N FH T & S MO SR aAfforhat
ST H HT B BW H@ 21 ALU & g1 S §
STeAT, SHT, T, 90 S A 9fEad s AND,
OR, NOT S @ffsiehet HATed IMfiet 81 21

5. Match List - I with List -II and select the correct
answer by using the code given below the lists.

T - 1 T G - 11 ¥ gafera st it gfes &
et fe&r T e w1 YA weh WE IR g
List-I List-1I
et -1 gt 11
1. | Apollo Guidance | (i) Can store 64 KB of
Computer data/ 64 KB =T
(AGC) TR & Gkl &
AT IS
e (TS
2. | Storage Capacity | (ii) | Weighed 70
of Apollo pounds and had a
Guidance volume of about 1
computer (AGC) cubic foot
RiEee: a9 70 TS IR
HUFET (TSHAL) AT T 1
H WSHUT &THar o HeE
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3. | Processing power | (iii) | Uses
of Apollo microprocessors,
Guidance high-capacity
Computer storage and is
(AGO) capable of general
mgsH purpose computing
W tasks like office
("I?ﬁ"!:ﬁ' ) = work, %aming,
'ST%E etc. T,
TR I JqHAT HEWUT
T SUANT T §
iR wEiea @,
AT, emfey w@
| PRISE]
wogfdm @t &
forT wam 2
4. | Modem Laptop (iv) | Had very limited
GLCiL] processing power
compared to
modern standards,
measured in terms
of bits and clock
speed/
U w g |
g wiftra
YR IR wftg
T [T AT em
Code/che:
1 2 3 4
(@ 1) (@) (v) (D)
(b) (i) (@)  (v) (i)
(c) (i) (v) (1) (D)
(d) Gv) @) @) @) .
(e) None of the above/3T® g Fig Taf
UPSSSC ETO 19.01.2025
Ans. (b) : T& GHIT € —
List-I List-II
et -1 gt 11
1. | Apollo Guidance | (ii) | Weighed 70 pounds
Computer (AGC) and had a volume of
RIEERY about 1 cubic foot
FHege (TS g 70 Uss
R AT 1 8 G
2. | Storage Capacity | (i) Can store 64 KB of
of Apollo data/ 64 KB 32T &R
Guidance FT THAT &
computer (AGC)
RIESERS)
et (TS )
i FSROT AT
3. | Processing power (iv) | Had very limited
of Apollo processing ~ power
Guidance compared to modern
Computer (AGC) standards, measured
RIEES in terms of bits and
FogeR (T clock speed/
STHERT I WAF A A

o H Sgd Hif
TR Tfh T |
TTAT STAT AT

Uses
microprocessors,
high-capacity
storage and  is
capable of general
purpose computing
tasks like office
work, gaming,
etc./qﬁﬁﬁﬁ'@'ﬂﬁ,
3= HAT HSRUT A
IHE HA 2§ 3R
Ay S IE
* fore @ 21

Modem Laptop (iii)
Tgeia

6.

HEET WHAW HET @ AT ok g
frrafafaa # ¥ fore YR o wisd, oior feRvunt
T YT A &2

(a) Optical/3iffeshal

(b) Electrical/gaifasha

(¢) Gyroscopic/STEUEhITush

(d) Mechanical/Aeh{-ehet

UPPCL Executive Assistant 28-11-2022 Shift-11

Ans. (a) : 3MeHe A=W, ARY P TaHS H G M &
WWNWW%WWWW

I, TeIaLIHhiha SIHSTR & TH W LED, 3ifesa
TR 3R fefea Riva SRR 1 3T 4 21

7.

CPU U2 (throughput) @& F@H & T,
frafafas & ¥ == &t 998 CPU den A9
Tt & ofter Tt St &7

(a) Secondary memory/ﬁ%ﬁ Ty

(b) Cache memory/év‘ST T

(¢) Sequential memory/defyrEe TRy

(d) Auxiliary memory/3Ts[ert HHIG

UPPCL Executive Assistant 23-11-2022 Shift-11

Ans. (b) : g9T TEE F HE g W I THA THR b
foroareet 1 o e 2
A FFet R n I9Y # ¢ Ybve G H G0 T &1 Al

CPU ¢9¢ (throughput) H TEH & oI F3 (cache) oy
CPU &1 59 ¥ & = &t Seft 21

T R T S 1 f g _n
THY F A T

NG

8.

FHEIE Teh SHI AV & 3R 98 g5 o o &
for @ ®wm T W wEHa- T HA
frreaferiae o & forg shwrex ferdtaar =t gottar €2
(a) ¢ 3EEE T (No feeling)

(b) IRe (Diligence)

(c) URadefierr (Versatility)

(d) HIE TR T (No 1Q)

UPPCL Executive Assistant 21-11-2022 Shift-1T

Computer an Introduction
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Ans. (d) : T T S A9 @ N T8 IO & (89
% T B F T B | TE HIT B A T
(No 1Q) &l &uifar 21
9. Taferer THEmeN &l T A ol SUANT &THAT
(flexibility) TTIET Tt ---- IFFATLATRAT HT
Fregur Tt 2
(a) diligence/FH3d  (b) speed/Td
(c) accuracy/X[Sdl (d) versatility/iﬂaﬁm
UPPCL Executive Assistant 22-11-2022 Shift-1
Ans. (d) : Versatility - Fgifefert (versatility) P
F T RN & S FEgeR F agdt ufher He #
AT H THE FIHA SR FIA F @Y A e F

Tt F FH & oI Tl 2
10, Tw Hwe fAefafad & & g«
(language) Y e HHS Hehdl 2?

(a) -5 (Low-level)

(b) H&T X (Medium level)

(c) 3=d-%X (High-level)

(d) I & (Object level)

UPPCL Executive Assistant 21-11-2022 Shift-I
Ans. (a) : T @ @ad oas A SRT=E e g
2 28 T T GHE ST 81 39 2o B %
feTe sTeraer For Wi ey wre H YA A S § |
11.

Who is known as the 'father of computing'?
IR T T H ' TR ST ST 772

(a) John Napier/Si GIERE

(b) Gottfried Leibniz/Mehs wa-rsT

(c) Edmund Gunter/TSHS 72X

(d) Charles Babbage/=Ted siaist

UPSSSC Auditor 05.01.2025
Allahabad High Court (ARO) 20/12/2021 (Shift-I)
UPPCL TG-2 10/11/2023 (Shift-I)

Ans. (d) : T8 99 B SEEROT B TSR GN 9ed
F WY & fow H SEmIa foan T o 3 SR §
el oS B HL H G AT S 2| Aed s 3R]
WS TST Ao 7 UF IR TS ET 7Y T s
GO e TR SR SeeT 1 HEEE & 9 Fed
5% N-F TR 1 T A FE o 2

12.

The diligence characteristic of a computer refers
to its ability to perform millions of tasks or
calculations with the same and accuracy.

W &t (diligence)

13.  Which of the following digital computers was

invented by Howard Aiken?

frafafiaa § ¥ fem fefes dwget = snfvsar

glag ﬁ\# (Howard Aiken) = feram an?

(a) ENIAC/ufUs

(b) Harvard Mark 1/8Td€ 11 1

(c) Pascaline/9T&heilsd

(d) Stepped Beckoner/R® &R

UPPCL TG-2 3/11/2023 (Shift-I)

Ans. (b) : gEE A 1 (Harvard Mark I) 3 IBM Tiferd
mﬁaﬁa%@—cﬁamsccﬁmﬁaﬁwm% 7
S TE fefied e a1 B gad T (Howard
Aiken) ET feSTe FeaT T o 3% IBM 2T 1944 & =i
T 3 Ufedie TEmTRIenel § SR T o7

14.  Which of the following is the basic function of a

computer?
Pt & W THIEET T U i 82
(a) input/gTIe
(b) storage/EﬁGI
(c) processing/SHIET
(d) All of these/3TH & Teft
MPPCS (J) 2019 Shift-11

Ans. (d) : B & =R T F1 8d &-
(1) §19 (2) BRI

(3) SR (4) 3MBYe

15.  Which one of the following statements is
correct about a computer?/shEeY
frefafiaa & @ =9 a1 waT wdt 87
(a) A computer is composed of only software
F i T I I 21
(b) A computer can organize all information on
its own

HE W i TSN R B FH |
(c) A computer is composed of only hardware
PR Fad TEdR o BT 2|
(d) An electronic device that stores, retrieves and
processes data/Ig Tsh ELETUI % S
F Wl T A S A T 8
RRB NTPC 18.01.2021 (Shift-T) Stage Ist

Ans. (d) : T TH IoiaIh STHT & 9 22T &

©R, Rea (T ) R 999 w0 & fu s fean
T 31 R GHA SR AT A et aA B #
TE I G} TS Fafed T8 T Gehdl, 39 foT 39

& s ISR 7 o & frel F emeeaswa g 2

H;T‘!ﬂ: - NN aﬁ'{ A 16. The maiélaparts g:lt_'ncTOépputer are-
(accuracy) o WY &I hi &THAT okl Garda (a) P E(@b; 7 (c) 8 d 9

HIAT B

(UPSSSC JE-2016)

(a) Speed/Tfd (b) willingness/g=s1 Ans : (a) HIX % T A -
(¢) Consistency/STad  (d) Capacity/ea 1. CPU (¥=a Mufdm 7fe)
UPPCL TG-2 9/11/2023 (Shift-I) [ |2. 39 fEamw (SH-F-arg, oeq, TR )

Ans. (¢) : HI F fmaet # fefserw, fwmar fam | (3. W%ﬁgﬁ(@?@ﬁa Hifex, wieRt 2fe)
o, ARG HET AT TS B GAF AT (consistency)| | |4, T AR (SH-Tm)
HR FIHAT (accuracy) & HI HE FA T &TEAT H||[5. HESd wWRS
Hafife et 2| 6. FEfTHE feaEy
Computer an Introduction 11 YCT



17.  Which of the following is NOT a computer
| &

component? -HT hEET hl
Teh Uk el &7
(a) ALU/TT& (ALU) (b) CPU/EY (CPU)
(c) Memory (d) Paper/arTst
RRB NTPC 07.01.2021 (Shift-I) Stage Ist
Ans. (d) : TUET (ALU), HI¥g (CPU) T WA H2eX
F TG TF § S B HIF H TH T 2
18. ALU & Hael U THETeTad W | ahl AT ha=
T 872
(a) ALU S=reHi & fq CPU IR/l &1 3uam
HT B
(b) ALU, CPU & =7 Ui § § T 2|
(c) ALU, sgidt g 3 Gawri &1 Fafia & 21
(d) ALU 3Reafess 3t «ifses i J6R &
TR ST Bl
UPPCL Executive Assistant 23-11-2022 Shift-11
Ans. (¢) : ARRS TfiF Ife (ALU) IRemfes aon
wﬁﬂasamm%amm{ﬁz(cm%wﬁaﬁ
ALU Frifid 78 & 31 aelifh- deie gie SR &
At S FEBa w2
19.

To transfer data between internal storage
peripheral dev1ces of com uter, CPU uses

HUTET & 3 feaza ¥ g1 &

T % 1T, CPU mmm%v

(a) Monitor/Aif4eX (b) /O port/ 1/O qiE

(¢) Processor/SHER (d) Modem/HieH
BSPHCL TG 111 03.11.2018 (Batch-04)
Ans (b) HE % fod @RS ¥ URua feagg #
uﬂ% fore drfr g 1/0 W @ s R
GITﬁT%I it g A qen oRd Sui & we S

TIH P STAT TS FHI
TR & Hega W e (Fe) & 90 § o =
ST @ 9 SregeR o uitass off wed ¢
20. T=feRaa ¥ § SF-91 U8 Feel | Haiad
& 7?7
(a) .97, (b) TEEE
(c) o€ fewh (d) TR

(R.R.B Kolkata (L.P.)-2012)

Ans : (d) TOUEECY P § gErd 98 @ b

Wﬁﬁuﬁzw&r&ﬁé%w@wwéﬁq@

I o BEfewh W WA @ 8 3N CPU $wget
T T 91 BT ¢ 9 FTe F1 7T Fed 2|

21. For converting raw input data into useful

information, all computer systems perform the

following basic process-
I gAY W™ # aee & ﬁm
weft ﬁmm g frafafaa difers
JishaT T Ut feRar T &-
(a) Input-Store-Process-output-Control
(b) Input-Process/gT9e- -aq
(¢) Process-Control-Output/S&H-3Hd- CHSEATCA
(d) Input-Store-Output/319e- =R -3
AHC ARO 2019 (Exam date 24.02.2019)

Ans. (a) : T T SRT & IFART IHHR § F8e- &
fe  wdwem, TIE-RR-NHG-3METR-Fd & ER
FreR faeen § Hifers 9fpan &1 T fobar ST @

22. 3AH W hIF TUHT kT 1A 2l ki Tehal?
(a) Hegeret (b) TR
(c) Bz (d) HEEA HiT

RRB NTPC Stage I* 19.01.2017 (Shift-T)

Ans : (¢) HEpA, FFAI q HEEA HH TOA Gl
. F & FfF B g e W e

In Computers, Users are also known as .
HIEET ¥, IS +ff e T B
(a) Humanware/ﬂl‘ﬂaq'( (b) F ireware/ BHAI
(©) Hardware/g8aaX  (d) Freeware/SaaX
UPPCL APS Exam-18.02.2018
Ans. (a) : FATIR (Humanware) 39 STTEROT &l FHad
g el SRl SR gEel &1 Aee
IRl S SEvESAS F OER fESme SR
sFfed fFr S @1 sl W # ged @
AT < el ST 2
24. The program instructions are represented in

binary and stored in the from which
they are fetched, decoded and executed by the

CPU.

T & et @ A # gettar e § el
_ ¥ wud foear man ¢ fed @ 3 dfideg
g T, feahre 3 fremfea fer g 2

(a) memory (b) memory and chip

(c) chip (d) control unit
UPPCL (Office Assistant I1I) 23-09-2018

Ans : (a)mﬁaﬁwaﬁﬁﬂﬁéwm
THLRM a0 & &9 # Gfud @i @ R 98 CPU %
méﬂaﬁgmﬁﬁ%ﬁm%

25.  Which of the following CPU registers is used to
store data and intermediate results produced
by the ALU?
frefafiaa ® 9 ffw CPU =X @1 Su=,
2 3R ALU 3 S forw o wemrerdf
TRUTET A G e o e feRam Srar €2
(a) Program counter/STTH SR
(b) Memory address register/ﬁﬁ'ff @'H e
(c) Accumulator,

(d) Instruction register/§& e T
NVS Ju. Sect. Asst. 09.03.2022 (Shift-I)

Ans. (c) : HUI H a9 B N ga¥ a9 9HIY S A

T ow owm T AW 8, WX Tl wwan g

THRAEAT T HT 3TN, 22 3R ALU 51 399 fhu

T Aegedl 9RO (Intermediate results) 1 =R & &

fere fepan < 21

AT, # ITEANT E ATl et— TR, SRl

T O, TR TR R, SEAE R

Computer an Introduction
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26. A person is called computer literate if he/she is

just able to
" HErET W’ wEeTT § Afg 9%
| B hared :
(a) Run need-based applications_
SIEREEN
(b) Create anti—virus software
TH-aeRy SRR g §
(c) Write programs/Stamy ferg= &
(d) Hack other computers
TE FET FH g% F |
RRB NTPC, (Shift -2) Online, 19.03.2016
Ans : (a) FH B & Gdad T ¢ 5 =Ah HH
F I FA H SN R Hiee T 2|
Tkt o1d B o STavas Terhel S gan S 98
H AC/dR FEN, BEA S, HeSHl, FeHS A
ST AT, THA UM, 3 BT ITANT FIAT ST &

27. TRSh ol gt [ehed hi STt &7
(a) SRt 9§ (b) 7T H
(c) F=RI ¥ (d) fagm
UPASI 05.12.2021 (Shift-IT)
Ans. (c) : AR H o FFR FHX J H ST 7

a@ﬁﬁﬁﬁ@wm% Iq f ST A
BT, ©R &6, fofg e, nfk fagmand gom 8d 8 )

28. Who is considered to be the Father of Modern

Computers?

FETE ohT Wk Tehd HTAT ST 87

(a) Gordon E Moore/Ted §. R

(b) Alan Turing/Teld R

(c) Charles Babbage/iﬂc_'\cf CEE]

(d) James Gosling/Sg T

RRB NTPC 01.02.2021 (Shift-I) Stage Ist

Ans. (b) : TeH IR F AYFFH F F IS Fal
ST 21 ST S 23 S, 1912 20 ﬁsﬁv@wﬁ
gaT a1l 3= R weie & enfashr foRan S wemfiew
S GO S STguReT & forw fae o

29. Which of the following is/are NOT valid
characteristics of a computer system?

-9t shegex faew
fegroraTd, =& €2
(i) sifegeh W1 (1Q)
(i) STaTERET (Accountability)
(i) STEURNATET (Versatility)
(iv) SHaaT (Diligence)
(a) (ii) and (iii)/(ii) 3R (iii)
(b) (i) and (iv)/(i) 3 (iv)
(c) (iii) and (iv)/(iii) 3 (iv)
(d) (i) and (ii)/(i) 3 (ii)
NVS Junior Secretariat Assistant 09.03.2022 (Shift-I)

& W=

(iii) HHS (Diligence)
(vi) fafaedr (Versatility)
(v) fergag=itaam (Reliability)
(vi) ¥t (Automation)
(vii) YERUT &AM (Storage Capacity)
Sifgd TR (IQ) 3R EMI (Accountability) WX
foren & o= feioand et @ or: fashey (d) e &
30 — U WU ok IMAReh ST 9F | foed
@ wEm Bt §, e dEve te 9w o
HHTrT T ek B
(a) formn s (et ) (b) ST A
(c) 7€ o d) TR
[UPSSSC Computer Oprator 10/01/2020]
Ans. (¢) : 3 T TH THHF & AR 22T oF | ooy ot
T B 8, B gunes u ar) § SEiftE H e 2|
31. A __ shows how operational attributes are
linked together and contributes towards realisin,
the computer's/@h g f&
TR faParsit @l U Wy Wt S ¥ SR
ST Y TR T H A < &)
(a) component design/FHFHe &g
(b) computer architecture/HFEE SfeheaFar
(c) computer working/HFeT afhT
(d) computer organization/sh*X S NCIEEME
UPPCL (Office Assistant III) 23-09-2018

s : (d) B AfTESH UF U 9Rear @ S
FR AMfhSFR # T B 7 N 3WH FrE
feheaar &I RIS H o fw SfTRE Tiege &l

s g & e 2

32. Consider the following statements about

components of a computer:

Tk T (FPEEY) o Teehi o IR W [ATTSha

HUA W e wifvg;

1. Input Unit- An input wunit accepts
instructions data from the user./3T EHB'I?—

AT AT SUATTeRdT & THAIT WehR Tt T

2. Output Unit- An output unit accepts the
output roduced by the computer as a result.

forfer gents- Tk fofe gentd TR (FPREY)
¥ gRUTET o ® § S i g St 8

3.  Memory Unit- It incorporates to store the
input entered through the input unit before

processing starts.

3a;r§ THS HET B YEERIT & YT
@ﬁﬁmmm%maﬁm&‘r
HUE 3T Wit §)

4. Central Processing Unit- It is the hardware
thin a computer that carries out the

Ans. (d) : R ReH @ A= (Valid) e instructions of a computer programme.
frferfa @- TR~ TE Toh TR (HPH)
(i) T (speed) %aﬁmwﬁw@m%aﬁmuﬁm
(ii) Y&aT (Accuracy) & Tadent ot feranf-ara otar &1

Computer an Introduction 13 YCT



Which of these is/are correct?
T ¥ I-a/A wd e 82
(a) 1and?2/1 3R 2
(b) 40n1y/a\0'5|?T4
(c) 1,2and4/1,2 3R 4
(d) 1,2,3and 4/1,2,3 3 4
H.C. Ald. (ARO) Exam-2016
Ans : (d) UL TH 3o SYHT & Sl ST B THG
FH, TR S 3N AT S H HH HT
F I &9 ¥ 9N FH § o Bl o
(1) TYe fEaEa— 9 FeE, 789, S T B 2
R FAE FoF W 2
(2) 3MSeye fEaga— S Hie, fict T 99w fFu o
BT FI PP F TY § THT B 2|
(3) RE— & 221 E (RAM) a1 =Rl (31 oiEd,
SSD) &7 § WK B 2
(4) VAR Ffe— = 9, St dugeR & aRass’ g

2 o Toft el = T9Y B 2
33. A is the conceptual design and
fundamental operational structure of a

computer system.

......... T wrgeY faen @t denfe fesmga

3T witferen aReer HeeT §

(a) computer organisation/sHFII CIUEIEENE]

(b) component design/FFHE fesg

(c) computer working/&HFEY afhT

(d) computer architecture/HFT anfeh et

UPPCL (Office Assistant IIT) 23-09-2018

Ans : (d) I fHEHI TF Ggif~as afes Ffpar 8
fSTeeh STl HPgeT & GTEAT daR S S 8 |

35. SHFHEY YW BRI SRTHYE W URafad il &-
(a) T H (b) ST &H
() T & (d) TR H

(SSC CGL -2016)
Ans : (b) H TRT HI THF N STHHIA H TqHd
21 1T SreHaftyd sifhel A7 ded ¢ Wefh a1 sFafted
FFeT A dAF 21 TRT NHE F TeA H I T
FURUI: 82T 1 & i # frefee e 2-
1. HEATHE B2 2. TEHIHRS BT

36. 3N HHE ATT ®Y W URdfdd SeT ol
HET ATAT B
(a) 3T (b) wSWUT
(c) & (d) ST

UPPCL APS 27-09-2018 (Evening)
Ans : (d) ST TF 3T 8 (s 39 39 @@ ¥ T899
S & T Tt B 3 ST S e o

37.

Which materlal is used to manufacture

Computer Chi
ot 3 o 4 far el s i

ﬁwmm%7

(a) Silver/=iar

(b) Tron/del

(c) Gold/gm

(d) Semiconductor/SHiehgaT

UPP Computer Operator 21-12-2018 (Batch-01)
Ans : (d) 7 g & fomfor § gefihesey ward &
SUGNT Rl ST @1 SMHAR W A8 TS I QAR de
71 i @ S g uRRefE § faeeh &1 duen &
el 21
38.

IC chlps used in computers are made of-

R ¥ T 8 et 1C fora st grelt €2
2. ) % (a) Silicon (b) Chromium
(Component of Computer) (c) Lead (d) Silver
MPPCS (J) 2018 Shift-1
STeT (Data) Ans. (a) : HIX g @ aret IC (Integrated
34.  Which among the following is the correct full | |Circuit) o Riferepi o1 s & @
form of BIOS? WF-9T1 BIOS 39, Tohi Mefieh shP[eX okl wi-eh WIHT STl &2
=1 T gui w37 (a) Fret Hem (b) G e
(a) Basic Input Opera.ting System (c) I o (d) ©a Sed
©) Bou THZ 340 ENCE aop [UPSSSC Lower Mains 21/10/2021 Paper-I]
asic nput Qutput Software Ans. () : TR BT H SHF AIcH soel B HAT
iﬁlﬁﬁ?ﬁgzzmgzsm ST 21 1830 ¥ wH H 3= fIvomuIers g9
(c) Basic ;%;t utput Wystem (Analytical Engine) ® fasfaa fear, @ smyfs
(d) None ofthese/%?% 3 B o feforeat et #1 spigd el ST §| i
UPPCL ARO-18.02.2018 | 40 TFFEIET ¥ STET o fohH ®Y | HUSRUT BT &7
Ans. (c) : AF TR 3413253 frew (BIOS) 0.8 ¥ (a) TRA (b) THAT-SHHA
tsﬁéma»‘r@m% % ST TR Apa B AN (c) sHma (d) sl
YA B 81 ST aﬁg rﬂ% T7 BIOS awmgx 7 UPSSSC Lower-1 (2015)
Tl g S W, TRE g@“@sa Ans : (d) FR ¥ 2T a0 F ®T F qUSIRA gl
A F 8 SN R HH aﬂmé TWH qE 21 el Wm0 qgr 1§ e S g 81 el
Fropet WAl # ST frew die 8 21 T @ fganerd gern 9§ wer S 2|
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41. _ 3gul qe w1 Wl e §, 3iR
___ wreles RSl oAt fa=iere et g
(a) Information, reporting/g:ch'lvﬁ'gﬂ feare
(b) Information, bits/ghTHI ﬁﬁ\ﬂ
(c) Records, bytes/ﬁ?ﬂ@fﬁ EIECU
(d) Data, information/STZT TR
UPPCL Office Assistant 111 24-10-2018 (Mor.)
(UBI Clerk 2010)

Ans : (d) 59 35 T2 FAOK GO & € § A S O 9
3T Fed 8, Rard g ol e @ weRid R § e
SHTe ghen 319 qof Ber a1 Eesl & JeRi & B

42. With reference to "Instructions", which of the
following options is incorrect?

* f4d9T (Instructions)’’ & Haw # f=fafaa

H o forsheT w272

(a) The code required to direct the computer to
perform a discrete action/sHEeX )
TRM & f fEfm F 3g Tees #is|

(b) Given by a computer program to a computer
processor. An order has been place HF
T SR $Pe MR & f&am o U sifEt

(c) A collection of software application specially
designed to execute specific tasks/faf¥Ty 2%k
THRIHE HH & fou 9w &9 § femm fau
T FHR TEAHIE H FHoaeH |

(d) Step which is a single operation of the
processor and is to be executed by the

processor/=0T, S SMEE &1 Tl SRIE 2
I T FW TS f6ar S 2
UPPCL TG-2 17/11/2023 (Shift-I)
Ans. (c) : 5% & Geof § R T W ¥ (c) o © i
e 5 o § i s 5 o w9 e
T Y W T 1 Fela & ST A B &,
e SHE IWAM qEG: HRgeY S § fu e e @
A 3R TEge B % o e S 21
43. frafafRaa o @ @A WRET AHRl & R
W 3. 3R, (OCR) Wi 87
(a) OCR-C
(b) OCR-A
(¢) OCR-B 3 OCR-C, i
(d) OCR-B
UPPCL TG-II 20-03-2021 (Shift-I)
Ans. (b) : OCR-A T& TR A (ANSI) F TER |
AR (OCR) B & S 1968 # FreeX siffesa
Hiaet RHfaee & yEard & § s @ s wiw g,
T8 3 fedl @1 UH W Wi o B 9 Fad FEged
dfcsh AT ST A GESHT ST Hehdl T

e AN Wi

(Hardware & Software)
Which of the following is NOT a part of the

44.

(a) Monitor/Aif4eX

(b) Keyboard/a-arg

(c) CPU/HIG

(d) Microsoft office/ATSshIATHE STthT

RRB NTPC 23.01.2021 (Shift-II) Stage Ist

Ans. (d) : ETEAT- HF & 98 qI° 4 g9 T Hohdl
fiee s
AioEaTR- Wea HEl NuW & 98 g 8, S
FX H ST 3 8 39k 5N SMEeqE e 1 S -
WERMRE AR, TR T |
45. Which of the following statements is FALSE

about hardware?/ & 9N # fmafeiaa

T | SA-91 %hdT TAq 87
(a) Hardware consists of input dev1ces output
devices, memory, etc./ BRI ERCS

feareg, smeeye feary, 9 1R & &)

(b) Hardware design is based on architectural
decisions to make it work over a range of
environmental conditions and time./

fese enfdheamre fofdl w smenRa @i @
s gz fafte vaiawia oRiefE s o=
T HE H Toh |

(c) Hardware works only on binary codes 1's and
0's./ I's 3 0's W
T AT 2

(d) Hardware will vary as per the computer and

its built-in functions and pg)él;amming
language./ TEAW, FIHX 3R foeeg

g SIS S 3 SFER SR-ster 3|

UPPCL TG-2 17/11/2023 (Shift-T)

Ans. (d) : BRI § T ey, MR feawEy,

Eﬁi@f%’qﬁqaﬁ'wﬁas‘rﬁ%l Toen fesmea fafs

gy oRRgfeel 3 g9 W &M™ #H % fag

e fofdl @ ameRa g 81 T Had Al
FE 1 3R 0 T HW & 2|

46.

Which one of the following statements is

INCORRECT?

frefafaa @ ¥ SF-11 %" Tad 87

(a) Software cannot be transmitted electronically/

T Hl s &9 ¥ giafie 7@ fean

ST G 21

(b) Hardware is any physical device used in or
with your machine/‘a’f@%ﬂ(, 9 YT H A
3GF QI IYANT fHar S aren B ot difqes
feargw 21

(c) All software utilizes at least one hardware

device to operate/Fdl TR uf=nferd g4
%ﬁgmﬁm@g@mﬁaﬁvww
Hd 2

(d) You can touch hardware, but you cannot

hardware of a computer? tourth software/3Td gEdaL ! g Thd €,

Freaforfia 3 @ v w1 o % gl S e A 5 B

ek W &Y §7 UPPCL TG-2 17/11/2023 (Shift-I)
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Ans. (a) : &3 T3 u¥ ¥ fheq (a) T @ i
Waﬁgﬁmﬁmmﬁwﬁaﬁwmm%
3 5 e SR A SaeR ARy w0 @ fan
ZeE H IYANT FRRAT ST el B

47. Which among the following is/are types of
microcontrollers in embedded system?

-\ /| foen ®
TSI o Wh &7
A. ARM microcontroller/ARM WIET:IﬁERjW
B. MRP microcontroller/MRP WEEBﬁ'-Fl—deFIT
(a) Neither A nor B/9 TMAMMITEB
(b) Only B/&ad B
(c) Only A/Fad A
(d) Both A and B/A 3R B &t
UPRVUNL Asst. Acct. 15.05.2022 (Shift-1T)
Ans. (c) : ATEHIHZIR Th DT & N arel 3R &e
T Frgee-si-t-RT & Rl TeRe R % w9 §
g fRAr T geAT 21 TWEs R=® # ARM
WEshishelol &1 ¥HR 21 ARM & o1 uweaw
SRR (R $RM T2 &ved) Wi 81 08
fefea weRe fomw & g § wEw A=l
TgshishZ T ST B 1
48. With reference to microcontroller, PIC stands
for

n@ﬁw%mﬁﬁ PIC ot a7ef

(a) Prefaced Internet Controller

=

(b) Prefacefi Interfa}ce Controller

=

(©) Periphergl Internet Controller

by

(d) Peripheral Interface Controller
IR ey &

by

UPRVUNL Asst. Acct. 15.05.2022 (Shift-1T)
PIC T URWIA Y Hgshlheiol 21 39
g fif foer ST 8 o 39 W @ wmm
foFn ST @ 75 =T faftm FR FE @1 PIC Aieshishg ok
F IwEm fafE Ao - wRwN, s
TR ey Sushol § fepar S 21
49.  Every component of a computer is either:
U AT & Teh 3T FAG LA
(a) Application software or system software/
Application software T system software
(b) Software or CPU/RAM/ Software I CPU/RAM
(c) Hardware or software/ Hardware 3T software
(d) Input or output devices/ Input T output devices
Allahabad High Court (RO) 11/12/2022 (Shift-II)
Ans. (c) : FE F T HUHS TSR I HHEAR
aﬁm%m%ﬂwﬁww%maﬁmaﬁt
GITEaeR &1 STEYIHr et & | FFHE, YA q°T Hergsi
F TSI Fed &1 T8 FEASL N AifH G B 2
gigeaaR S, fEHi 9 gl B Gug @ S el
foren % %At & frafad s @ qor srge & fafe
FET F < GUF T B 2|

Ans. (d) :

50. Which among the following statements is/are

correct with respect to hardware and

software of computers? .

HIRET o eTEATR A TIUEadTR o Heier |

frefafeaa & & sE-a1/@ s @@t 27

A. Computer hardware 1is the physical
equipment.

THTEET FTEaa Wifeleh SUHITT B

B. Computer software is the collection of
programs that make hardware do its

job/ehTTET = w HWUE
T FIEAT T STUAT HTH I o o1 TTaT
I B

(a) Both A and B/A 3 B &1

(b) Only A/Fad A

(¢) Only B/#ad B

(d) Neither A nor B/ @ A 3 7 & B

UPRVUNL Asst. Acct. 15.05.2022 (Shift-1T)

Ans. (a) : FPF & T 9 § AR 7 @I -
1. BEAW 2. HRIR|
FH g Hifde SRl @ f9 &9 Tl o wehd @
IW- AU feawE, Tqe/emseye  feaww, WEER
(CPU), HifieR, grEfe M|
FreeaaR 39 MW &1 I BT & S gEAA H ST
FH FA F AU TR B E G- SR faww,
feareq great| 39 a0 vt 7 X T B

51. Uk 9T gTedal uie &l gl
(a) fooet O (b) HDMI 9%
(c) 39 (d) TCP U
UPPCL Office Assistant 111 24-10-2018 (Mor.)
Ans : (d) 7= faeq # feot e, HDMI U1, SeAe

FEaT Uid 2| Safeh TCP Ui¢ greaer Uid =&l 7|

52.  Which of these are hardware components of a
computer system?

0 | i et faew & greaer uew §7
(i) Input device/sTYe feamq

(ii) Output device/3T3eYe feaEd

(iii) Device driver/f€amEd gEeR

(iv) Central Processing Unit/§ga SrafET e

(a) i, ii, iii () i, i, iv
(¢) i, ii, iv (d) ii, i, iv
UPPSC APS 2023

|Ans. (b) : 3w T FI = W |
53.

An integrated circuit is commonly known as :
Teh Uehihd URUL WTHIC: ST ST6T § 2
(a) chip/fe™ (b) resistor/SfeRIe
(c) transistor/ZiSET (d) platerﬁZ

RRB NTPC 30.01.2021 (Shift-I) Stage Ist
Ans. (a) : THiEd 9R9Y (Integrated Circuit) T8 3TEHT,
fog a1 At off Fa1 S @1 fafawE g gw e
gt 8 " 9 10 § 20 i o g &1 e i &
FFRET § IC's H1 FANT foBam S o)
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54. & 'BUS' |
(a) TH 2T Mg I HT @
(b) TSR TERd B aret TR aRR &1 ¥ 8
(c) TH USH 3TzeH 3 & &
(d) STRRET Rpew # AIE BRd &1 T T & 77 8
UPPCL (Ste.) 28-08-2018 (Morning)
Ans : (b) 59 (Bus) Th FHFHIH =T g S 2T B
ot el § TFw HAT 21 F@ THEN HARd
et Rfehet AR 1 W2 81
55. HIE | Wl TEEis ot ¢ 30 wad o—
(a) e (b) Rt
(c) o8 (d) f5@
MPPSC (Pre.) G.S. Ist Paper 2015

Battery/azﬂ
Rectifier/fEai
(¢) Electronic switch/3aa2i+eh =
(d) All of the above/Iuda T+t

(LMRC Maintainer Electronic Exam 2016)
Ans : (a) UPS & To0 Hgeaqul 9 98 & g1 s
UPS fren &1 g2 & 81 369 & gieg & ded
JoTelt X i & 2

(a)
(b)

60. Trafelad ¥ ¥ & fou U Aug | Hefid T8 7
(a) & o= (b) o T
(c) #.d7 d) TR

RRB Group-D 12-12-2018 (Shift-III)

Ans : (a) FRT | TR TH TTHY I F99H Uiee g
2, fome swam faftw feawsl & F@eX ¥ ST %
fw fpar ST 21 9 @ FE TYe N eM™eye
(TEHES) ® FX § SIS B ST H SMEH-TEH FHl
21 %R # ¢ % TE THR S¥- USB 1, HDMI

g, VGA W, Audio ¢ 371fE 214 71
56. ‘TEUHYTE’ T feramuT -
(a) fEree Hie W g (b) ©F IS HeR TwlE
(c) fat AiE R I (d) ©R e UfeR qwrs
MPPSC (Pre.) G.S. Ist Paper 2014
Ans : (a) ‘TITHGUH (SMPS) I famror fEes A
UfeR T BT B 1 A8 B Bl Al & IeaEd d
B9 el B G = 2

Ans : (b) TE fem, @ 4 g qu AEER FE &
%’I@%ﬂ?ﬁw@ﬁél‘ﬂ@%@ﬁw%maﬁ
®R fEar o@r @1 & (@mﬁ@f@wqﬁz)ﬁ

F ARAH T T 51 A e A A &
fem @ @ g W ey SR wd@ 21 afm asE
FR F BEAR AN § gl T 2, o &I M
e ¥ dafer @ €
61. Tr=faRaa &t faem =

(1) FYE fearw (p) ROM

(b) wAfam feaa (g a'a!zrﬁ——r

(¢) R feara ()

(d) IEege feamaE (s uﬁwﬁth'&

(a) a-q, b-s, c-r, d-p (b) a-q, b-p, c-s, d-r

(c) a-r, b-p,c-s,d-q (d) a-p, b-q, c-r,d-s

RRB NTPC, (Shift -3) Online, 11.04.2016

57.  USB stands for............. Ans : (b) T fam=—
FUE AT (USB) T UT & 3T §7 (a) Y feaww (q) T BhH
(a) Uniform serial Bus/af & €ifaa a4 (b) TafeT fearg (p) ROM
(b) Uniform Series Bus/gf®H st a9 (c) TR feamg (s) FAT AAH
(c) Universal Series Bus/gf-ead s a8 (d) ¥Eeye fearq (r) fiex
(d) Universal Serial Bus/Zferder @ifteret 62. Which of the following statements about
UPSSSC ETO 19.01.2025 lnformatlon kiosks is/are FALSE?
UPASI 04.12.2021 (Shift-I) (information Kkiosks) &% Hoer H
Allahabad High Court (ARO) 14/12/2021 (Shift-1I) ﬁr—r%rﬁga T | HT-T HAT T &7
UPPCL ARO-18.02.2018 (i) An information kiosks is a computer-like
Ans. (d) : USB 1 U 9 diga a9 device designed to provide certain
(Universal Seriaé 1%1;% i | e e aﬁ%ﬂ ;"‘3‘2@{ % i;lll%f%rTmation to 1g;ople in %‘lg;hc places,
IRt feared S % oI ST | IR A SNV
feamew S-fiiex, SR ik A 27 &1 ot Wt T A @ 5 R
58. 3T TI-TATS oh hacT hl 3T HIZET & fhd . S"'a;.'nm,mﬁ,%ﬁ'gs"s'miw%'
R 2 O pically used for advertising in digita
(a) . S T 9 (b) g W sg,gpnagey systems./T-3 - (l\gion-
(c) F T4 EIReICA (d) ﬁﬁqgj e interactive) ferarer Tferm faew %,
UP Lower (M) G.S. 2015 e Suem gur=a: fEfvee wmaw
Ans : (¢c) F-AE & FIA HI F H J TH ff U W wuTReTa B farmTa & fera feme et §1
T S 21 A g W A (e S ) (a) Only (ii)/%a (ii)
feferer =3 i HPgex ¥ Slied 1 e @ S g2 3ﬁT (b) Both (i) and (ii)/(i) R (if) i
3= St 3 faeret ffda fomam ani (¢) Only (i)/%ﬂ'ﬂ @)
59.  The most critical part of the UPS is : (d) Neither (i) nor (ii)/™ @ (i) AR T (i1)
UPS =T Werdl Weearqut feee @ NVS Ju. Sect. Asst. 09.03.2022 (Shift-1I)
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Ans. (d) :
BEAW, maﬁtﬁw&w

|
T-HATRTHb-ATEH
g & forr ShA W welfa S
Wmﬁlwm%ﬁm@‘gmm%ﬁw
A o § fagm % faw sua Ry o) 21 e
few T G & fee W 21
63. GO foRATR (Information kiosks) o el W
frefafaa & 9 -9 wd §7
(i) TR wrHerHar Wit gt 31
(ii) T TEI-TAEBE (remote controlled) AT €1
(a) Fae (ii) (b) T () T & (i)
(c) (i) 3 (i) & (d) e (i)
NVS Ju. Sect. Asst. 09.03.2022 (Shift-1I)
Ans. (c) : Hifaa HTETHAT (Limited functionality)—
Frgey & fawlia soaeie fFae s fafte sam 9 S
1T 1 TH G I (A FIA T GHE) F Gl 2
e gl W ¥E€9 (Remote control and
management) df% Hah 78 TR SN TS F W
# frat U @ WY §, SERTY FRes A ()
FreEamR $ IS FH, ARTE B GHEIRT w3
gt F T Y Y g9aq H G 31 F gES W T
formT off 399 ST S THE FERTT G ?1 o
AT B I oA & g 9 2
64. What does CMOS stand for?
CMOS T T AT =T &7
(a) Core Memory Oriented Semiconductor
HR A efftics ot Seaey
(b) Core Memory Offset Semiconductor
A s Tt Sheaet
(c) Capacitive Metal Oxidised Semiconductor
Hed a9t heaex
(d) Complementary Metal Oxide Semiconductor
T 91 3AFEe 9t Heael
NVS PGT 19.09.2019 (Shift-I)
Ans. (d) : CMOS &1 qU M HitcHed Hea AaEs
HfeheaeT 81 CMOS TF @@ @l 7l faw &rft 8 St fop
TEE WA Al § SR Tk aed # Aew ¥ werdt 2
T 8 F CMOS I +ff F&d & CMOS 1 Raat 21
Folish A off I 81 CMOS g & guR Freget &
Date 3 time & T save &I &1 S FF B T35
¢ 7 off 99 @ ¢ FiH CMOS 9 T F&
TR ¥ = W@ A 2

65. UNIVAC I UgeTT GHTI-3e99 dTell Seiereii-ich
fefiteer shwpet on, fo@ b9 T smftent #
WU AT & forg fesme= feram wam am
UNIVAC T UT&y =T 2
(a) Universal Automatic Computer (Iagd

sffemfes HeR)
(b) United  Automatic = Computer ({EIB%E
sffeHfes HIR)

(¢) Universal Automatic Calculator ({ﬁlﬁﬁ?{
S Hepaer)
(d) Universal Asynchronous Computer (Jfaga
i HI)

UPPCL Executive Assistant 24-11-2022 Shift-I
Ans. (a) : UNIVAC & T0f &9 Ifada eicmfes
F § T8 Ugel UM ILYF Al St fEfea
g Presper Eckert A S A F g #
FSifel @ T W g fomfaa e w1 9 d@gw
TS TR § FHRe iﬂﬁﬂﬁ"'ﬁ (Application) & ferw
fesme fopar o am
66.

All the arithmetic and logical operations in a
computer are done by............

Tk wrgel H Ol il e arfehen
L1801 AR B feRan <mar 7

(a) ALU/TEET

(b) CU/ER

(c) Register/TSET

(d) No option is correct./IE faeheq &t T 71

UPSSSC Auditor 05.01.2025
SSC JE Electrical (Exam date 27.01.2018) Shift-11

Ans. (a) : ALU- TReriifes @ifees gfve- a4t yar &t
T T qEEd ALU # @it 81 ST 9 wed weed
A # fRed ger wd fdw ALU § 279 81 S § Sl
SRR 1 e B R
67. Trefetfiaa o | T ErEae) T& 87

(a) =T 2T (b) Bz

(c) FHE (d) gr3m .

Uttarakhand Lower (Pre) 2011

Ans : (¢) SR Th TOLAR T & SHfh Taha
234, fiew, W, FoET § gEaR 2
68.

Which of these is NOT a hardware component?
T A i Ueh STSaer 3ra9d &l &7
(a) Input device/319< RE]
(b) Operating System/STT'Qi'ﬁ;’T feen
(c) CPU/HIdg
(d) Memory device/TmR =T
UPPCL APS Exam-18.02.2018
Ans. (b) : Y fearw, drfy, Tl feamw a wf
TR 3797a 8 % &9 T TeYH R Gk & Safh
R fren uh e dede 2|
69. 3T | hIF-TT HITT TEATN & 8?2
(a) WIH (b) firex
(c) T (d) TR
MPPSC (Pre) G.S. I" Paper 2013
ns : (d) FEI &k F 99 R &W 3@, g gar
TEYE R Tohd &, FEAW FgAd § 9d - HI=H,
fiiex, AieT x| @i Sumi &1 98 998 S HrER
% FETTR H TAT &, IH TFREAT Fad & |

Computer an Introduction
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70. ﬁwﬁw@ﬁ@wﬁqm%—
(A) o8 TS -
(B) so1® - E o
(C) Wz - TE grEA
(D) =TftaT E o)
ﬁnﬁr@aﬁﬁﬁwmwﬁvﬁﬁm?
(a) (C) @ (D) (b) (A) Feet
(c) (B) FaA (d) (C) Haa
KVS PRT 02.12.2020 (Shift-11I)
Ans. (¢) : g e - EIEL]
i - I
HE - HERSIEE]
=St - Hact
IRE g # Him o= i g e @ HE TH
9 TSN BT 21 et ¥ IHH g Al T 2
71. 9 ° | &F HEEE FTEAE T8l 8-
(a) fiex (b) HEER
(c) W= (d) Fr-arg

RRB NTPC 17.01.2017 (Shift-III) Stage I*'

ns : (b) FFLT N Hor Toff A 3R IUHWH P

ERSI %l T8y, #H-are, e e wed

F F I B & Hurem & forg fafifa
T S GREE Eh%T | HEEER HHEaH B

72. Which one of the following is not a hardware

component of a computer?

ﬁw%‘—rfta?r T | I GT HEET h Tk gEdan

e T &7

(a) Keyboard/ﬁ-a\'@: (b) Memory/ﬁ'lﬁff

(¢) Printer/fieX (d) Mouse/a=39

RRB NTPC 18.01.2021 (Shift-I) Stage Ist

Ans. (b) : W%ﬁﬁwwﬂmﬁ%gﬁé@aﬁtg
Thd 8, T e g1 99- A, wEy, wihe,

fifex 7 AeErE e
73. THEAfEd ® ¥ &9 97 FEE gTedal Tal e—
(a) TIHAR (b) T fewh
(c) ¥ (d) FeEre
RRB JE CBT-II 28-08-2019 (morning)
Ans. (a) : SR el &1 995 8 S FFe i i

aﬁr&fwﬁ%ﬂéﬁr%mmﬁﬁm‘s@m%m%

74. HTEST H i TTSAT g7
(@) C* (b) Window 7
(c) CDROM (d) None of above
UPSSSC Lower 2, (2015)
Ans : (c) H. . I (FHFR fowp - e el wmr
T BEdeR gl 21 9. €. I # 1T G far S @
59 9 & aeen TE ST Wehdl 21 39 woR Rl &

Ans. (b) : TR T €= ITHWT @ G ST
Rret Tt S W W et a1 Rad e % fore fear
S §1 iR Mg gome e % g fmior
el 9 T R

TR & SR % B4 2 SEuleR S i 3
Biee-3hae gl fegdt Sevm gt @ PN
SeT % & STeTT-SFer fardl S N-P-N &1 P-N-P %
TS T I BT 71 39 FhR o TR H, s ardt A
&5l I Icqeih, TARH AN R A1 7L &9 o 99 9

ST S 2

76. &M feh ot fou 7o wea A& € o1 T 2

(i) “WIwEaTr veg w1 37 HTHT W, et
aﬁ'{wﬁmgrawﬁz%ﬁzﬁ‘%l

(a) (i) — &, (i) - TG (b) (i) — TTefd, (ii) - T

(¢) (i)~ 7o, (i) — %@ (d) (i) — ®, (ii) - W
UPPCL TG-II 20-03-2021 (Shift-I)
Ans. (d) : (i) SRR TH FL F Gaferd F 3TN
fafere @t 1 fmfe w9 F fv S A

15

(i) FFE A 9A (FTEATR T ToeaR) T faerst o
T 81 WreaR 1 We ¥ greaTr i e faar o @
f U o HT B N FEAR 3 e & MR W Hrd
F § T HE B F AT P F HOHAR qdq
BES Al # EvARA Bl 81 WiRedH (SRR
i) BrdaTR 991 IR & 7 TeThY 1 F1E B 2|

77. TRt FPEX W wE wE e TI WA
e §-
(a) |HEaTR (b) TRE
(c) Hare (d) TETR

Jharkhand Forest Guard - 2015
‘Ans:(a)@'ﬂ?ﬁWﬂ?fWé@l ‘
78. The main purpose of software is to convert data into

WIREATR & WAfieh 3299 ST &........ W T &
(a) Website/daE1ES (b) Information/¥=-T
(¢) Program/SIIm (d) Object/3fssiae
UPSSSC JE-2015
Ans : (b) ST 1 MU LI ST (FeaT q) H
I § wEer 2
TRT — HRSR — Faq

T EERSIGI] §| 79. An 'Optlcal Character Reader' is an example
75.  Which of the following semiconductor devices of:/T arrﬁzméﬁwﬂa @W%
can act as a simple switch? | (a) control unit/&ZTa e
HIF-TT STefeTeTe SUHIUT Uk WU Rarer & (b) input unit/3AYE I
®Y T el T Hehal §72 (c¢) arithmetic and logic unit
(a) Diode/SHIE (b) Transistor/ZifST AR TS Ao e
(c) Capacitor/SHTe (d) Resistor/Sfereft (d) output unit/3TM3YE {ﬁ?
NVS PGT 19.09.2019 (Shift-I) UPPCL ARO 25.02.2022 (Shift-II)
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2 Rrgen 3w fide 2w
AN TR H dehfoush &Y 4,
HT 7, 3% A3 G289 *ie § 49 HLl &
F fred 90 | ©R & g

(Central Processing Unit)

80. Which of the following is designed to provide

high scalability and fault tolerance, including
automatic data replication?

HIF-|T WeTed ST iaenta
wiga sour Wholtarerd! i W Tevierar ua=
I ok fou fewmg ferarm e €7
(a) HDFS/UTEUhUH
(b) DAS (Direct Attached Storages)/ETH
(SR 3T L)
(c) NAS (Network - Attached Storage)/TITUH
(Feah-3e e WIRS)
(d) Local File System/alisel Bigel feq
() None of the above/35d® ¥ | HIF Fai
UPSSSC X-Ray Technician 15.12.2024
Ans. (a) : HDFS (Hadoop Distributed File System) H
e &9 § 3= Wafifadl R B feR™ (3T -
geIeiien) & forq fessa fhan man @1 =g e S
Tfpfa & WA T FH FH 8, P 22T i FE vt
FAT-HAT AIeH W W el 21 399 T@ GAfE e @
fh afx 1 Te et & T, a9 F Rew FH FA B

81. Which of the following part of a processor
contains the hardware necessary to perform all

the operations required by a computer?
plEEaicy freferto & 3 Frw s & e

BT omavasw Wi mym W & fog

IMETTH FTEAAT 2rell &2

(a) Registers/TSTERY

(b) Controller/f=Hh (FHIeR)

(c) Data Path/S2T 99

(d) Cache/&aT

(e) None of the above/@'{[?ﬁ ¥ 9 & T
UPSSSC X-Ray Technician 15.12.2024

Ans. (¢) : 27T 99 NOW & 98 fewmn @ w3 woft

FEIR WA e & S L gR AEvAF UM,

ATSher STTRYM S 2T AW Yl H FH % forw

S B €1 TEH ALU, TN, Aol 3N a9 Si9

e wifrer 2 &

82.  The concept of "stored-program architecture',
which greatly influenced modern computing,
was first articulated by which of the following
pioneers?

“wrd-vmm enfddeEr’’ @i staunn, e

MY HIET i Sgd THTfea fehar, To

jéﬁ frafafaa @ & fora emga g1 =<k &t
eft?

(a) Grace Hopper/3d gW

(b) John von Neumann/Sita 3 =i

(c) Steve Jobs/=Ta Siisd

(d) Bill Gates/[Sa T2g

() None of the above/3T® ¥ | HIF Fal

UPSSSC X-Ray Technician 15.12.2024

Ans. (b) : TIE-IEMT 3MfheaeR’ &t TTURIT Fad gl
S 3 A F e ot 3 AT i e
F AW F off S S 2 59 kR # Mum ek ger
AT B FHERT T AA § =R A S 21 7 ey

FE % oL T AT = & S 2

83. What does POST stand for in the context of
computers? . .
HE o Wed W POST &t & o7¢f 872

(a) Power-On Self-Test/UeR-317 Heh-2&

(b) Power-On System Test/qai-37 fey 3w

(c) Post-Operating ~ System  Test/q&-STRIET
foom 2w

(d) Pre-Operating System Test/fi-3iRieT fen 2w
() None of the above/35® ¥ | HIF Fal
UPSSSC X-Ray Technician 15.12.2024
Ans. (a) : F72T ¥ POST & 3714 “UfeR - 37 4% - F’
T 21 T TF TR F YEA WA & S R AT I
fefieet feam® % =1 @9 W B 81 POST & T=T 32¥d
T QAT B0 5 e F eEam oY T, SR,
AMbFg HE AN 3T FIHg T& <1 F FH W @ & A
T AR POST & XF &1 Tue T 9t 8, @ F7et 0%
I Hew A1 9y e Feiki A g 2
84.

Which of the following features of a computer
determines the capacity of CPU to identify
different memory locations?

HTETET W SA-91 Wer fafs

IO Tl @ UgeE % % flw CPU o

aToar Terifia et 87

(a) Size of the data bus/S2T 5 T TIE

(b) Size of the address bus/TSH 5 T TIg

(¢) Bandwidth/ssfagy

(d) Word-length/ag-i¥

UPPCL TG-2 3/11/2023 (Shift-I)

Ans. (b) : TS9 9 & TS FAK Ml # ©EAH A &
fer CPU 1 emer feiRa & 7 31eiq U9 a9 &1 915 a8
iR &t @ B CPU SR e T2 o Tga1 o Webell 2
T RAM & 3iad 3R ff Fuifa & 81 Serwr &
fofT T 20-fre TS89 79 22 (IMB) T Tga Tl 2|
85.  Which computer components

interconnected by a system bus?

Wﬁaﬁwﬁwmﬁmw (system
bus) FRT 30w H ¢ g &7
(a) Motherboard and J/O/Ae e 3 /0
(b) CPU and memory/CPU 3% A7
(¢) CPU, I/O and RAM/CPU, I/O 3R RAM
(d) CPU and HDD/CPU 3 HDD
UPPCL TG-2 7/11/2023 (Shift-I)

are
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Ans. (c) : e 9 . I 3R /3M=eye feard
F FAFE B B s@ﬁﬁ% weE aq% SR
Bt 21 drdg S Tl Rk A % TR & e faew
9 ) M FFL F YA H TF el G 2

86. The speed at which an instruction is executed is
related directly to a computer's built-in

fore wifer & &g ot Fronfea forar wmar § =8
Y et & fafifed @ et gl 8
(a) clock speed/Faie TiE
(b) execution speed/TSIRYH wie
(c) spin rate/fq= T
(d) latency speed/@ie gt g
RRB Technicians Grade-I 19.12.2024 (Shift-I)
SSC CGL Tier-II 18.01.2025
UPPCL TG-2 9/11/2023 (Shift-1I)

Ans. (a) : 9 T @ s ey i fear s @ a7
§8 ey & Iitied st wWis ¥ g g 2
Folieh Tig HFT % T N AEIHE T B vl @
5% & (Hz) ® A7 ST 21 9% 7If qwmian @ fo $eeR
fepet oSt & 3T=eye am|

87.  Which of the following is NOT a component of
a Central Processing Unit (CPU)?
¥ ¥ &=

wafdT g

(Hidt ) = Tew T 7?2

(a) Control unit/ai?ﬁﬁ e

(b) Arithmetic logic unit/TRemfes @fers afte

(¢) Registers/Asred

(d) Control bus/Ekﬁ?T ER)

UPPCL TG-2 10/11/2023 (Shift-I)

Ans. (d) : I=d TERET (CPU) &P FH Th
T FEGW 91 g S aﬁmgf F oot Faf w1 RERE
FAAT @ 3R 3% TG BT 21 THH 3 FE b guedq
FH F U -3 FHHC g 8, S9-ardufes
@i g (ALU), &ia gfe (CU), Hred onfzl
Salfeh sheiel a9 CPU &1 HuHe &l il 21
88.

This bus usually a set of wires that links the
CPU to the RAM (and to other places). If the
CPU want to fetch an instruction from a
particular location in RAM, or want to write
piece of data to a particular location in RAM, it
put the specific location details on this bus.

SA-H 97 (bus) AHIE: AR ol Teh A et &
St did (CPU) =t W (RAM) (31 311 T )
¥ Sredt 87 afe didfig (CPU) = W (RAM) &
et fervre o= & wes Tdor e T §, o m
(RAM) ¥ foreft foorw wome &t Tdor wma
HET S, T (RAM) H Foredt ferdver vy w@ s
%ETTI?ZWT%,?‘F[WEFW (bus) W TaR¥E
T feraRur yae fewam Srar 21
(a) Control Bus/EFﬁ?T ER}
(b) Communication Bus/EFE{[ﬁIﬁTS'H a9
(c) Data Bus/S2T 59
(d) Address Busfqgﬂ ER)

UPPCL TG-2 17/11/2023 (Shift-T)

Ans. (d) : TgH 99 a0 F TF TUE ¢ o g F T
T g Sedr § SR THH IWAT geT wEh § ugw &

g H % T e S 2
89. T T witwg foh CPU & HaW ¥ fqu 7w o
HIT T & AT 3N

(i) I& W= AU (register memory), il
FE (control unit) 3R FAReATEH AR
e | o= 2
(i) 3MYTF FEEA U, T% Th Thighd Aiche
T (integrated circuit chip) ¥ THIR grar
2, Rd wewsie e o )
(a) (i)- 9, (i)- T (b) (i)- T, (ii)- oA
() (i)- 319, (ii)- 39 (d) (i)- 75, (i)- T
UPPCL Executive Assistant 24-11-2022 Shift-1
Ans. (b) : ¥y (Fea T FHR) F TE
feer & & fden & ‘ff;ﬂffﬁ (Retrieves) [ELSIIES]
(Executes) &% g1 Hidg e &9 ¥ ws diwed
(72X TeT fese) faed 7 99 (Brain) 71 399 TH
spfafes wifoes I (ALU) Ts e THE (Control
Unit) 3R faft=T I A9 (Register memory) 814 21
Hidig #t Fae MR & &I F I (referred) fwam S
21 S & T e (i) Wdg & daod § o 48 21
90. During execution, CPU selects and retrieves
instructions from the

foeares & 2R, CPU & el &t =em 3iR

g: GTed hldr 2-

(a) registers/TSTERY

(b) main memory/ﬁ? iR

(c) auxiliary memory/SgTdh TRy

(d) secondary memory/Sh-edl HHIG

UPPCL Executive Assistant 24-11-2022 Shift-11
Ans. (b) : TEEH T FREI A T R (Main
Memory) Bt @ 3 3H 3y wHid o @ed €1 @
Hrg § Ao S S i B ©R B 81 el
B U A A I e 1 A i B I O i
3@ Al F Fae S N # Al A S @ S
fsares & o om Bt 2
91.

The basic computation unit of the Central
Processing Unit (CPU) is known as?

re Wi give (Hidfia) @t ger gmoen
ToRTS ohl oFIT Shgd 87
(a) Core/R
(b) Processor/SIHHT
(c¢) Random Access Memory (RAM)
lueq T AU (1)
(d) Disc/fe&h
(d) None of the above/@ﬁ?ﬁ 7 q &g T
UPSSSC ETO 19.01.2025
Ans. (a) : CPU (J2& YRR gfHe) & 9a 9 “HR”
FEAT 21 BR T8 THE ¢ o Wit Fdei B TEE w
2, SIH UM HTAT, ST I FafR HAT SN 3 AlhaArei

1 i s
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92.  Which of the following is the core of the Linux | 96. fw=faifaa & & forad agd B AWHN
system, manages the CPU, memory, and RS i+ grdt & T e et Sar 82
[())esr‘i)pheral devices, and is the lowest level of the (a) Ha;\d disk/aTe femn
e & @ S9-w fmew faen @ @ (b) CPU/HIY
widy, A aiv ARt Rearsw W W () Input device/STEE FSaTEd
‘éI-T{T-ch\%‘ ST ot T T PR W (d) Output device/3T=3eYe feamsd
() Bo;tloa der (b) Desktop environment UPPCL Executive Assistant 30-11-2022 Shift-1

P Ans. (b) : SL.9.7, (CPU) & 01 &9 el MO e
(c) Kernel (d) Daemons G & o s
UPPCL Executive Assistant 24-11-2022 Shift-11 | |(Central Processmgﬁ{{glt) q'ﬂq%' Ed : BN d

Ans. (c) : Kernel T &2 e 8 o 16 OS||| = g e ot o @1 S €1 Hrde

(W)W@W@mﬁméla@w%
FireaeR 3R o= & g GuR & e HE &1 Hicl

TH PR HAHS B 8 3R 39H [ e | Fugia
ﬁmglaﬁﬁ(kernel)ﬂ'@mﬁﬁw%aﬁ%-

(i) Monolithic kernel

(i1) Micro kernel

(iii) Hybrid kernel
93. CPU %hweX sl G&A 9N &I §| TH=feiEa o
¥ CPU =T qul ®9 =T 872

(a) Central Programming Unit/gga e {ﬁ?
(b) Control Processing Unit/?:ia?jﬁ TG {ﬁ?
(c) Computer Processing Unit/& =X SRfET 3fte
(d) Central Processing Unit/Sgd SrafET e
UPPCL Executive Assistant 25-11-2022 Shift-11
Ans. (d) : 9dg T<a TERT e # dR@ §9 2 59
FE F ARAH F AW Y ST W 2| AG B FH
V@ <% g ¢ a8 W giEd afde sk
3BT Fae (Operation) Tfafefert s e 21
Control Unit

CPU=ALU + CU

Arthmetic Logical Unit
HWeX & CPU 3N fohd AEIG ol € U™
e < weReT 77

(a) Magnetic tape/BTfee 39
(b) Hard disc/gre fewh
(c) Memory card/FET H1E
(d) Cache memory/av‘QT T
UPPCL Executive Assistant 25-11-2022 Shift-11
Ans. (d) : $Y JAE FAE FAG € S 9 i S
&9 ¥ RR T 21| 7 Qi qen 8 FH % Fed o
ST @1 g8 didig g et fehar S 2
95. 1.8 GHz &l &dlsh ¥ dwel Tk CPU Wi
'@ﬁ?é_ FeAleh oIh (clock cycles) ehY Hehdl 2
(a) 18,000,000 (b) 1,800,000
(c) 180,000,000 (d) 1,800,000,000
UPPCL Executive Assistant 29-11-2022 Shift-11
Ans. (d) : F€1 & T CPU 31 9fd Tehs fopanfeaa gie
aTet =i S T B A @ o fmedst (GHz) ® A
ST 21 T TH YA IHR ¢ S Hdeg & A
21 18 GHz & Foid R aren ddg sfq s
1,800,000,000 FTeh =5 HTT Fehell & |

94.

1 &9 ¥ @ 99 @9 & Memory, Central Unit 3R

Arithmetic Logic Unit.

97.  The brain of computer is/h¥I2T AT femmT %

(a) CPU/HIURL

(b) memory/feTd

(¢) 1O device/3TE/3T fgamq

(d) More than one of the above/?ﬂ?i?ﬁ i) Th )
MR

(e) None of the above/%"cl'{ffﬁ 79 T8

BPSC TRE 2.0 Exam-2023 (11-12)
Ans. (a): a‘hﬁqaﬁ W%ﬁﬂgg%%ﬁgﬁ
e 1 g S g il
F T H Y 2 2

98. Intel 8085 microprocessor is

of
generation.

T2 8085 AIEhIME T ﬁ'—ﬁmaﬁr%l

(a) first/9oH
(b) second/f&aa

(c) third/gatd
(d) More than one of the above/‘a"ﬂ?ﬁ T UH A
E3IBED

() None of the above/3u® § | HIF Fai
BPSC TRE 2.0 Exam-2023 (11-12)

Ans. (b): 226 8085 HISHITHTR T SR & 21 T8
1976 | f=a fopan a1 o1 3R I8 8-foe WA &wer &
1Y 37 2|

99. The most common addressing technique
employed b aCPU is
CPU W Hed T WSRAT deheiieh &
(a) direct

(b) indirect
(c) immediate
(d) More than one of the above/@'{[?ﬁ 79 Th
MR
() None of the above/35® ¥ | HIF Fai
BPSC TRE 1.0 Exam-2023 (11-12)
Ans. (d) : CPU TSR daii S0 & Ted | 3w gH
aﬁaﬂﬁaﬁaﬁﬂmésﬁwécmmﬁﬂﬁé‘a
ﬁzm%t@ﬁ%mmaﬁél CPU 3R Feifo
T W TSR dEE FrRad 8 S 8-
(1) Direct Addressing
(i1) Indirect Addressing
(iii) Immediate Addressing
(iv) Register Addressing
(v) Indexed Addressing
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100. The brain of any computer system is-
foreft oft e fren s afiass @@ @)
(a) ALU
(b) Memory
(¢) CPU
(d) More than one of the above/@'ﬂaﬁ FHUs A
EIBED
(e) None of the above/3Wdad § ¥ HIE T8
BPSC TRE 2.0 Exam 2024 (9-10)
Ans.(c): X oeen &1 AT IFH & 97 CPU
g 2, ST geft st B R e 8, 2 o e @
3N ITANTRA % QYA BN Uo T 71 gHA waREa

F ST A B @ H F HEE w0 B

101. Tk heed o HUg § or@l sgd B¢ R o
g€ _ wEwmr R
(a) Ziforeed (b) foem
(c) ored (d) smse™

UPSSSC Junior Assistant Exam. 27-8-2023
Ans. (a) : W%W{ﬁa@a@@éﬁaﬁﬁﬁé
o gifred a1 SIMT €1 9@ TH FER F TeRiiTh
Reared A & S R s & FEfT 0 % R
I fea S 2
102. ST & WA WA I+ (CPU) & Hed o
frfafaa & § 31em & g
(a) ALU 3R &g e 2t
(b) Ferl I
(c) Rerfes wiforp afe
(d) 3meYe Ife
SSC CHSL (Tier-1) — 17/03/2023 (Shift-I1T)
Ans. (d) : CPU (F=d TR Ie) FFEel &1 a8 9
2 S fadelt &1 g ot ek fsaifed s 21 CPU &
9T §- FEE, §ed e R siRgdfrs e gfe |
CPU H=eX & 59 T 81 78 T Soiaei-h Aeshitag
2 8, S el &1 e o e & emeR Wi
Useful Information ¥ Si€etdr 2|

103. fr=rferiaa ¥ 9 R et & Afiass & 9| 9

off ST STar 2
(a) Hrdg (b) TTA
(c) TERES (d) Hene

SSC CGL (Tier-II) 02/03/2023

SSC JE Mechanical — 23/03/2021 (Shift-II)
(SSC 10+2 CHSL 11.01.17, 1.15 pm)

SSC CHSL 18/03/2020 (Shift-III)

SSC JE Civil - 27/01/2018 (Shift-I)

Ans : (a) CPU a1 92d TR Je FFX &1 TH TH
am ® g §E % S9E W gkl §, gEfn 3@
FeT 1 ARAsH el ST 2| CPU H519 2271 fawetsh
TS I WG B BT 81 T HWLX H g AT & S
FOI 3T B I FAT & M G H1 Frgersor 2 2 |

104. A microprocessor is the brain of the computer,

() Microchip/ATgshifed  (b) Macrochip/Fshiferd
(c) Calculator/FaFaet (d) Software/THa=K

SSC CGL Tier-II 20.01.2025 (Shift-T)
Allahabad High Court (ARO) 14/12/2021 (Shift-T)

Ans. (a) : T THIEHIHT FFT &1 URA (Brain) BT
2 o 39 "I, G (Central Processing Unit) &
THER o T S 2|

105. The maximum memory size of third generation
microprocessor is/a'a%,'ﬂ' EEitiE)
T STfeTheH AHRT TeS &
(a) 4GB
(b) 16 MB
(c) 16 GB
(d) More than one of the above/is"ﬂ?ﬁ i) Th g
3feeh

(e) None of the above/3ud® ¥ & HIF Tai
BPSC TRE 2.0 Exam-2023 (11-12)

Ans. (a): T SIRYE AEHIHE H AT TE
et 4GB el &1
106. CPU on a single chip is called

Tehet oo T (CPU) Sl <hgl 1Al &

(a) microprocessor

(b) mlcrocontroller/qﬁaﬁmﬁa'{

(c) solid-state device/8feTe-T2 Ifth

(d) More than one of the above/@'{iﬂ% g usd

3R

() None of the above/3ud® ¥ & HIF Tai

BPSC TRE 2.0 Exam-2023 (11-12)

Ans. (a): mmm@ﬁtﬁqaﬁmﬁsﬁ@waﬁww
2 98 & fufoeia fw § wfmfer gmr @ i

gaﬁt

% ?mﬁigﬂ e T & ST ST H W
|
107. Computer on a single chip is called /TeheT o

T THIIET (Computer) T SHET SITAT §
(a) microcontroller
(b) microprocessor,

(c) assemblerf@'@?f{
(d) More than one of the above/ﬂ'ﬂ?ﬁ T9us g
3R

() None of the above/35d® ¥ | HIF el
BPSC TRE 2.0 Exam-2023 (11-12)
Ans. (a): Thd 7 T FIT H ARHIGHIGR Fal Sl
3, wiifts 98 T & faw § gy, W SR /0 F2a
F % T 211 Fafem g & eiie & 2|
108. The register that contains the address of the
next instruction to be executed is called

, Fad STTetr ey =
%ﬁ ITETT BT & S TS B ¥, e §
(a) program counter/STHTH HIF2I
(b) instruction register/3~IZa ST
(¢) accumulator

(d) More than one of the above/is"q?j?ﬁ T TH
M

=

and is also called a: /T TSR (e) None of the above/?s"q?i?ﬁ H 9 & T2
HIETSh AT & 3 3 oovvcneen ot =gt T B BPSC TRE 2.0 Exam-2023 (11-12)
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Ans. (a): TH SIMW HRE THT § TH T & 8 S
I M THCHE F USH & B2 HY @l g ol
R ¥ TS B A 2

109. The register that contains the instruction that
is being executed is called

TRTeRIE & ® THEH &l @ arer TR

I HE AT §

(a) accumulator/TERIeY

(b) program counter/SEH HIZ<I

(c) instruction register/3~HZHH LT

(d) More than one of the above/?q?i% g us

MR
() None of the above/3T® ¥ | HIF Tai
BPSC TRE 2.0 Exam-2023 (11-12)

Ans. (¢): TECHM TR FT TUCRE H geg Bl
T ¢ fue TEEE @ W § Wee g R
few Tq 2H # Fae Th & TR H R
T 21 A MR 3 THCHE H FLA e H I
Y e ©R Hh Wl 8|
110. The register which holds the address of

location of memory to and from which data are
to be transferred is known as

ag ey, Torad A & T @ uar gar §

el | A1 Wl e T WHRa R S g

¥, Thgerar §

(a) index register/m e

(b) memory address register/ AR TgH =T

(c) memory buffer register/ AR T TR

(d) More than one of the above/?q?i% QU

e
() None of the above/3T® ¥ & HIF Tal
BPSC TRE 2.0 Exam-2023 (11-12)

Ans. (b): 9 T2 IR TF G919 TR &1 HI 2
fore ger ot Frder 1 AW TR €T @1 MAR 1 q&A
e foroaret =oT # wE § e 3R ST a uge g
111.

A storage device used to compensate the
difference in flow of data is known as

22T o YaTg U e ol WuTE o ToTg SuamT =t

I aTelt ©RS fEamed st 3T wet Arar €72

(a) main memory/q& fomrdt

(b) auxiliary memory/¥grah fomrd

(c) buffer/aHwT

(d) More than one of the above/%"q?i?ﬁ i) Th g

MR
(e) None of the above/3T® ¥ | HIF Tal
BPSC TRE 2.0 Exam-2023 (11-12)

Ans. (c): 32T F FAE § 3R & AR & foIq 392 =
S aTe W ey B W FET S 81 HE ST
32T YR I WHARd & & g fean smar 8, g
827 v 3R I FERd B S gebar 8 S gEe
Y F JARGT fHar ST GohelT 7

112.  With respect to the computer system, the term
'cache' means:/&weX Tawew & wWaer H, ‘I

(cache)' ITsg T T 37ef 37

(a) a small but faster memory placed between the
CPU and the main memory to reduce the
memory access time/ Tqg H H

W%WW(PCU)aﬁIg@ﬁﬁﬁ%
s ot U BT Alfsh as AErd

(b) a way of connecting multiple functional units

to the internal bus/EB‘i:$ e ?{ﬁ'{ H 32‘4%1
9 (internal bus) ¥ TS~ T T bl
(c) a group of physical lines meant to carry
information/ JgT A arell fRfSrpet
A=Al T Th TR
(d) a memory trash can/Tsh TRy EEST &
UPPCL Assistant Accountant 31-07-2023 Shift-1
Ans. (a) : $ (Cache) FH TH FHR & 3= T arell
AR FEX TG § S NEW T 3= A I WA
TEH B 8 SN R ST fRU WM A $wEel
S, TRk SR B2 B EHEH S 81 FqE A
THE T B FH FH & T CPU IR g7 79 &
1 @l T BT AFA I FE
113. MIPS is a computer performance measurement

method for rate of instruction execution per
unit time. What is its full form?

qfd 3oRE THT eV e o X & o,
MIPS U& el s Yawia wio= faftr g
THRT YU &7 T 7
(a) Master instruction per second
R 3LV W Yohs
(b) Memory instruction per second
R FERY T 45
(c) Metric instruction er second
s TERE W
(d) Million instruction per second
faferm gavia W Hahe
UPPCL Assistant Accountant 22-06-2023 Shift-1
Ans. (d) : MIPS & qf &9 ‘ffereq seavig | e
T 21 TE TH HUEE ¢ TG ST HE AT T
F AT T F Ao F o o s g

114. Which of the following are the two valid types
of Instruction Set Architectures?

frrafafaa @ @ &9 @ SEavE A2 nfeheesr
% Y AT TR &7
(a) CISK and RISK/CISK 3R RISK
(b) CISC and RISC/CISC 3R RISC
(¢) CISC and RISK/CISC 3R RISK
(d) CISS and RISS/CISS R RISS
UPPCL Assistant Accountant 22-06-2023 Shift-1
Ans. (b) : CISC (Complex Instruction Set Computing)
RISC (Reduced Instruction Set Computing) I g
TR efher 2, fomar v doer naad %
fesmer # fpar ST 21 T AT A g eiw fadwi
(Instructions) 3 ST 3R AR o § 2
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115. Identify whether the following statements are
true or false.

Tor frafafaa wae 9 & a1 3@

(i) A microcontroller is a programmable
digital processor. Teh

muee fefiesr waer (programmable

digital processor) 2l

A  microprocessor is defined as a
multipurpose, programmable logic device
that has the capability to read binary
instructions from memory; that accepts
binary data as input and then, processes

(i)

that data. Teh
TR Ao Saed & ®0 8 vﬁm&m
feram e &, e At @ smgdt ergen
=t g # amar et §; S Srgd ger
FUE % U N THE wT ¥ iR R sw
22T T WEH I

(iii) A microcontroller uses an internal
controlling bus./ATgghTeh[¢TX AL
THEIST I ST UL SHTT B

(a) i-False, ii-True, iii-False/ i-319c¥, 1i-9c¥, 11i-3T9

(b) i-False, ii-True, iii-True/ i-3719, ii-9, iii-8F

(c) i-True, ii-False, iii-True/ i-8F, 1i-3TH, 1ii-HF

(d) i-True, ii-True, iii-True/ i-9F, 1i-9, iii-HF
UPPCL Assistant Accountant 31/07/2023 Shift-I11
Ans. (d) : T FU G 8 Fifh T WEHIAE H TH
SOERE, dg3esiiE, ik SURWT 6 &Y H GRAT
fepam T @ fored F @ anead e S ued @ e
gt 8 3R wEERT & fou wEmEeE § 9l w9 @
1/0%%%3@%@13,@14@%@31%@
T fefied W & &7 & of S0 S 8,

3fffe E0T o i AT T |
116. Which of the following is the

rocessing unit of

the computer? u HEET H
TR T w82
(a) CPU (b) memory

(¢) Graphic Card (d) mother board

MPPCS (J) 2019 Shift-IT
Uttarakhand RO/ARO, 2016
Ans. (a) : 9d TR I (CPU) &Fregey & wff
1 TR e Fed 2
117. The size of a word in computer is
HISY T Teh ITe T T BT &§—
(a) None of these/3TH | H1g el
(b) varies within the same computer
T & FHged § e g 2
(c) fixed in every case/gX A § faf2
(d) fixed in a computer, but varies among
different computers/T% FFeX # fafaa g,
Al fafrer el & e form & @
UPPCL ARO-18.02.2018

Ans. (d) : ST H, ORI F TFHE A F RS,
R F AR W TH V& & 3R Th Frgel § g #
fr 2T 21 16 fae @7, a1 Tl § o, % v 16

T 21 BT W, UF T3 64 g 7F & TAT 2

118. Trfelaa o ¥ &iF AT e AT &7
(a) I WA H I=9 WRE @@ g 8 3R ¥
feeR @it @
(b) T CPU % a1t o &8 oite =RS ufan
el
(c) ROM T fRer wreffiyss aerdt 21
(d) FI FFE CPU 3R RAM & &9 &t T agd
& e wie A &
UPPCL TG-II (20-03-2021) (Shift-II)
Ans. (b) : I A T THHAA AU § 3w wRS
& B 21 TR T AR HAR gt 21 W S
W f FSe A FE g WL CPU & 37 Ff
A Bt 81 T8 gEelie RS TRAr @dr 81 ROM TH
feer o7 wrefess w9 @1 3 A # Faa fT efweE
X ghd 21 ¥ HAN CPU iR RAM & ot wiig &I
A F & o g wffe a9 A g
119. Which among the following are the components
of CPU? /frefafaa & @ wi=-wr Hidig (CPU)
% UTh &7
(a) RAM and ROM/3 3iR 9
(b) ALU and Memory/w?;ﬁ( A
(¢) ALU and Registers/TU@ 3R ¥R
(d) ALU and Control Unit/Tu&g 3R &ela g
UPPCL ARO-18.02.2018
Ans. (d) : TUEg 3R & e @ & B 7

TUA HBT qT Alfeheh e Hedl & a9l B2 e
Teft Al 1 e w2
120.  Which of the following is a part of the CPU of a
computer?/fT=t H ¥ T HEEX & CPU &
Tk 9T &2
(a) Motherboard (b) ALU
(¢) SRAM (d) DRAM

UPPCL AC 2020 (Exam Date 13.09.2021)
Ans. (b) : 9 (dza wofdT gfve) & &9 w@ o
B -

1. % gfe
3. A g
didig wewElE & 3Tt $IT g 71
121.

2. srifes TE @i e

Which of the following storage devices directly
interacts with the CPU?
frrafaiaa ¥ § &9 |1 9USRT gith €@
Ty wter s wfie e 72
(a) Tertiary Storage/Jdde HUERUT
(b) Secondary, Storage/fstiae wueRuT
(c) Primary Storage/ST4Hes HUSRU
(d) Hard Disk/aTe few=
UPPCL AC 2019 (Exam Date 29.01.2019)
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Ans. (c) : 9 392, RIS A HH & forg @y
Tofiss A & WY elae T 8| MUl A & YR
F 2wt 2

(1) RAM (Random Access Memory)

(i) ROM (Read only Memory

122. Which of the following components of the CPU
maintains and regulates the flow of information
across the processor?

CPU ot fAfefad § € &9 61 oeeh W
YRET § goFT & WaTE ol s=1T T@dl € i
Foreifara war 2

(a) PC register/PC ISR

(b) Control Unit (CU)/&2Td I (CU)

(¢) ALU/TTEY

(d Accumulator/@ﬂ}i@?{

UPPCL Assistant Accountant 22-02-2022 (Shift-I)
Ans. (b) : F2IA I, FH & Hea wEfdT Ffte
(CPU) &1 U S & Sl SHE & Gered &l e
FAT 21 T I FAHAR R Hifed i B g 3R]
frzaoT Heohdl § aReM & fau ww aAd feset @& wam
A 21 S I FHEA (FAE, ALU, 392 3R Ry
feare anfe) & Gered i FERE w2
123.

Which of the following options is inconsistent
with the remaining three?

¥ we o fawew 9w A= |
T &7
(a) Cache Memory/%?‘[ LI
(b) Arithmetic and Logic Unit
e TS it g
(c) Instruction Decoder/S<Z T feshret
(d) Control Unit/&gTa If¥e
UPPCL Assistant Accountant 24.02.2022 (Shift-I)
Ans. (¢) : I FUN, tefifes Ug i gfie 3R derd
{ﬁ? T gt CPU (Control Process Unit) & 90 g el
TR SISt SUE & Gl Hihe & & |
124. What are the components of CPU?
g, (CPU) & ueeh -4 §7
(a) Output devices such as monitor and printer
iR 3R fiieX S sMReye feaay
External storage devices such as floppy and
pen drive/didl 3 U9 g4
RS fearsaw
Input devices such as keyboard and mouse
FreE R AR S gAY fearay
Control Unit and ALU
Feia e 3R TTAF, (ALU)
UPASI 05.12.2021 (Shift-11)
Ans. (d) : FtHtT. & i 7T HUHT £
(i) ovefufes oifors afte
(ii) Tl Ffe
(i) ¥HIT a1 RS gfte

(b)

(c)

(d)

125. Which is called as brain of any computer

system? off FHwEgeX <l

HET AT &2

(a) UPS/¥diTd (b) Monitor/AifeX
(c) ALU/TTY (d) CPU/HIdY

RRB NTPC 09.01.2021 (Shift-I) Stage Ist

Ans. (d) : g F FX F 9k w1 €1 2, Flh
g HFHLT F YA A A 1 T UEE, HEHHEE

o FET ST 21 TR BN HEL h AW HER 3R
FET & gt HE W g 2
126.

Which of the following are the two components
of the CPU of a computer ? T &

[ QY 9T wmrere didig @ e § 2

(a) ALU and Bus/Tuerqg 3R 79

(b) Control unit and ALU/EFQF[ Hﬁ? 3R T

(¢) Control unit and Bus/id gfie 3 a9

(d) Registers and Main memory

T T
RRB NTPC 03.04.2021 (Shift-I) Stage Ist

Ans. (b) : @ WERHT IfAe (CPU) 3toan ‘Teat TR’

THR % AFEE ST @ qRereH & 2 (Rred
ST/ Afhe MU, o, B 3efE) ST HFR

% Fd el & 2 # &g gfe (CU) 3
aﬁﬁﬁmﬁmgﬁzm%%

127. fAeAfafEd @ ¥ @A 91 &9 9ol WE
e (CPU) o Hewl | wed 7 37
(a) Heidt e CPU &1 U feem @
(b) CPU S8 o foceii & fsaifed ahem 2
(¢c) CPU ! HEHEE % & § 9 S el 8
(d) F¥A CPU & FR & &

UPPCL TG-II 27-03-2021 (Shift-IT)
UPPCL TG-II (20-03-2021) (Shift-IT)

Ans. (d) : mg g HR WS CPU &
fear 2T 2 afs FHWET e i BN S 2
128. What kind of operations can a computer carry
out?/HTEE foh TE & f T HEhdT §7
(a) Arthmatical and logical/3eOTda 3 difeheh
(b) Verbal and logical/Hifiae 3 difeheh
(c) logical and cognitive/difdhes S HFHTHE
(d) verbal and arithmetic/mifae T SFHTOTT
MPPCS (J) 2019 Shift-11
Ans. (a) : 3THIORIT TRIM, qfehes RIA q F=
R g Tl ot SHReE FPe g Y S 2
129. Whatis the fullform of CPU?/CPU & JUT &0 &1 &7
(a) Central Processing Unit/Sgd BIRIED] e
(b) Central Performance Unit/ﬁgﬁ WHHY {ﬁ?
(c) Common Performance Unit/HH WHRHY I
(d) Common Processing Unit/aa S&fHT Ifae
UPP Computer Operator 21-12-2018 (Batch-01)
Ans : (a) SO (I W IfR) g e
fodil oporan S @ weeRE (SRR S @ e
ST & SFTER TERT & 9% SeqE F &9 # Relee
et B 2
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130. CPU is also called .
CPU &I +ff @haT ST 7
(a) semi-processor/ﬂﬁ—‘ﬁ@'ﬂ?
(b) miniprocessor/ TR
(c) microprocessor/tlﬁm'{
(d) multi-processor/TTel-TEHT
UPPCL TG-2 3/11/2023 (Shift-1I)
Ans. (¢ ) : 9 F3et F1 ARTS 21 39 AEHEE oF
el ST &, f7gH 3qe &1 99Y B, 821 ©R FH 3
TIeYe IRV % T sTavas @l wfhe wive @ €
g AR el S & e S qre @ @ S
3T Fad & fF 5 22T & NHE FE 7 iR FY wEy
BT 21 Wil sosh et % YEei i ageR S 2
131. The CPU is called the:/CPU ThT aR=IT hgl STdT &7
(a) lung of the computer/HFZET FHT HEST
(b) brain of the computer/HFZET I feHNT
(c) heart of the computer/@eT & faeT
(d) backbone of the computer/&@eX &l {7
RRB NTPC 02.03.2021 (Shift-II) Stage Ist
Ans. (b) : CPU (F=c1 TIARAT () 1 hsird T a1
irca b o B i L T e 3 o M
feaor 9 gqe/emeeye uem & frafm # g,
FHfIT 8 HERT H feAmT Fel ST 2|

132. If you want to improve the performance of
your PC, you need to upgrade

gfe M PC St HRIEIHAT ohl Sga? AT
e € A suent frmfoarfiad s erde @ aem
(a) CPU/HINR
(b) Monitor/ATHIX
(©) Keyboard/af‘ﬁﬁﬁ?s‘c
(d) None of these/3T8 T HE Tl
(UPPCL TG-2 26.06.2016)
Ans : (a) PC 1 FrEmdr & S8 HH & ¢ CPU
(Central processing Unit) &I 3TWIE AT =Y, FAIfH
CPU il FPegex 1 g 9T 3 & foredt eff mormd
gt €1 CPU S @ & &M &Um PC &l shreleme
ST & 3Tt gt
133. Fd9= H CPU §N Twirfgd g 3R <<,
e § ¥ 9 =R W @72
(a) TEAG TRy (Primary Memory)
(b) HREh TRy (Auxiliary Memory)
(c) T A (Secondary Memory)
(d) Tfas bl (Tertiary Memory)
UPPCL (TG-II) 24-01-2019 (Morning)
Ans : (a) TUS AU A gET TG &k &9 F Ff S
S &1 T HAR ST I SR B § G B 21 T8
ey Wiy § T B 21 g W sTSRoT e it )
134. Which of the following is a component of
Central Processing Unit?
[ ¥ & W e wRriT gt
(Central Processing Unit) <hT Teh ®Zch g?
(a) Memory/ﬁﬁﬂ (b) Mouse/dH3H
(c) Monitor/Rif4eX (d) Keyboard/®ae
RRB NTPC 25.01.2021 (Shift-IT) Stage Ist

Ans. (a) : T T TERAT I (Central Processing
Unit) 1 T 52 2| FART & &1 2 8, et STahrdt
FI AR @

CPU & H¥2e3 FI A Fal S ¢ CPU & 5N HFEX
#r Al SR fearwdl &1 deia fHar S g

135. Which of the following provides internal
stora§ to the CPU?

e d @ ==t didig. & sriaie deno
TS LT &7

(a) Register (b) Register and RAM
(c) RAM (d) Hard disk

UPPCL (Office Assistant IIT) 23-09-2018

Ans : (a) CPU ¥ 3=d RIS & [T T 31 &,
T 22T WR T & T DT ghE el 2|

136. The four basic tasks performed by CPU are
Fetch, ............ , Manipulate and Output:
CPU srT =Y

HAI: U AT, FHIA-UREAT TS
TS (TRUTH) WS T -
(a) Design/Saheqdl (b) Decode/TT HEAT
(c) Display/Fl—c{Q‘f:f (d) Regulateﬁﬂﬁg
(UPPCL TG2 11-11-2016)
Ans : (b) CPU 3N TUIfeT 6 S a1t IR $1d AT

B 2

137. Switching the CPU to another process requires
performing a state save of the current process
and a state restore of a different process. This
task is known as:/CPU Rl

FEA o fTT aduT wiskam st fearfe =t s
3T Teh 7T wfehan st feafa s sger W it
STTAITHAT Eidl §1 TH HTH ekl T AT B
(a) process switch/SHg fa=m
(b) task switch/&E T
(c) context switch/ged fa
(d) status switch/Red ==
NVS PGT 19.09.2019 (Shift-I)

Ans. (¢) : T Hi2ae g9 T AHAT a1 98 (thread) H
fofy &I Gudla S & Far & a9 @ a5
Tk AN a # e § fawes e S 9 W@ &
fhansii 1 U Feof WHREHT I (CPU) HEm i i
Il 2 2 3R I8 U Wedleah Wi Rrey &

T fErd e 21

138. =1 H € &9 91 & (Rl el & CPU BT
fereofera et fepa <traT &2
(a) foder @
(b) Fdwr =
(c) ST F W &Y ¥ G HET
(d) ST THEROT/ S
UPSSSC -8 g - 31-05-2019

Ans : (b) fFdl FTEX & CPU N famfafad mf &t
fomaifed fopan Sm @, S19- €T & @Rl ®Y THET S,

EEN IS AT, ST THERT HLAT|
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139. fr=ifera & | fore® CPU Wiomw &t foyeofed

T Hehdl &7
(a) THaef s (b) Gichfereh W #
(c) A (d) feamerd &

(R.R.B Bhuvaneshwar (L.P.)-2012)
Ans : (d) I § YA TRI, TSN a1 gRomE &
fgamerd an fae & fefu a1 =R e s 21
140. TrAfeREd & | i ST ol 39 |EAT hl S9Tar
T o foew ufy g @ua o & o qew
Frar €2
(a) 5@ (4-92)
(b) @E
(c) 9
(d) EE < & g (Redi=g 21w)
UPPCL TG-II 20-03-2021 (Shift-I)
Ans. (a) : - 99T 8 {6 U Reeq g &1 o@fy &
fehe SISt Bt T T HEIRA (Measure) FX Gl 21
T8 a0 Yebe /0O SR I T i Heffd HT Febar &,
Afeh AR W 3T Jfe YHve § wraT S 2
141. 39S, IMSeUS, WHHT AN WRA & Wik
= fora give o Tea ¥ foran St € 3@ o
T WAl 872
(a) RS @i g (b) IRCIE I
(c) wheld e (d) =R e
UPPCL Office Assistant Account 28-8-2018
Ans : (c) I Ife AR H 9fkar T i B 2
d2ie g AN sIYe fearEw 1 S @@ 4 o g,
SGH TR AT § P9 <o & sH ey dore
e & FO 8, Here ghe ol Reew i w7 someh
ffem e 21
142, covvninnnnns port is used to connect digital
camcorders, external hard drives and other
devices that can benefit from the high transfer

rates. It can also be used to connect two
computers to transfer files.

FHHISH, T TS A
qAT 3T giewal W &P SO AT T4 W
T & Wehdl €, T AR & o e
TIZEl el EEATANUT shiet g +ft wgeh e &1
(a) Serial/goft (b) Parallel/FHHIaR
(¢) Infrared/3=hRS (d) FireWire/®TR-amR

H.C. Ald. (ARO) Exam-2016

Ans : (a) USB Ifadd Hiftaa a9, HFey & &,

fiie, ﬁmwa@gﬁaaﬁ@ﬁ%mwgﬁﬁww%

T A F H A B IeAad A H HEA

FEARoT 39 o Y I 2

143. Indentify the correct order of the stages of a

data processing cycle
u!;@ﬁﬂ Ik o SO o WEl o hl UgelTH—

(a) Input stage-> Output stage-> Processing
stage -> Storage stage

(b) Input stage -> Processing stage-> Storage
stage-> Output stage

(c) Processing stage -> Input stage-> Output
stage-> Storage stage

(d) Input stage-> Processing stage -> Output
stage -> Storage stage
UPPCL Office Assistant Account 28-8-2018

Ans : (d) fFeft e # o1 Wi wrfra & =
TS 8 2-

Input stage-> Processing stage -> Output stage ->
Storage stage

144. Which of the following components of CPU
responsible to direct the system to execute
instructions?

frrafafaa @ @ CPU &1 si9-T1 ueeh R
w e & qun iR A & fag
e 87
(a) Arithmetic and Logic Unit (ALU)
sfAfes o difsts gfie (ALU)
(b) Control Unit (CU)/&=2Id I (CU)
(c) Registers/T¥TE=T
(d) Random Access Memory (RAM)/
rgq TG A (RAM)
(RRB JE (Shift-I), 27.08.2015)
Ans : (b) FEei &1 fremfeq 0 o frew &t @
FH & foau @ d7, & Hera gHe B IwE A 21
145. CPU &1 9 9T o fdhedt o ger & 3iv
N GUST WA Rl G0 A A e e
& T oY e foew @t e & &
ot farera GeRa =T Wt ot ®, 39 foRw Am
H AT AT §7
(a) 2T Ffe
(b) TReAfes 3R dfwa afe
(c) T
(d) I FE
[UPSSSC Computer Oprator 10/01/2020]
Ans. (a) : CPU & &2 g (CU) § Fihed 8t 2|
ST HoEia W fadel # QU S & e a9 @ FEgeR
fie &1 fERT o & fou forga dehal &1 3TN T
1@ & g e e # i T afes Frge #
3 Al frder 3 B

146. What are the three components of CPU in a
computer?

&HEEX ¥ g (CPU) & o9 o2&
a2
(a) Monitor, ALU, Memory/Hif-ieX, TUer, HHI
(b) Contral Unit, ALU, Memory
Fer e, T, FE

(©) Monltor Memory, contral unit
s, EE0. A A
(d) Contral Unit, ALU, Keyboard
Herd e, TTeY, HEE
RRB NTPC 21.01.2021 (Shift-IT) Stage Ist

Computer an Introduction

28

YCT



Ans. (b) : CPU — (Central Processing Unit) H HEFZT

1 AW Far S ¥ de o THR F ST v

R FT @ 1 221, FeAadi gRemy i fder @

Taled A &1 AE B H W AW % G B

foefa sar 21 @dg % @9 sed €9 € - (Control

Unit, ALU - Arithmetic Logic Unit, Memory Or

Storage Unit) |

i. ALU-3% S, 92, T iR 9T §fed 9ol smioria
T & €1 F S b Sreer S S 2

ii. Control Unit—- a8 ALU ¥ fy&e ara aRomdi &
fosifea a1 dada & & fo fien 2

iii. Memory Or Storage Unit— 78 &% a1 321 % fow
ST USRI &7 2|

147. What are the components of a CPU in a

computer?
Falt HEHT U Hdg & ek S | o &7
(a) Input, output and processing
§YS, SYS qd '
(b) Control unit, primary and secondary memory

Fera afve, mafte qun fides A

(c) Control unit, arithmetic logic unit and register
held ge, SIHTTE e e T
(d) None option is correct/®Ts fohea T&l F&f 21
SSC JE Civil - 24/01/2018 (Shift-11)
Ans. (¢) : CPU (Central Processing Unit) EAREC2)
9 &, TE B b , @ e
%a@ﬁm@a@ﬁ%sﬁaﬁﬁaﬁﬁ(ﬁwig
IRum 3@ 81 CPU F T 9es & (1) ALU-3H1R=
e 3¢ (2) Hee e (3) I e
148. What is also known as Brain of computer?
F | ford shwrex o1 aftasw oft et STar €2
(a) CPU/HR (b) Monitor/AifAeX
(c) Mouse/H3H (d) Keyboard/?ﬁﬁﬁ?f
UPASI 05.12.2021 Shift-I
RRB NTPC 28.12.2020 (Shift-I) Stage Ist
(SSC 10+2 CHSL 11.01.17, 1.15 pm)
RRB NTPC, (Shift -1) Online, 16.04.2016
(SBI 2009, IBPS Clerk 2011)
R.R.B U=t (Asst. Driv.) TH&T, 2003

Ans. (¢) : CPU & Uf &9 (T2 TR ) B %,
F % ®7 § S S &l CPU T&
Th1E 2, S BT o el SIHTY FHEHIT HLdl 21

150. Which of the following is known as the brain of
[FERTaT § @ e e o

the computer? hEeY
s & ®0 #§ ST AT 82

(a) ALU (b) CPU

(c) ROM (d) RAM

SSC JE Mechanical — 23/03/2021 (Shift-IT)
Ans. (b) : ﬁ?:?{:wﬁm e mt?%zﬁéﬁ?; ARemfee
NISENN! , USTEET AT eheldd | 33]:%\3{ LS
aﬁﬁw?ﬁﬁ;%, T . ff. 7, R AT B T FE FH
ofash Fed €1 SRgAlE dits gHe (ALU) &1 SE
YA SHHTOT A T (S, FeH, o T )
TN F foThel B FeaTfee e 21
g.?i, g, mg%a@mﬁm%ﬁﬁ@w%w

T B |

151. Tk WIEhIAAE ht Tgl Tgiad | |Gl
STt 21
(a) fe (b) MIPS
(c) S (d) TEHE

UPPCL Office Assistant I1I 24-10-2018 (Evening)
Ans : (¢) ?ﬁ.tﬁ% H THR 97 F ff FA1 @R
Fdie wiie omus GLd, g ufg Seve femfed =wi
g # A 2, 38 W &S (GHz) a1 B e
(MHz) ® H79T ST 21
152. The speed of a CPU can measured in

CPU &t Tife =t TTUT ST ThaTl &2
(a) Megahertz (MHz)/Hges (MHz)
(b) Bits per second(Bps)/ffed 3t Tshe (Bps)
(c) Lux/dH (Lux)
(d) Horsepower/%vTquTal'( (Horsepower)
RRB NTPC 15.03.2021 (Shift-II) Stage Ist

S.S.C. Hgh TR Aehvsd (10 + 2) Wt udhiam, 2012
Ans. (a) : F M TGS § A S &1 HEER
%mﬁmﬁmﬁﬁwﬁ%méﬁmﬁwwﬂm
S 71 AR TEW g R Y % R § 1w
Yhs F YUY oM @ A S A Tk g2 anft

153. Which of the following is not a valid unit to
Ans. (a) : CPU (Central Processing Unit) H DT T represent the speed of CPU?
HfeTsh el I ¢ 3 Twd NN, T MHW a1 fad ﬁmﬁw@aﬁ§ -|T 9T YT (ATeR) CPU
TR oft 31 S 8, T@ g Wiehe 8 S it e Y T gotar €1
S ATl Il @i fsaed et 81 CPU S %ﬁ% (a) Hertz (Hz)/@eS  (b) MIPS/firey
g 4w (Specified) ST, <iifors, elfdi 3R (c) MFLOPS/TAFRATS (d) Byte/sTES
Y/ BSYE. TaTeH T § I8 el HEH= S b (RRB SSE (Shift-I11), 01.09.2015)
T& A SR 3G/ MR e Hihe R faviy W S| |[Ans : (d) 9idig # UG @t A9 82, MIPS, MFLOPS
ftherg SRR e F T FH B 2 g | 1 ST @ el age AN 1 A 2
159. Which unit of the computer is considered as the [ 154. The CPU clock speed refers_to the number of:
brain of the computer?/sh¥2Y 2\ Hrdt, wdiew & G & AT &
i HIEET T HiAsh HHT ST ¥ (a) CPUs it can have/ §1.41.7, 21 T 2|
(a) Memory unit/Farr gfte (b) RAMs it can have/ 39 & Hehel 21
(b) Output unit/3SYL JfE (c) clocks it can have/ Fiish & Tehdl 2|
(c) CPU/W (d) Number of cycles CPU executes  per
(d) Il’lpllt unit/s:ri?f {ﬁz second/ Ef?f q&7 ﬁd}i
SSC CHSL 18/03/2020 (Shift-IIT) AT S €
MPPCS (J) 2017 UPPCL AC 2020 (Exam Date 13.09.2021)
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Ans. (d) : CPU &t Tifd  clock speed % ® H ST
I ], Fiish wiig I = 9 GHUE (cycle per second)
# AT S @ adr S Yehve 1 Weh, | g & ®9 §
ST S & S | T g # 1 oRa 9 g e
#d: 3.2 GHZ (Gigahertz) Fiish Tfg arell T .17,
e ebve 3.2 fafera =k e e 21
155. Tordt HHTersh BRI Wit Wehg sl AT Hehel aTett
wieramstt =t W o frerttor feraer grr feram

WA €7 39 WSS (MHz) 1 frmeest (GHz)
ff = TeRan et 21
(a) Filsh T (b) gy
(c) 3mgfa (d) AT (FLOPS)

[UPSSSC Computer Oprator 10/01/2020]
Ans. (a) : Fi6 offs fFf TR g 97 gHvs H H
aﬁmmﬁﬁmwﬁaﬁwélsﬁmﬁ
(MHz) 3 "fmeest (GHz) & =% fehan <imar 21
156. &9 RIS ohl Tl ol WIZEhIHHE W HTh Hhid

F Prafafias & @ @9 Tw AEHNGS &
TR &7

(a) 10 TS (b) 10 T

(c) 10°° Tahs (d) 107 T

UPPCL TG-II 20-03-2021 (Shift-I)
‘Ans.(c):1 EHHHE = 1 x 10° The ‘
157. MFLOPS &1 &7
(a) 39T ITAN CPU =& ffy &t A & forg
fea st 21
(b) m@WCPU&ﬁWﬁTaﬁ\TW%WW
Sl & |
(c) 7® TH Hfe T (FAI ) 2
(d) 3T 3T Wi Tga T (A T 2TEH)
&I A9 & forg W ST 21
UPPCL TG-II 19-03-2021 (Shift-I)
Ans. (b) : MFLOPS, Million Floating Point Operation
PerSecondaﬁTﬂJ@FﬁW%lq@ WS TUAT A
F foIw ST T W AT dEgel # M oA 2l
319fq 9 ITNT CPU (Jga TfdT gfe) # 7ifq Ama=
% foT fopar ST 1 WO SRR § €Y a1 SEE
1 Tfd MIPS (Million of Instruction Per Second) H AT
S 21 W FFEEX # A FLOPS (Floating Point
Operation Per Second) & @Tdt STt 21
158. TS yIeaTaet § MIPS &1 379 o1 87
(a) WIS 399 ©RS (Marginal Input Storage)
(b) fafePA  sEavm W ¥HvE  (Million
Instruction Per Second)
(c) wmEshl TR we
Information Processmg Storage)
(d) I gEe Wi (Memory Image
Processing State)
RRB NTPC, (Shift -2) Online, 18.04.2016

(Micro

(a) a4 (ii) (b) e (i)
(c) T ()3 T (Gi) (d) (i) 3R (i) 2
UPPCL TG-II 19-03-2021 (Shift-II)

Ans. (b) : Processing Speed-Flops

Name Unit Value
Kilo FLOPS KFLOPS 10°
Mega FLOPS MFLOPS 10°
giga FLOPS GFLOPS 10°
tera FLOPS TFLOPS 10"
peta FLOPS PFLOPS 10°
exa FLOPS EFLOPS 10™
zetta FLOPS ZFLOPS 107
yotta FLOPS YFLOPS 10*
I WY & 6 Fo (i) T &I

160. ARG @l MHR o AR ARG A T
i il
TELOPS, MFLOPS, GFLOPS
(a) MFLOPS, GFLOPS, TFLOPS
(b) TFLOPS, MFLOPS, GFLOPS
(c) MFLOPS, TFLOPS, GFLOPS
(d) GFLOPS, TFLOPS, MFLOPS
UPPCL TG-II 20-03-2021 (Shift-1)

Ans. (a) : FLOPS, (w‘rférn WEe HRIH I Yhve)
SRS T A & faT IyEm feu Se 9
FrEd & T AT 2
Unit Name Value
KFLOPS KiloFLOPS 10° FLOPS
MFLOPS mega FLOPS | 10° FLOPS
GFLOPS giga FLOPS 10’ FLOPS
TFLOPS teraFLOPS 10™ FLOPS
PFLOPS petaFLOPS 10" FLOPS
EFLOPS exaFLOPS 10" FLOPS
ZFLOPS zettaFLOPS 10°T FLOPS
YFLOPS yottaFLOPS 10** FLOPS
a1 MFLOPS — GFLOPS — TFLOPS Ts 31R@l %A
(I %) | 21

frefatea ¥ 9 9 ST &1 T 9nT 7@ 87
() WA () TRefs Al g

(c) g g (d) ¥ IR
UPPCL Office Assistant Account 28-8-2018

161.

(d)@ﬁ&mmﬁﬁﬁw%%w%
B 21 WG, & FE a0 e B
@?@ﬁiﬁﬂ{ﬁz, ez @ AfE, A A

S| &fh TTIE e TR F I B 2

| Ans : (b) IWT ¥ I SRS 3|

Treafeiad § | T Q7" dd 97 /87
(i) GFLOPS, TFLOPS ¥ BIeT & 81
(ii) MFLOPS, GFLOPS ¥ &gT iaT g1

159.

162. CPU (¥Hidt.g ) T YUl &Y &1 &7
(a) Common Processing Unit
(S TR gfe)
Control Processing Unit (hgie STEfdT gfte)
Connecting Processing Unit
(FHfrT g gfie)
Central Processing Unit (ﬁ'{?{ TrEfET {ﬁ?)
UPPCL APS 27-09-2018 (Evening)
RRB NTPC, (Shift -1) Online, 04.04.2016
Uttarakhand Lower (Pre) 2011

(b)
(©)

(d)
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Ans : (d) CPU & YUl &9 H=l THET I (Central
Processing Unit) HFL T % Wl R @
TG B 2

163. HIET § ¥ i A1 Teh UEAC hPIST

(Personal computer) ® PRI ShaT &7
(a) CPU (b) Motherboard
(c) RAM (d) BIOS
RRB NTPC, (Shift -3) Online, 29.03.2016
(a) 3T T N AT 3G |
7 7 ¥ &F 99, 37UE 31N AM32YS (Sasad &l
fraf=a &t %7/Wh1ch of the following control
memory input and output devices?
(a) H.9.F/C.P.U. (b) TTAF/A.LU.
(c) @3/C.U. (d) FERY Memory
(UPSSSC JE-2016)
(2) ITIH T H AR W | \
ALU 3™ dR W Hahrar (operands) 3T
TRUTHT & ©R & & 0 U 9w
(accumulator) T STAT &IaT g1 Freafead #
¥ HI-1 faehew Homges o GEl aui oar &7
(a) Tor (b) o F
(c) SR I (G REGIEERLIE
UPPCL Executive Ass1stant 30-11-2022 Shift-1
Ans. (a) : ALU & QU AW 31dfufled aifos IHe
(Arithmetic Logic Unit) Bl 21 TE SAHAR W Gehrdf
(Operands) 37 qRUTEl & @T W % fou s TEEs
(accumulator) T SN HLAT B
Iﬁﬂ?{(R 1ster)@3§!ﬁﬁwﬁﬁﬁém
BR & % fog e st 21
Whlch of the following CPU registers contains the

address of the next instruction to_be executed?/
f&| CcpPU

T AT T SEEIH T TSH BT 82

(a) Accumulator,

(b) Memory address reglster/ﬁ'lﬁ'& Q@FI I?’EI

| Ans :
164.

‘Ans
165.

166.

168. =1 ¥ | &= BIOS &t JftreRt &1 Fuie wtem &7
(a) e, STAABRAT 99 F TEAHIHI & g
# gEeR! FAN B 2
(b) T8 TH WM & S ROM ¥ frsqifeq ger @ s
FFR A T 2 |
(c) SRI & A%E ®1 ¥ fefa s+ & fou
TEH FA A 2
(d) TieEd F-a1Ra fearsdl & fw 78 w& steaa
AR feq 21
[UPSSSC Lower Mains 21/10/2021 Paper-I]
Ans. (b) : BIOS & dfffed 9™ Basic Input Output
System 1 7€ UH AW & St ROM ¥ a9 fasuifea e
21 S HrET i =] fhar S )
169. Which of the following devices is used for

applications like computer Aided Design
(CAD)? EQ)
HEeY TS &9 (CAD) 9@ Twfiehet &
ot femarm wmam €2
(a) Speaker/SdTahT (b) Pantograph/aaﬁrq;
() Scanner/EhT (d) Platter/wiieX
RRB NTPC 11.03.2021 (Shift-II) Stage Ist
Ans. (d) : @R fie &t W@ RS I AN T
aeeye feary § 9 TG 98 FTW W 3= TUrE
el @1 o 9 W% W@ H H A A S 21 gHH
I Y geifyaftT,  amgfas,  wew femfor,
fadenf=, At a9 &8 (CAD), +8 (CAM) 3nf #
fepar e 21
170. fA=fIRad W § &= 1 fasked CPU & 9q&
HEeh! oAl gUTTdT &7
(a) CU,ROM, I™ET (b) ALU, CU, RAM
(¢) ALU, CU, /= (d) &€ fg&h, ALU, CU
UPPCL TG-1II 25-01-2019 (Evening)

(¢) Memory buffer re ister/AAR TH [TET
(d) Program counter/ CARERY
NVS Ju. Sect. Asst. 09.03.2022 (Shift-1I)
: YW HRX (PC) =T 8 S 3
aret fader & a9 @H F YelE BT B
T FER H TERE HE, TERME UL, TR
T2Y TR A G TR F &9 F A T S 2
167. From the following options, identify the name of
the user interface element that is found on
desktops as a small blinking symbol or an
arrow. fererear , S TS

el & Tga &, S B f?rrl%rrr?r Weites AT
TH AR EF BTN Tl W A Brar %l
(a) Shortcut/MEHe (b) Task-bar/eTh-a
(c) Icons/3TEehiA (d) Cursor/&HdX
RRB NTPC 03.02.2021 (Shlft-II) Stage Ist
Ans. (d) : sw»e.lq T HI9E IdHId‘-ﬂd R & &9

Ans. (d)
IRESIIES]

# 7af¥id IoR ety Eh”{k(cursor)"q')%TvaR"‘lT%l
FH TH 9 Hohddb @il FY

T e oft %maﬁmmaﬁsﬁﬁwﬁ%m
fran S 21 A W e i o gee 9 a1 e

Bk a1 G ey @ el ¥ FHW FH Y
m%ﬂ%wéwmw%

(c) ALU, CU, I CPU % 9@ 2% 2 ALU
mﬁrﬁuwmﬁ@mm% drg, @dg F af
qrit & HEAt & ERT Har @ dur ToReT 2 Saf
FeE F AT B T & AU 21 T BIeS @ 2|

171.

The three main parts of the processor are:
o T T 9T §-
(a) ALU, Control Unit and Registers/ ALU,
Control Unit Td Registers
(b) ALU, Control Unit and RAM/ ALU, Control
Unit T8 RAM
(c) Cache, Control Unit and Registers/ Cache,
Control Unit Td Registers
(d) Control Unit, Registers and RAM/ Control
Unit, Registers T4 RAM
Allahabad High Court (RO) 11/12/2022 (Shift-II)
Ans. (a) : : TR & A H&T 91T ALU (Arithmetic logic
Unit), #2Ia0 e it Tt 30 &1 e Fmget &1
I e SRl g fearsy g 8 f¥ CPU
(Central Processing Unit) <hgl SIIdl 21 CPU &I HEFZT
1 Afass off Fe1 S 21 a8 FrgX & qeft st B
foreifya, fdfam qen wafaa e 2
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172. Which of the following is not a component of
Central Processing Unit (CPU)?
frafafas @ ¥ @F-w dea nafi gfte
(CPU) T 9T &1 8—
(a) Arithmetic and Logic Unit (ALU)
sefafess ds o (ALU)
(b) Control Unit (CU)/&eid e (CU)
(c) Registers/Afred
(d) Random Access Memory (RAM)
: U (RAM)
(RRB SSE (Shift-1), 26.08.2015)

Ans : (d) 31Hfes woE AifS (ALU), &erd g+
(CU) 3 Weed CPU & mg—{%’, et o0 TR
T (RAM), B9 &1 91 21
173. HFRIE HHY® & HaH H, ALU T JUT @&&g

w827

(a) TRymfes wifos e

(b) W it e

(c) TAHIH TR IfFe

(d) TARTH TR Faifaferdt

[UPSSSC Computer Oprator 10/01/2020

Ans. (a) : ALU, ofifc cifois ge &1 9Rid &9 §
TGH SHIMOTAE qAT dAMMhes T HLH & oI
fham ST 21 ALU # S 89 o Refeew & 36
Ife § LR B S 2
174. Accumulator is an integral component of
T Teh ueHh &—

(b) Hard Disk/2Te ek
(c) RAM/H
(d) Cache memory/%?‘[ LI
(RRB SSE (Shift-111), 03.09.2015)
Ans : (a) THHAX Fﬁ.tﬁ.?{ (Central Processing Unit)
1 TS GHH T & |
175. Teh HIUTY o o= WHT &I 8¢
(a) Ferd e, fom grea, R
(b) e, elet g, HE
(c) wuey, A, fog
(d) fm, fewr ga, G
UPPCL APS 27-%);—2%0!\8 (Evening)
Ans : (b) DL HI | [STEhI :
A= % T $é| ALU, CU, Meﬁj
TUA.Y, T R B 8, FEE g ST @ 'R A
R 79 Foiel gfe @R & Wl FE 1 fEhE a R
176. TR | 4T BT fi@A aht TehdT-
(a) MR FI Teelt idawgo firer &t 21
(b) TAHH Fidasg &I T T FA
(c) o afl e 8 S WL T &
(d) sae qoff d9g § 59 R guEs @ oA
ST W

S.S.C. Ug=h TR Garuedt (10 + 2) il wdiem, 2012
Ans : (a) CPU ¥ "R T 3T ©H 8 ol 99 &
Ty fdl ot e F ST (Address, Instruction) I 418
qug % fIU @Al § a9 T4 e W & I we e
& T 2 B

177. Which of the following is an integral
component of CPU?/ﬁrEﬁ%TﬁEH T a %ﬁ?
Tt w1 Wem ST 3T 2
(a) Hard Disk/g€ f&&  (b) RAM/HH
(c) NIC (d) Registers/Tored

(RRB SSE Secug:lrabad (S%Igglgiﬁ.zog

Ans : (d) To=d HEeaqul

aﬁﬁésﬁaﬁawm@mamﬁ% I ey,

S gEfE®h, RAM 3t NIC €idig & it oi & 21

178. Program counter (PC) register is an integral

part of : <hl3T Teh
o
(a) Hard Disk/g€ fe=h &1
(b) RAM/HH &
(c) Cache memory/a\v—ST qu
(d) CPU/HIGR &
(RRB SSE (Shift-IT), 03.09.2015)

Ans : (d) TIW FREeX (dh, il & Iuftem T W

g, fud 90 ¥ eiege 39 9 o eaE %

Y Wi B £

179. Keyboard, monitor and cabinet are components
of : , & U &

(a) Storage unit/ R {ﬁ?
(b) Computer software/FET HHdaR
(¢) Computer hardware/&@eY FEaX
(d) Control unit /3gTa IfFe
RRB NTPC 29.01.2021 (Shift-II) Stage Ist

Ans. (¢) : FieE, THRT IR o= Ffere, HEgs

FEAR & T &1 HI FEdN FEA H difds 9

g 2, for 39 fefiea ofdie o @ )

180. Which of the following memories is directly
accessible by the CPU? T fea
T § CPU @t Wieft uger (wew) Bt §2
(a) RAM/H
(b) Hard Disk/3TE fe&

(c) Magnetic Tape/THfe 29
(d) DVD/EHEET
(RRB SSE (Shift-I), 28.08.2015)

Ans : (a) C.P.U. &I 90U A™ Central Processing Unit 21
T YW A MEHEEER f Fed §1 T8 UH goleiih
W%ﬁDamHﬁWﬁW@IProcessW

21 W # CP.U. # Pt wga A 2

181. Which of the following components of CPU
temporarily stores data for ALU operations?
1 T ST |1 9T WU
feren faftr & SR swes ®W W 3tihgl W
HUEUT HTAT §—
(a) Arithmetic and Logic Unit (ALU)
TR o g (T T 9)
(b) Control Unit (CU)/&2Ia I (CU)
(c) Registers/AT
(d) Random Access Memory (RAM)
lueq T A

(RRB JE (Shift-IT), 26.08.2015)
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Ans : (c) G0 % 3R HAT H TUAF G BT S &,
S Te TR ¥ 2T TS F &1 TLTAY BeYE e
i oRum # ©R G 21 S e 39 TR, 1Ay,
3R HA % A 22T H WFERT B B

182. Which of the following options does the CPU
memory include?mﬁ%ﬁ T o |ar

fererew CPU T W wmiferer &7
(a) Secondary Memory/ﬁ%@ﬂ ey

(b) Only Scratch Pad Memory
Had Ghe de A9

Scratch Pad Memory and Cache Memory

ha I TER 3R e AE

(d) Only Cache Memory/%?f ER IR

UPP Computer Operator 21-12-2018 (Batch-01)
Ans : (c) Gha U AW R Sy @9 &4 CPU "
¥ wifret 214 81 Thads A (SPM) TS 3=9 Tfd &
e AU @ Frgesr STAm Mo, B2 o 3 i %
I qUgRUT % forw fha s 21
183.

(©)

Program Counter (PC) register stores the :
H13UeX (dil) TRIET R i §—

Address of the first memory block
g HAR scfeh b el
Address of the last memory block
Afeem AU setfeh BT el
Address of the next instruction to be executed
fsafe & are STTet ST T ua
Size of the primary memory
T TN H SER

(RRB SSE (Shift-I), 03.09.2015)
Ans : (c) TIW FREX, FF W § TH R g
g, ol adae w9 § Froofed 89 e Frew & wgw
(TI) e B 8, S el & Nwm # enra fadw
%1 Tl S 8 |
184.

(a)
(b)
(c)
(d)

"For computer, world consists of zeros and
ones only. To store the zeros and ones,........... is
placed inside a processor:

HIET i I R ws W fafda §1 =

I 3R U W AR w & AT A %

2 - A AT ST §)

(a) T/O device/Tf® 1/O

(b) Instruction set/Frder e

(c) Transistor/ZifTEX

(d) Main Memory/q&a fa

(UPPCL TG2 11-11-2016)

Ans : (¢) FH F T TOR ¥ 3R w& ¥ & fAffa
21 37 I A TH H WA A F AT processor &
3T ZIITEX TR ST @1 FPge § gt A 0 37
1 % "z § & qof & Sl 2

Ans : (b) T ©E MM LR & MER | FHM
FA 21 AR ¥ wES T A fR A W #
et § sl dR W R fpar S @)1 didig e
§ fom FEE % SR @ Tl SRRM % fu
SR T Aifeheh braaT@al e 8 |
186. Which part of the computer is called its brain?/
%?ﬁ:h‘!:r ST <ht SHhT HkeTeeh el WIaT &2
(a) ‘ROMAT (b) Hard Disc/aTe fet
(c) CPU/HIER (d) Monitor/AffHeX
RRB NTPC 28.12.2020 (Shift-I) Stage Ist
(Uttrakhand RO 2017)
Ans. (c) : CPU (Central Processing Unit) H ST Bl
ged o1 uass el Sl 21 a8 B o gl el &
foreifim, Frefim o wafeq s 81 ser @
T & F w1 off dfg & B 21 S9-swet &
I, T2 T el A1

187. UHE HHN ... & AR | HE HLA
(a) foom e e (b) 3NTEH (RAM)
(c) S (CPU) d) wea
OREEL
(IBPS 2014)

Ans : (c) 9 (CPU) Fv=eX faeeh &1 9o Hgeaqul ST
21 P fowen § i moEd, deeE, T qeres S
iy 3 A S 2 T ST e few & et
ey g U S aTet S 1 T U S B %
fore g & Rrer o @ 9 $ e 9§ - ALU,
cu, rﬁwwwﬁﬁﬂ%w%mm%l CPU #
T T SRR 3 A ¥
188. foefeiad § @ @i o GUEw gEE, @iy,
(CPU) AT 17T 3471 872
(a) |21 (CD)
(b) Fad THF T (ROM)
(c) TSI (Register)
(d) Te9 " AUl (RAM)
UPPCL TG-1I 27-03-2021 (Shift-II)
(SSC CGL (TIER-1) 09-09-2016, 4.15 pm)
Ans. (¢) : CPU ( Central Processing Unit)- @Zﬁ T
qﬁzﬁ@ﬁﬁwﬁw@awﬁaﬁwﬁﬁ@@é
FHRT TIHER 1 G B 21 U et # ush
@ﬁa@qmmﬁww@aﬁm%

o TR e, WA o e o 2

189. TISRIVIEER ST Sheel o1 Ak ol g, 39

(Ald. Bank PO 2011)

185. TRt @Peex W SigH, AT o 31 e o
Tl Wl B 87
(b) HdR for

(a) Hfd faa
(c) TGt 5% @ e fe=
S.S.C. weet et udierm, 2011

Ans : (a) T TEHNEWR 3 wehiag & Fad &, S FRt
T ARa B 8, W Tum RS &t 2 %
e =T ¥ a1 2 € Y Wt BRI e S 50
DB Hike (MEHMAT) T T B §1 A Foaw svem-srem
TR U9 R H 3Ty B 2
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190. wFFY ToT (Computer Chip) T TET AW
(b) HEEE
(d) HTEHETER
RRB NTPC, (Shift -2) Online, 28.03.2016
Ans : (a) X f9 (Computer Chip) & U AH
(Micro chip) 2
FrafeRaa § | o= Seu-Ta (eE-wWis ) gea-
HEUUESH (HTZTHITETT ) T Ueh ISR &7
(a) Ufeam (b) T W
(c) Hare (d) fiiex
UPPCL Office Assistant I1I 24-10-2018 (Evening)
Ans : (a) 9T & 3= 7 1993 H ST o1, UfeTm
W i vz 92T § forar e @ forgen srdf o @ 2
192. R, Uf=aw 3T T oA UTET § —
(a) H W (RAM) & (b) FIR AEHIT &
(c) PR MIR & (d) S aft &
RAS/RTS (Pre) G.S., 2013
Ans : (¢) HioRH, Uf=aW 3R $R HH HrEL TR F
TEY §1 HoRH T 20 FURTH g0 T T FHren
SIHER % T SIUS H A B
193. ST HAT ATAT HIShIVTEET -
High power micro processors are-
(a) ufeeaw, df~==™@ 3/ Pentium, Pentium pro
(b) Uf==® 11 III / Pentium II and 111
(c) U= II / Pentium II
(d) 378 ¥ T/ all of these
(UPSSSC JE-2016)
Ans : (d) U9 TH X86-HelfCae HEHIMEHR &, S
A W 1993 H W@ A Ufedw MHW wew R
YR ¥ FW a4 Dual-core i3, i5, i7 ¥ §e e @l
21 32 1 Ufcaq wighl sfhaR B 2aa AT qun
39 &JHAT arel Ufeam-a @ 1995 § a9k H A, 36k
g Ufaw 11 qor Uf=am 111 i FR § San|
194. 2T &N i9 Ueh WehTT <Rl gl
(a) TTamE (b) TR
OREEIE () zE o=
RRB NTPC 29.12.2020 (Shift-II) Stage Ist
Ans. (b) : 531 H {9 T YR H G 2| Th HEE
F T Iexd el &1 v 2, B o= % w9 # S
S 8, 3R 3Tk fwifa @@t 1 fwfea e 2109
CPU # Intel SEWEIET dobeiih 21 98 Jedh I &l a1
Te¥H FH & AU U WY A gSH F 9T e H
T ST 2
195. What is common between Snapdragon, Atom,
Tegra, Helio and Exynos?/Snapdragon, Atom,
Tegra, Helio Exynos W aRIT HUTAAT &7
(a) They are types of processors/é’ TR & JHR @
(b) They are names of apps/a T & A 2
(c) They are brands of storage devices/d WRS
feamss & e @
(d) They are brands of memories/d T & HS B
NVS PGT 19.09.2019 (Shift-I)

191.

Ans. (a) : Snapdragon, Atom, Tegra, Helio R Exynos
F TR 2|

TOGE- T T A 3\ T (soc)

Yefichgae YUl @ S Hiasel SURl ¥ S & Sl

2l WUSTH I FEHHE (Qualcomm) IeHIGTSN FRT

fese foram e 21

(a) @ (b) TS BRS
(c) sl WRe (d) fiiex
(e) W
(IBPS 2012)

T, e Td IR fEany & #rf @ ff dwia
FAT 21 I8 Rl 9 & a1 8 8, 9 W & wie
Hpe TR 50 BIR-BR Tihe s TT B 81 W
IO STET-3T6l YR TS 3R § 390 & |

197.

A microprocessor with 8-bit word length can
process............. bits data simultaneously.

8-Bit ITsg T ot Ueh

fore erer =it U WY WIEE Y WeheT

(a) 4 (b) 8

(c) 16 (d) 32

(RRB SSE (shift-II), 02.09.2015)

Ans : (b) 8-Bit I15% HIZhIshZ IR &l ST 98 oIEg 8 o
T 8, TH ARHEEW TF SR § R feg 96y
Hehell & IH IS A WS el Il 2|
198. Which among the following carries control

information between the CPU and other

devices within the computer?

WA e o ol W o 7 AR 3= SueRvunt
o eIl ToIAT Rl I& hidl &7
(a) Control Bus/Eh?ij 99
(b) UPS/A & 7§
(c) ROM/AM
(d) RAID/3TR T 3T
AHC RO 2019 (Exam date 10.01.2020)
Ans. (a) : 2T 99 FIEH 99 F TH 907 8, S B
%ﬁgcpuaﬁmwﬁ%mwaﬂw
HT 2|
199. fr=fafaa ® ¥ *=-A1 T Wivwe feasdq
(Peripheral device) &l &7
(b) TR
(d) Fane
RRB NTPC, (Shift -3) Online, 03.04.2016

RRB NTPC, (Shift -2) Online, 04.04.2016
RRB NTPC, (Shift -1) Online, 18.03.2016

Ans : (c) 9¥g ¥ 9@ &9 ¥ g At feawE &
T fEay Fed €, S9-fiey, AT, #-a1g, ey
A} el waR-ale, gefewh, dig F weayf 9 g
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200. How many output ports are there in peri heral
1/O?2/AfwTe 1\O | uﬁg
(a) 512
(c) 24

(b)264
(d) 256
RRB NTPC 07.01.2021 (Shift-I) Stage Ist
Ans. (d) : TR [EaTEE HPE &) Gedsh [SarEq el
2T Y a1 ARYE fear=y § S Hrge
1 Al &Far Se S 81 IR fEaEg % Iee
? 9- F A, umE, TEfes ok UREA e
AqReqe feam@ # 256 Wege W dW TS
TSI SR WEhihe i § GW: Yga AHS
TR IS # R 39 2
201. SgEwEEUES URfeafa | qgr
% UL ¥ Hohd-wW (WU ) TGN
ferarm STam 21
(a) WihaT qoodhled e (SE9  fHsAgseeE
Seet), B ST (IreafeiT)
(b) ¥y wt qEEem  @dg FEd
WWW) /el ey (Sgeis) @

(c) Hﬂ?ﬂﬁsﬂﬂmw, fsha qeaTer (FeY
[EETIESME)

(d) dfeT gwer, ﬂ%ﬁ‘{lﬁ STTHIT HHET bl HHTH
UPPCL ARO-15.09.2018

s @ (¢c) T HueA wRfefd § @idg wf
Jesed (dg. aad fimmmEseE) oe.el. Ty
(STTH) FT GHIEM &g TGN fhar el & |

202. HEET HTEMUT 3T ThEAT 3R 3
S-Sl Rl HWerdd AT § W anegioedt
fearfordwtt ht aRrrifearer =t 8
(a) e
(b) mrf-gela gEd (Afarem)

(c) Rer
(d) uR=re
UPPCL Office Assistant Account 28-8-2018

Ans : (d) FFR I 34 IR IHEAT 3R 396
Hael i gehfd w2 o awg fRrede fafdw @
HIFiET Bl B

203. A device that is connected to a computer but it
is NOT part of the core computer architecture
is known as

T T feaga S @et @ wAees odr §

AfRT W FEET Mfeheaer w1 9mT T ¥,

T HEATAT &7

(a) Processing Device/SafdT feargq

(b) Memory Device/5ar feargg

(c) Peripheral Device/URwa fearq

(d) On-board Device/3T-E fearzg

BSPHCL JE 2019 (Batch-01)

Ans: (c)%ﬁ%ﬁ@sﬁwﬁwﬁﬁéaﬁ%
R ey seamd 81 98- i, 9159, #i ai el

TRegmfes Aifeeh gfe
(Arithmetic Logic Unit)
204. What is the primary function of the ALU
(Arithmetic Logic Unit)?
ALU ( 3tefiifess iR If-e ) ot wrefire st
= 3?
(a) Managing input/output devices/gTd</3SIIE
fearsq =1 yeiee ST
(b) Monitoring memory usage/ﬁ"ﬁf[ ST
hIAT
(c) Performing calculation and logical operation/
RIRICI hIAT
(d) Storing data/ Vgl T HSRUT HTAT
(e) None of the above/3T® § | HIF el
UPSSSC Homeopathic Pharmacist 02.02.2025
Ans. (¢): ALU (31ufe @i Ze) Heged TEe H
T$ T TeS ¢ S S MW (9, S,
‘EIE'HT 0T, 9FT) SR e wfRAT (SW-AND, OR,
NOT) % #1 78 CPU % i 3 @ & S 221 SR
& T 77 &9 § R g 21
205. How many types of arithmetic operations does
the ALU of computer perform?
TR T WA (ALU) Tohaa Y & ik
AT YT §7
(a) 4
(c) 5

(b) 2

(d) 8
Allahabad High Court (RO) 05/01/2022
Ans. (a) : ALU (Arthmatic Logic Unit) ¥l =1 s
9T B 1 TRT AR FT adfas &™ ALU 3R & fHar
S 21 ALU STeT R Jod Sshiorda o S-S,
¥e@E, O, 9 (FA IR FER & AT FEIeH) Hod
T 2|
206. The section of the CPU that is responsible for

performing mathematical operations:

Hdtg, @ gg 9T S M SiReTd s e
o T STRerEf g @

(a) Memory/ﬁ‘ﬁﬂ

(b) Register Unit/IST gfe

(¢) Control Unit/&gie Ff¥e

(d) ALU/T.TA.T,

Allahabad High Court (CA) 18/12/2021 (Shift-IT)
Ans. (d) : 99 1 9 9 St e d@fead S s
% U STREE B 2, SH S 5% (ALU) el
S 81 ALU Th HPeX S & e g @ S
ST S @h G 1 G Hee 2
207.

Which part of computer is used for calculating
and comparing?/d3TUTR T -1 9T
A AR GO A & oI v e 82
(a) ALU/TUAY
(b) Control unit/s2TeT FHE
(¢) Disc unit/fS&® THS
(d) Modem/mieq
Allahabad High Court (ARO) 14/12/2021 (Shift-I)
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Ans. (a) : ALU (Arithmetic Logic Unit) 3R Control
Unit 197 & & Aeaqul sEae § e s srem-
TR §1 ALU ST T (ST, ST, O, )
#R AR AR (AND, OR, NOT, XOR) & &
s uReber dem o &1 @ fAfed @ar @1 Control
Unit R & ARRET fed g direa & el &
e R fafte Sy & f gl & et s )
208. ALU, &Y & CPU & H&H U< H | T ¢l
frefefiaa & & ALU =T quf ®0 o= 91 872
(a) Arithmetic Logic Unit/TReAfes aifors e
(b) Algorithmic Looping Unit/TeRaw wft afFe
(¢) Arithmetic Language Unit/iReRfes drast 3fte
(d) Algorithmic Logic Unit/TeiReH wifeie gfie
UPPCL Executive Assistant 28-11-2022 Shift-1
Ans. (a) : ALU &1 Ui &9 ‘srfafess @i e’
(Arithmetic Logic Unit) &1 g1 8 CPU & Th &I
YCF & SUH SYANT SR (Arithmetic) 3R dfsha
(logical) & &I & & forg fopar St 21
209. ALU is the part of/ALU f=feTiad &t ure g—
(a) CPU
(b) CU
(c) Memory/f\ftﬁ'ﬁ
(d) None of these/3TH T Hig Tl
(UPPCL TG2 Re-exam 16-10-2016)

Ans : (a)

F@va wrafe ﬁ‘{ ()

Hre '{ﬁ:{m.l

ALU, CU @@ 9918 9 CPU & 917 2 |

210. ALU stands for......... /ALU (TEAY) <ol T
F.cooro B
(a) Assembly Logic Unit/(THwGH afifers afe)
(b) Arithmetic Logical Array/(\?ﬂﬁﬂﬁ%% o W)
(¢) Arithmetic Logic Unit/(3Remfes aifors gfe)
(d) Arithmetic Logical Unit
(Remfes difsiwa gfe)
UPASI 05.12.2021 (Shift-IT)
UPSSSC Lower-2 (2015)
(SSC 10+2 CHSL 07.02.17, 10 am)
Ans. (c) : T (ALU) &1 U AW Arithmetic Logic Unit
(Remfes it gfie) 21 e ©h 99w fefied gfbe
g o s, e demel wosemied ot frears

¥ 9| — e

NI HT 21 T T T-9rEe (FPU) % fof %,
I AT WES TR W HM B 2|
211. HE H THET A & [T HIHA-91 T
qE&Id: STREE gt §7
(a) Yo T FA (b) erd g

(c) IRl @i gfe (d) = o
RRB NTPC, (Shift -2) Online, 28.03.2016
S.S.C. €gwh W (10+2) wdtat, 2014
S.S.C. RAITET g, 2014

Ans : (¢) ALU 37fq ‘egufes @fes gie’ @@,

F A0 S G TR @ifdhe A s 71

ALU 1 9R afie Reafes e T (add), Ta2a

(Subtract), HeI@E (Multiple) 3 f&arEs (Divide)

for fese foan smar 21

212. All the arithmetic and logical operations in a
computer are done by............

T wgel U |t siwvfurdie dem difeher
1501 [ S T e ST 2

(a) ALU/TTTY

(b) CU/ER

(c) Register/TST

(d) None option is correct./®1E fahed Tl & 21

UPSSSC ETO 19.01.2025
SSC JE Civil - 27/01/2018 (Shift-II)

Ans. (2) : ALU- HgHfeswh e df-e- e &
TIE 9N T S ST /A oA ¥ gt
Al B G He 2
213. Which among the following has capability to

execute computer's command?

Y R4 eI (command) D

feramaam fop erman fifera & & fermd &7

(a) Processor Socket/TEHR Hiche

(b) Main Memory/q&a fd

(¢) Arithmetic Logic Unit/3/7Td= ek SHhrs

(d) Cache Memory/av’QT TRy

(UPPCL TG2 11-11-2016)

Ans : (c) HFIX F fa T MW A command H
fopara =t emar sRemfes it afie & &t 21 Tt
Tt SR T 0T S R

214. From the following, where does the actual
instruction execute during data processing?

Fordfor et femafara gt §2
(a) Arithmetic logic unit/7Rfes e gfte
(b) information unit/ FTHHIA ?{ﬁ?f
(c) Storage unit/T=RS
(d) Output unit/3E<YE Jf
AHC ARO 2019 (Exam date 24.02.2019)
Ans. (a) : JURH @Al e (ALU) 9 & 9 &,
ST G T WS difeheh HishaTd ST § |
215. 3NeATEH US AN A-e
I T Sfshand ot s g1
II. STl T WUE LT 2
111 FEAATE ST
1Iv. a9 giesal & |rer GYNoT YAt
frrafefaa o & o= wEt 7
(a) Had I (b) FHaa 11
(c) 13 II (d) 13Faa 111
S.S.C. "eEt etk udie, 2013
Ans : (d) A Ao F TH WM E,
mmmmm%ﬁmw% R
e gHe ¥ e & SgER ot yer & e
(Mathematical) @1 ke (Logical) & S 2
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216. CPU® ALUW

(a) RAM @g (b) TR
(c) T WF (d) sl &WRY WY
(e) T ¥ I T

(RBI 2012)

(a) Memory unit/AA {ﬁz
(b) Logic unit/difsih Ife
(c) Control unit/&erd IfFe
(d) Airthmetic unit/TRemfes e
UPPCL TG-2 17/11/2023 (Shift-1I)

Ans (b) TUery H R B 7| T Fela
% SO’ Tt YHR & WO o
Wm%wﬁgﬁ T amt # AU
(Arithmatic Unit) @ LU (Logical Unit) ¥ @ieT ST 2
AU TRT W Tad SHUE fhad S8- Sg, =M,
g 9 STfX e AT 8, qE0 A% LU difthe @
gT, DI, A /MG Gl Bl 8 |
217. ALU is a part of a computer is............
T A J T F covvernnns T Teh T B
(a) Application/T&iH¥=  (b) ROMAW
(c) RAM/H (d) Processor/SHT®
(SSC 10+2 CHSL 02.02.17, 1.15 pm)
Ans : (d) 3Rgufles @RF I (ALU- Arithmatic
Logic Unit) A& (Eidi) &1 TH 907 81 12T Safm
F_adfaE FH ALU SN fRr ST 21 A8 SRl W
FHerd e ¥ ww el % e wft sER & Tfrda
TS difhes B HE 2

218. The ALU and control unit together are usually
referred to as

TUAY. 3R F2Ier gfe ol Teh WY AR
L2 LS &% T W AT AT 2

(a) Input unit (b) Processor
(c) Storage unit (d) Output unit
UPPCL (Office Assistant III) 23-09-2018
Ans : (b) STER TF T T0ael dhe g & S
aﬁh‘fﬂgﬁ'&r TASThe Y 3R IFGh T B W
EXGINS

e gi-e (Control Unit)

219. Which of the following_ executes computer
commands? ¥ ¥ & WU

HHTSYT SHTITf-ae Tl &7

(a) Arithmetic unit/3fROTdTE i

(b) Logic unit /T I+

(¢) Control unit /507 i

(d) Both Arithmetic  unit and Logic unit/
FHHAOTA R Th

Allahabad High Court (RO) 05/01/2022

Ans. (¢) : Eﬁaﬁ ?{ﬁ"{ (Control Unit) ™% FI"TW;
21 il # e {ﬁ?: HHY
ot st ® ﬁw T # 7T WA IR AW

Fo TH=T g T @1 el e H B
€t @ (Nerve System) el ST 8|

220. Which of the following unit of CPU is
responsible for communicating with
input/output devices for the transfer of data or
results from storage?

dt it g =t frefaiad § F s | g ©iRe
¥ BT A Ul & TR & faw gAue/
AMIeye feamw & Wig WOW ¥ % fo
frew #7

Ans. (¢) : B2 g O g 1 T Weaqel fewm g S

W%maﬁw%éw@ﬁa@m%

IFTER HFET % 3T Tt & o9 Y B Yo S 8

s TE 9 § He qu W A AT & 6|

221. Wﬂﬁﬁﬂ?ﬂgﬂ? (control unit) o H&Er

T frefafiga o @ shiA-91 927 310 g7

(a) T8 AU ¥ fdw @ sl B, S swen
A 3N HopT & G B FERE F 2

(b) T 20 B TEY AR TR Fr 21

(c)a’éwaﬁwﬂmﬁ?ﬂwaﬁzw

H
(d)a%aw{iiaﬁmm%@a@aaﬁz
F @l == F fog
SR 2t 21
UPPCL Executive Assistant 21-11-2022 Shift-1
Ans. (b) : F21d I F FA -

(1) FZraA IO § S O ST 7, S S
AT @ AR BT & Herer B FHERE B 2

(2) o8 TR SR el B gHEr 2

(3) %@ﬁﬁ%@mﬁmaﬁw
FA 2

(4) T8 HEX H I THEA F weF ST HRW
% BT &I fEfd s 2

(5) 9% TUE a9 B FEE I % SR A 2
Fd gfAe & Had H fawes (b) F Ve = Wi
FO9 Td 8 i S B NYY HET AN LR BT
Fere Ffe B B A

222. Trfafad & @ &9 |1 e ATST ST WEar
%, T faen & yonem @t P o § eiv

TTET WX I aTdfereh WA T8l et 87
(a) 2Id IFE (CU)  (b) ROM
(c) HewTS d) 10 IfE

UPPCL Executive Assistant 29-11-2022 Shift-1
Ans. (a) : A I FFERI & & Th Pl AT BT
21 7wl Fd % 999 # U B g€ 8 aa R
fren @ fFRRT F ¢ W @' S Wi @ e
T B 2
223, &weX fa=w a9 (bus) § GHMR aRl i

@& WY H SET S 2
(a) 59 I Soft (b) & I =
(c) 59 &t AR O EIRSEIH

UPPCL Executive Assistant 29-11-2022 Shift-I1
Ans. (b) : T9 I=9 T AT T A(qRe TASH 2| gHeH
UG AEH 3R I T o dg EE e 3R
3 H U9 F fau fear S 21w Raww wg
(Bus) § THMIE Rl & G B 99 H =GCE & &9 §
ST ST &
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224. What does the control unit generate to control

other units?

3T units T A= % & AT control unit
AT ST HIl 82

(a) Transfer signals

(b) Command signals

(c) Control signals

(d) More than one of the above

I | ¥ UF e
() None of the above/3ud® ¥ & HI3 Fai
BPSC TRE 1.0 Exam-2023 (11-12)
Ans. (¢) : 37 Al &I (F4RET H F g 5707 g6
(control unit) T MO § wifds TR 3O s &
foTT For W 3 IRe 3 are "kl @t 9ue
¥ YoE FH & g Wﬁ?f fq7 e (contron signal) @l
HFTAHAT BIl |
225. The read/write line belongs to:
fs (3 )/AEe (At ) wg fRed deitua 272
(a) the data bus/ST I
(b) the control bus/&2Ta 5
(c) the address bus/@'q ER
(d) CPU bus/®1.41.3. 7§

Allahabad High Court (CA) 18/12/2021 (Shift-IT)
Ans. (b) : Tg/foRa &t oeT il 99 ¥ Gl
THeht 3uA 7g ffdy & faw fpar o @ 5 a8 e
HRIA Tgd A foraa % wReE € a1 7@

226. ...e.o. tells the computer’s memory, arithmetic

logic unit and input and output devices how to
respond to a pra()ﬁram’s instructions.

............ HET , A SUSCHC
3R 3 MSeye fearsw &t aamr ¢ o foredt
m%mﬁ%ﬁuﬁr@méﬂ%l
(a) Storage Unit/=Rs {ﬁ?

(b) Input Device/3TIE feamsg
(c) Control Unit/&ia Jf4e
(d) Logic Unit/difSish gfe
(SSC 10+2 CHSL 19.01.17, 1.15 pm)

Ans : (¢) FA I T & & TH H AT FHL

21 T8 TgE 791 3Meeqe fohansdl #r Ff e 8, @y

& ALU T8 BEI% & o9 ST F SMeM-YeN & R

1 2| TE TH a1 Bl 99 B ¢ [ HIE TAW HY THR

Y T B FH2 e WA, F SRS ST B 2|

227. WHM 3R U UA. 9. (ALU) & HeA ST oAl
ST Rt &
(a) T (ROM) (b) T
(c) FZrd e @ ¥ (RAM)

(Uttrakhand RO 2017)

| Ans : (¢) 30w T @ = 2
228. Which of the following transmits different
commands or control signals from one

component to another, component of a
computer system?/f=T ® HEIEX h

%ﬁ‘r@mﬁwmmﬁrﬁmmm
e el JaTRe hiar €2

Data Bus/22T 579

Address Bus/"{@H a9

Both Data Bus and Address Bus
30 &Y N USH o g

Control Bus/?:h?jﬁ ER

(a)
(b)
(c)

(d)
(AHC RO-2016)
Ans : (d) FLA T P & TH 9 I TN A
e fafier s 1 il el &1 T9Rd H3 2
229. S YR 3R 31T SUSHIUN o o<l shelel et
T W o ok ToTT SuamT feRa wimar €72
(a) LCD (b) Joystick
(c) MICR (d) Control Bus
UPPCL Office Assistant I1I 24-10-2018 (Evening)

Ans : (d) Control Bus =X % Tofl sl S9- ‘éﬂ'fﬁ?l,
TR, TS, STSCYS IR B e B HE B 2|
230. Control Unit is called the......... of a computer.
el IS Rl HIIET Fl.ovennnrrrennn. HET AT &
(a) heart/gsa
(b) nerve center or brain/Tg F& 37aT ARAH
(c) Kidney/Tal
(d) All options are correct./d4t férhed wEl 81
SSC JE Electrical (Exam date 27.01.2018) Shift-1
Ans. (b) : ¥=a TRRA gfF (CPU) F &1 77 9% &-
FI e (CU), FUR et it sfafls s afe
(ALU) | &gt gFe, SHE Surem &1 FaRe & 81 3
T FE F T 5 91 4RAh el @ 8
231. U &1 &E-G1 9FT WA & Q90
Trroure @1 o, Treem iR wiieT et 872
(a) HAN (b) W gfe
(c) eret FfHe (d) wwer
S.S.C. HYh T W (Tier-I) THaT, 2014
Ans : (¢) F2A FAE FRT & Tl FET | fEm
@Al § I8 GEam 3R AR & fi" e wifia
T 21 it I F g B 2-
1. squ MRy feamy au o= g @ fwfa

2. ﬁé‘sﬁaﬁmﬁtﬁﬁﬁaﬁm%mém
232. HTHEX o fohT WNT ohl A9 (W el ST &7
(a) TR (b) FEAR
(c) e g (d) S
RRB NTPC, (Shift -2) Online, 18.04.2016
ns : (¢) Herd FHe Hidg 9 og, S
Fel & i wEl # fEbE s @1 sl 58
FF H A4 Red Fed £

233. The set of wires, connecting the microprocessor
and the memory, through which the data flows

i lled:
TR i A @ ey AT ARt A A,
e wreaw ¥ 2T Yaried 2 &, wEendar i—

(a) memory (b) data wire
(c) database (d) databus
UPPCL APS 27-09-2018 (Evening)
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Ans : (d) SZEE T a1 T 9 3 et G g
g & B @ 3R ST Ml G 9 HST ST R Sy
ESHITIEER 3 A & 989 821 &l Tl L 2|

234. Which bus is used to specify memory locations
for the data being transferred? ZE®T

& oo aordt Ry fafde & * fom e

o T SUANT feRam STer 37

(a) Control bus/EFﬁ?T I (b) Data bus/S2T 59

(¢) Address bus/TSd 9 (d) 1/0 bus/ad

NVS PGT 19.09.2019 (Shift-I)

Ans. (¢) : 9 99 s 3w fefea gy Ak
H & o fohar o1 81 S U SR 1 SR we
feargq & TEN AHIE F YR A1 foRad T SEvESA
B 7, O a8 39 AAIG AhTH B TSH a9 H (Y F
2 (vg = forms & forw deg 1 32T 99 W AT A6 7)

235. Which of the following acts as the central
nervous system for other components of the

computer system?
ﬁn:i%vr@?r T ¥ HEIET T HIA-GT AT HhT

ATEE W HECATT §—
(a) Registers/lﬁ]'{?{?f
(b) Primary memory/Saeh HHART
() Arlthmetlc and logic unit
R i e
Control unit/&=Z1d IfFe
(RRB JE (Shift-II), 29.8.2015)
Ans : (d) F2IA I FH HN AEI 7 e 21 T8
& @ 7 @ T 1 T 7w -
() g N TeYe feamd qu 3 TR
[BRIERECESI]
(i) sRemfes wiforp gfte & Fr@t i fFEfa s
(i) =T T ¥ ST A 991 IR dehifers 9 ¥ 'R

HTAT
(iv) et & ggar 3t 3= SmEifad & % e &

236. Which of the following is not a part_ of
operation of instruction c%cle?/ﬁl’clﬁ'ff%?f )
i TdeT =reh o UTer o gTiftrer e 82
(a) Fetch/®d (b) Indirect/3TSTRE
(c) Execute/Q"TrﬁHZ,_l? (d) Memory/ﬁ'cﬁf'f
AHC ARO 2019 (Exam date 24.02.2019)
Ans. (d) : F9, ISR, iR Teigge fadw 9% #
et & wefs 3l ke o § e 98 21 o
R fearwy 21
Tetae (Mother Board)

237. The controls communications for the
entire computer Ssystem.
HYUT T AT 1 Har e

(d)

Ans. (¢) : F&@IE (Mother Board) Tqvi =R faew &
er i & 21 98 wifes & o e (PCB-
Printed Circuit Board) &I 21 I8 HFFT Hl &I T
(Main Board) & g1
238. Processor is mounted on

TreE 7T ST fa AT 2l

(a) Motherboard/AaTee

(b) Keyboard/®are

(c) ROM/AM

(d) RAM/WH

Allahabad High Court (CA) 21/12/2021 (Shift-I)
Ans. (a) : ST Fet6e W AN fhar ser 81 wewEe
F F GO PR FHWH A 8 S wft e
BEAI FHHNA= &I Siegdl @ N NAG & 396 &M F
for et el 2|
239. What resides on the motherboard and connects

the CPU to the other components on the
motherboard ?

TETEE | 98 9T BT § W Wi i weweiE
o 3T U ¥ g &7
(a) Input unit/319< {ﬁ?
(b) System bus /R 59
(c) ALU /T.TA.7. (ALU)
(d) Primary memory /3Tt ELin
Allahabad High Court (RO) 11/12/2021 (Shift-I)
Ans. (b) : 7SS § feq 79 (System bus)’ 2l & ST
ddg T 7eEE F 3 geH T Siedl 21 Th Bus
Freet § Aqee g 8 U e e R o Circuit #
TH Component T & T Sl 21 @ 9 Bus &1
Speed A ﬁm@’aﬁa (MHz) ® 9791 ST 2

240. What do we use to extend the connectivity of
the processor bus?

Vi T 9 et aed % o

foreent U=t W €2

(a) PCI bus

(b) Multiple bus

(c) SCSI bus

(d) More than one of the above/’o"cri?ﬁ AR

M
() None of the above/35® ¥ & HIF &l
BPSC TRE 1.0 Exam-2023 (11-12)

Ans. (a) : PCI (Peripheral Component Interconnect) 99

TH HH Y 8, FEH W W §§ &

AT FARE T & faT fFar I &1 9% AR W TH
(a) ALU /7T T § fafie wg-aH #E ot IR feamy &
(b) Semiconductor /3TEETeAH FaE H & g g e 2|
(¢) Motherboard /H&X e 241. Which of the following is correct for Digital
(d) CoproceSsor /W‘a’a; Cll‘cmts"fﬁ'—.»"ﬁf?ﬁ '{Tﬁﬁ % m% ﬁ
Allahabad High Court (RO) 05/01/2022 HI-T1 W &7
Computer an Introduction 39 YCT



(a) They use analog signals for communication/
3 TAAT R 1 gu # ST sd €

(b) They process information using _continuous
voltage levels/fFREX dieest &R, T
UGN KT FHAT B &

(c) They are not suitable for high speed operations/
ey T § 9 3= & foIw 3ug e

(d) More than one of the above/‘a"cl'i?ﬁ i4q Teh g
3

(e) None of the above/3T® T g T
BPSC TRE 3.0 Exam-2024 (11-12)

Ans. (c) : fsfiea fomen dur & fou fefoea fama
UM W @ WA e & 9 ffea fwew
A dleds Tl (MAN W & TR 0 S 1) &1 I
Fh SHHN HHIA Fd 7, PR aiees @i & 4|
fefeer Rren s=0 70 & oo & fIg sugw 8, o
T ey W 3% T A § ¥ T 2
242. The integrated circuit connected to every

major part of a computer is called as

HEE % W U G ¥ IS THiGd Hihe i
HET ST &
(a) Motherboard/F&@iE (b) CPU / Hidig
(c) ROM/ T® (d) Monitor/AiF2T
UPPCL Accountant 10-02-2018
Ans : (a) TS UH UH §EAT @ S : ;
o T o e e
T A | GSd HAT B
243. The CPU and RAM (Random Access Memory7)
are located on the:/CPU 3iX RAM ToIa gidt €7
(b) Motherboard
(d) Output device
MPPCS (J) 2012

(a) Expansion Board
(c) Storage device

Ans. (b) : CPU (¥Zel T ) 3 RAM (¥=H

T A S AewaE # R @ g

244. The CPU and memory are located on the...........
of the computer. 10y

1 ", e
L N T feera g €
(a) Ouput Device/3T3<Y< fSamsd
(b) Storage Device/RS fEarEd
(c) Expansion Board/TsRaigH e
(d) Motherboard/Fetaig
UPASI 05.12.2021 (Shift-IT)
Ans. (d) : & T wetEe fiics dfthe a1 (drefta)
T 2, %%%W £l I B TH WG Tl
2, forad dga i give (dide), F6E SR gAge a
MeYe fearRy & forg Faeey wfiet 7|
245. HSIATS oAl HTT &l gl
(a) Expansion card slot (b) DVD Drive
(c) Storage Connector (d) Memory slot
UPPCL Office Assistant I1I 24-10-2018 (Mor.)
Ans : (b) TS &I B H T a1€ 1 Fed &, T8
F FH TR MAF Hihe a1 ¢ Pl @iy, gra
I Wi faey T § ¥ Fiae T g fw T
foepedl # fahed (a) (c) 3R (d) HeWIE &% 37T & Wi
DVD Drive ®RS fearEd g1

246. Which of the following in the basis of computer
and holds all of the circuit that ties the
different components of the computer system
together?

T q HIF-9 HEe A T ¢ A%
quft withe 1 amur wear €, St e faen
o TafiTsr seenl &t Ueh |1 Sgar &2
(a) Hard Disk Drive/gTe f&% grga
(b) Motherboard/"eIsTs
(c) CPU/HLYLT,
(d) Cable/&aat
UPPCL AC 2019 (Exam Date 29.01.2019)
Ans. (b) : FEGEE fHd M HUIET FI Sbe QT 8 Sl
Foped fawew & fafe seal # v gy Sear 81 el
T & g Ay AW § F92 84 &1 38 U9 A
77 fipee i€ ot el ST |
247. SATA 3R IDE == &7
(a) UHETH
(b) TS fmiar
(c) & e gRT & FR
(d) WA $TET F THR
UPPCL Office Assistant I1I 24-10-2018 (Mor.)
Ans : (c) SATA (Serial Advanced Technology Attachment)
FAFE T TR F 31 TT Tha T o=
g 3t FopRy fyew % d= @@ 81 @ik IDE
(Integrated Drive Electronics) &1 H&T Fri ERSCAY
TEEIE 22T T AT 99 R N ot Wil sy &
= g 21
#F: SATA 3 IDE g€ &% $Ea & YR 2|
248. An electronic path that connects one part of a
computer to another is:
T Fora(i-eh W&l AT I o Tk HIT &l
TR 9T | ST §, el ¢
(a) Logic Gate/dTSTh T
(b) Serial Port/EiRaet o
(c) Modem/HigH
(d) Bus/@q
Allahabad High Court (RO) 11/12/2022 (Shift-II)
Ans. (d) : 99 (Bus) AEEE W I+ Faid dRI H T8
2 S ST A goagie fae # Fre e & s
T WH § TR WE 7% o 6 21 T8 [ Suswt B
TF 99 Sed 2 T e fqew F o=
FEI 3R Wit fearey & o9 fawl qur guAet &
HEH-5EH a9 & g 8l & |

249. Which of the following is used to connect
different external devices?

T = farferer et feargw (=)
I HETr o o fTT g grar §7
(a) Address busf@'\q ER
(b) Data bus/SI<T 99
(c) Control bus/EEQjH 99
(d) External bus/a@d a9
Allahabad High Court (ARO) 19/12/2021 (Shift-II)
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Ans. (d) : IR ey ¥, TF AT 99 & FN A
R frdei @ g sk Tt feamd S wRd
fEareg, TYe/eTReye faRy R ST FE Hi Sieq
& gl sem F 2

STEAT- g HfEad a9 (USB), SATA, IRE
FHe g (PCI) |

250. The system bus is separated into three

functional  groups. Choose the most
appropriate option from the following:

faen s & = watares wer § frafye feam
T &1 Frefefaa § & wed stua fasen g
(a) Data bus, Address bus and Control bus
327 99, 29 99 3R HIed a9
(b) Star bus, Mesh bus and Data Bus
TR 99, 39 99 3R 321 99
(c) Control bus, Data bus and Star bus
Heldt 99, 22T 99 R BN 79
(d) Address bus, Star bus and Mesh bus
TS 99, ©R 99 N 49 a9
AHC ARO 2019 (Exam date 24.02.2019)
Ans. (a) : 321 99, U2Y a9 3R 2 99 Req a9 &
FrEls T 21 IR ¥ 91 w99 S deR 9]
& T Syt F @ A Rrew 9w #F deE 32 fie g,
g o @ b e 99 ¥ 32 aR &1 awd 7% @
TR T 1 32 faT 1T &7 SMeH-Ya Y GebT 21
251. What does the term USB stand for?
USB = & Tet hidl ot &7
(a) Unique Service Business
(b) Unique Service Bus
(c) Universal Serial Bus
(d) Universal Service Bus

UPPSC APS 2023

UPPCL AC 2020 (Exam Date 13.09.2021)

UPPCL (Ste.) 28-08-2018 (Morning)

UPPCL Office Assistant 111 24-10-2018 (Mor.)

Ans. (c) : USB @ Ifradd GRaT a9 81 USB

23T B F TS F AR ARG, Frae, e, weaa

e o g st IR fearey & 77 safes
TR e & o feome fman e ws ddie 21

253. wIfET | T& WEEE & aHEe 3R

AR &I fean T v1eg 21

(a) Form factor (b) CPU

(c) ALU (d) Term factor

UPPCL Office Assistant 111 24-10-2018 (Mor.)

Ans : (a) frel ff Fgex § oW St FHT feard
1 e s g 81 AeEEe § wW el &
F1 I I TgS BT HART FT B 2|

Qﬂ’\q‘aﬁ'ﬁ‘ TAte (Expention Slot)

When one device attempts to send a message to
another device, the data is sent over the
internet in the form of manageable packets and
each packet is assigned a ____ that will connect
it to its endpoint.

o U feaga frdt o= feama =t @Wewr

A T JATH AT &, A ST Rl Taer Yehe

* U H FEHE W AN 1T § AR g Yok

W Tk AW fRam War g W O3 Stud

TSWTEe ¥ Tae &

(a) network number

(b) computer number

(c) port number

(d) router number

UPPCL Executive Assistant 24-11-2022 Shift-11
Ans. (¢) : e TR (Port number) Tdh ¥hR HT X 2
St & feard & fi9 Us@Ee §AR S T4 FEH F 2
T8 e W g S TCP 3R UDP & iU oo
SISt gRT S& fbar ST 81 9 =R 0 ¥ 65535
% 2 €, i 6 16 fe TR & 2 €

255.

254.

provide expansion capability for
a computer system

.................. Ueh TIUTeh Yfafer o forg faam arwar
PHERC 0]
(a) sockets/Tioheq (b) slots/&AleH
(c) bytes/azcH (d) bays/9T@H
Allahabad High Court (RO) 10/12/2021 (Shift-I)
Ans. (b) : T Fre few & fou fawr e 5=
A 2| B H ey H AAed § o @iell S R
BRI & T S A(HAT ITHLUT S S ool 2 |

252. Without a system cannot operate./_ai
e, womredt ( R ) Sefora &t & waRam

(a) Motherboard/AaTeTe
(b) Keyboard/@are (Fefiaed)

(c) Speakers/@ﬁﬁ

(d) Mouse/H3"

UPPCL Accountant 10-02-2018

(a) LSS ST TSRS I S gy
aRgy &I B % forft e
T R Feare # @ ke
3@3

256. Which of the following provides the slot to
connect gra%hlcs cards?

W @I R TSt WIed &
foTe wte ye= YT 77
(a) RAM slot (b) AGP slot
(c) USB port (d) PCI slot
UPPCL AC 2020 (Exam Date 13.09.2021)
Ans. (b) : AGP Slot ; Accelerated Graphics Port-
ST I=d A AT A ey & fau e S @
T U & TGN Aihd B H HHA & HI@IE I
Sied o foT fohan ST 81 g8 S T ol serr @ | ®
fen & WAl @1 o FR@a ¥ ST FW O
el e S Y Febel 2
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257. The port that is a protocol for transferring data
to and from digital devices is known as/dg

I fefiteet USRI o | 22T TG0 & fau

Tk WIEIahieT &, TorE &0 T ST ST 872

(a) VGA AR ard (VGA monitor port)

(b) USB 2 (USB port)

(c) et o (Parallel port)

(d) PS/2 U2 (PS/2 ports)

RRB NTPC 10.01.2021 (Shift-I) Stage Ist

Ans. (b) : {@Eﬂ tics (Universal Serial Bus Port) Tsh
THEA fEaEE @ S o we Uditee feasdw &
FEY G Sied H Wy g1 Sl &1 o Rer 5
foreft feamew &1 qumet o & WY SgHt FAT AT S
2 59 Plug and Play 1 70T &gl ST 81 Reaar @ # 25
o 1 et g & el & Wy 8 fae ar e s
1 SMEH-TEM a1 ST Fehell 21

4. Exzakiear
Work of Computer

258. wHTHE T H | ShiA-91 rd A& hiar?
(a) FFfET (b) e
OEESE (d) =g
MPPSC (Pre.) G.S. Ist Paper 2015
Ans : (¢) B H @ & Gred, T3 3Rk fufg o
1 e T B 2| T8 hael fad T e Frwi W@
FHE & el e g |

259. Which of the following basic operations is/are
performed by a computer ?

frafafes & @ @F-w/@ ga  SAtwee

HISY GHT feRar Srar &/ferd <rer 82

(a) Arithmetic operation/37eTOTAE STILI

(b) Logical operation/ﬁﬁﬁﬁ IRIA

(c) Storage and retrieval/H= 3R AN

(d) All of these/sTH & Heft

(UPPCL TG2 Re-exam 16-10-2016)

Ans : (d) FHIOEHT AR, Aihes TR o F=
SR AT Tefl 7t Sife Fe BT T S 2
260. 3TH W T GT T fehdll HIET & OIR YH@

et T A 6 W T 37

(a) 12T THT BT

(b) THET B IR § T FE

(c) STHE! ega ARl i T HEAT

(d) ARSI AT YA H HUSK

(e) T8 T g T

(RBI (Office Assi-2012)

Ans:(c)ﬁv‘%’(%ﬂﬂﬂ'ﬂ'@w-mﬁwm,
Afhel P gaARl § WGY 1, bl T g B
TR FTT a1 22T B AT F 71 B sHihe
1At geTet S farvers T FE w

261.

For which of the following is an interrupt

mechanism NOT required?/ffatad T ¥ forueh

oI geve tenfarem <t STavaesdr T8l &7

(a) When programs request a system call to be
performed by the operating system

S AW AR frem g fren s w9

B AT B 2

(b) To give the user better control over the
computer FI FFEET W IgA 0T
T % fow)

(c) To allow the processes to manage shared

data/FfFame 1 TET BT YA wE H
AR & & o)

(d) To handle mismatch between CPU and device
speeds/@. Mg, o feag & T F 9=

THqeH &I HareH & fow)
NVS PGT 19.09.2019 (Shift-I)
Ans. (¢) : ST Gohirsq § wlpameil & 22 93 & &
fere safey # sTavawd T4 2|
T TH UH TS & o 39 9 Bl 9t ol & o SHE
el & Froufed e 81 U hiae & Ao o ST S
21 (R &9 § ad9m § 99 ® FEET N ek R
) A AFERE (T 9T F FROT S g9HE 9 ©
FEHA T T a1 S gebd @ I T8 )
262. ‘32T WEERO' (T WARAT) Iqul ST @l
T gRad ol Hafda &ar gl
(a) ITTET (TATANT)
(b) 9o B
(©) SIGE
(d) esTE (amad) e
UPPCL Office Assistant Account 28-8-2018

Ans : (c) ST FHWRUT (227 WM srqul 2T
SR # uRade P HefT Fer §1 957 TR A a1
foFay, St Pt Wb e s Rofee & 8, i ger
TR e 7

263. & Tw o ¥ gE =T I, W
AR F SN 3 3H UER WA o
feru gram & for I® wraeRdt o fog STanf €n
(a) 3T (b) =eEE
(c) fewr (Fie) (d) S

UPPCL Office Assistant Account 28-8-2018

Ans : (d) FR § TR F A ST T, IR
H AN T 3W THR TGA B H U g @ T

Tehdt & fow syantt g
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THIET Tt ferremr

(Characteristics of Computer)

264.FrAfARE | | -6, THEET it T (a9rar
& 8?
(a) T (Speed)
(b) @ﬁ’a dfsd (Intelligent quotient)
(c) ST (Accuracy)
(d) g Ffe+ (Versatility)
UPPCL Executive Assistant 21-11-2022 Shift-1

AHC ARO 2019 (Exam date 24.02.2019)
RRB NTPC 05.01.2021 (Shift-I) Stage Ist

Ans. (b) : TfE, 21 WRW, TwRH, Fdfradt s
FE F fAEeET § S gfE A (Inteligent
quotient) FFR[X H1 forgrer T &

265. Which of the following characteristics refers to

the use of technology to complete a task with as
little human interaction as possible?

¥ | sa-dr fowwer ferdt & &t

JYTHS TFH | A WS TEHTTET o 610 I

W % faU dEnfiet & Suei @ w@efia

T 87

(a) Remembrance power/SRUT 3fth

(b) No EQ/EQ &t

(¢) No IQ/IQ =&

(d) Automation/EdreT

UPPCL Executive Assistant 24-11-2022 Shift-11
Ans. (d) : SE@H (Automation) fohet FE F FAHIT
FH T HF UG FeAT F T T FA F A Srnf
& U i GeRfa S 8|

266. Which of the following characteristics of the
computer reflects its flexible behaviour?

= ® 9 &9 ¥ T SR & Rafa & sgEy
Y HaE Sl 9Tt &7

(a) Accuracy/SeTehl

(b) Reliability/fersag=iemar

(¢) Versatility/ag e (FEad)

(d) Diligence/3Tw3ierar

(AHC RO-2016)

Ans : (c) TEHUA (Versatility) FFEERX & T STER
EalCe ] % SCIEECAC | (Accuracy), forvagear

Ans. (b) : TavaE=tarar:- St fovagia @ s a8
221 % UM U2 & U @R wHH 9o g1 81 AR
T U & e F1 G fhae 9N 34 & 1 off ad uRom
|
268. TS H = H | -4t fowrear g8 formm
TS & ST o i i § T ST 82
(a) Diligence (b) Accuuracy
(c) Automatic (d) Versatility
UPPCL TG-II 19-03-2021 (Shift-I)
Ans.(c):mﬂw%ﬁmﬂﬂﬁﬁ@%@
IR FreX § Ay e @ 99 F v fo fhd wee
TERIY % A T A M B @Al § ol dh A G
T & o 2
269. Tafis TUETRN &l & ohid Rl oTelieud,
HEET fergiora =t gettar {1

(a) RIS

(b) FEEF (versatility)

(c) T

(d) T (diligence)

UPPCL (TG-II) 24-01-2019 (EVENING)

Ans : (b) [OfT TR #1 g & H oI,
FHOIET 3t T RIS i awiar 2|
270. Identify the capability of the computer system

that makes it adaptable./&wFey faww &t

ITAT I UET i ST 3H ATHT ST B

(a) Never getting tired, bored or fatigued

FH T AT, FHeAl I IRAT (fatigued)

(b) The quality to complete different types of
tasks: simple as well as complex.

fafte ¥R & FEf B W FH F OIS
iR Ty & Sfea

(c) The level of precision with which calculations
are done/ 1 98 &N IR
Sl 21

(d) The duration that the computer system
requires for fulfilling a task
foredt = =0 qu mg ¥ fore wreger foew &
et srafer =1 smreavasar g 2

UPPCL ARO 25.02.2022 (Shift-II)
Ans. (b) : 2 fGeH & &Wd F GEEHEH & fou
HEAT-3TCT TR F T F Ul Pl G- ISl 2|
T

! 271. HDMI stands for..........
(Reliability), 3faTH (Deligence) FFEEL & farQard 2 &0 g\'u‘f Y T &7
267. afg g0 ferdt ey faew o aR-9R Ues SrEr (a) High Definition Media Interface
TYE e €, o g6 wue uiemy faerar €1 T Sftpfer Hifgar
HUET T IE TI9rSaT ST HEaTd §72 (b) High Display Media Interface
< & . feet EER R
(a) (Versat.lht.y? (c) High Definition Multimedia Interface
(b) fagg=a (Reliability) E] = ;
(c) HGHTEAT (Scalability) (d) High Display Multimedia Interface
(d) Tweier (Diligence) 4H] < FaThy
UPPCL TG-II 27-03-2021 (Shift-II) UPASI 04.12.2021 (Shift-1I)
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Ans. (¢) : HDMI & q0f &9 “g% Sffem Aceidfear
2T 21 HDMI TF F3 3R 59t & o1 FRaedw %
f7 sffed st difsd & el ok eE-defigy
o F i B ge 2

HDMI @&+ &1 39aIT HDTV, Projector, DVD player
S feard & @ e S 2

272. IS Wl EHATIREd | & i o {9 &,
T U E AET W - i W owwef
AT 87
(a) FHSA
(c) T

(b) &

(d) 3ferar
UPPCL TG-II 19-03-2021 (Shift-IT)
Ans. (d) : HFF H foreryamstt § SReReT (Versatility)
ﬁ@%{ﬁﬁﬁw%sﬁmﬁwﬁwwwﬁ
gaef g § - STANTRAl HW o GE-9re M Ff el
Tehal 8, 9 T L Fobell &, TUMT L Gehel & A |

273. The minimum power consumption happens in
the case of:

forer wRfterfer & =gam farsrelt o6t @oa gt 8-
(a) Sleep/fsT |
(b) Hibernate/8Ea<
(c) All of them consumes same amount of power
SR gl fooell & THH AE & STA S §
(d) Shutdown/FHFHeT 58 HH T
UPPCL Stenographer Exam-18.02.2018
Ans. (d) : R I TRA & § difiyg qur AR ¥
gty qoft fearesd o< & St @ a9 ufeR g wfie
B S 81 Rl fsTel &1 =pad wud Al @ S Wl
TN gRae e ¥ gt fearsd a< e it
274, FFE Ueh TUAT A W GHAT HRIET *
[UT SR GO 2
(a) HHRA (b) TR
(c) Hwar (d) HEIQ T e+ &
UPPCL TG-II 25-01-2019 (Morning)
Ans : (c) B F T H §hea ff ©H o g,
HEL SN 5 T o # ST (Accuracy) g 8
31T FFLT AN 81 B |
275. Torm foredt o/ o Jfe & AR & T
HIST fergroarent st ottar 1
(a) 7T (Speed)
(b) ITwefiear (Diligence)
(c) FEIQ T& (No IQ)
(d) T (Versatility)
UPPCL (TG-II) 24-01-2019 (Morning)
Ans : (b) ST B S USH faviar ¢ fEE
FROT Hrege fRdt off wef & fomr fordt oo qen qfe &
AR T H3T 21
276.

Millions of calculations can be performed by a
computer with the same accuracy without any
tiredness or lack of concentration. Which of the
given options represents this property of a
computer?

forr foret araR o TwEET W T R TR &

TEIhAT o WY HEEHET GRI AT@! TG Shi ST

Tehelt ¢ T U faereul § W &AW1 HEEE

I TH HU AT WlfAie oear 27

(a) Reliability/Retmafaferdt

(b) Diligence/fsfersim

(c) Accuracyf@!%ﬁ?ﬁ

(d) Versatility/agfefadt

UPPCL Assistant Accountant 22-02-2022 (Shift-I)

|Ans. (b) : 3T T =T | |
277. Identify whether the given statements are true

or false./Ug== feh fou 7T e @t & o1 Tera

(i) The capability of a computer to perform
different kinds of works with the same
accuracy and efficiency is termed as
'diligence'./Teh & Tetehar 3T &THaT o |
o R &% wEf W W & fau
RIS Tt {THAT Sl TRYH el ST 2

The versatility property ensures that a
computer does not feel any fatigue or lack

of concentration./SEHE Jiasr AT YA
WA & TR wger W wE gwE W
TERITET &t Al Tegd = &l
(a) (1)-True, (i1))-True  (b) (i)-False, (ii)-False
(¢) (1)-True, (ii)-False  (d) (i)-False, (ii)-True
NVS Ju. Sect. Asst. 09.03.2022 (Shift-IT)
Ans. (b) : SETER TFAHT ( Versatility )— sgq@! Ffa
TH FT F AT B GAA TS 3R T F Y
i JoR & FEf # F F fow gefia Fd 21
ke ( Diligence )— FFIX TH g feoar 3R g
% 9o Al HE A MOAT B Gehal 21 ¥ fRH o g
I THIAT F U TEGT A BT 21 ST A & FoH
I 2
278.

(i)

Which of the following is/are the characteristics
of Main Memory?

frafafaa # & &9 /&9 ¥ 39 (T=)
e o fergrear &/87

A. Itis working memory of the computer.

g HEET Al wrEviier I R

B. Faster than secondary memories.
Fohelt THIT | SATET S

C. A computer cannot run without primary
memory.

o yrgwdt AR & shegex i Ot WehdTl
(a) Only A/Had A
(b) Only B/%ad B
(¢) Only C/&aa@ C
(d) All A, B, C/9%t A, B, C
UPSSSC JE Non-Tech. 2016 (Exam Date 19.12.2021)
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- F Gheld HA § A 4 F1 S 2
- Eh o FPge T I T 2|
279. TrfaiRad § ¥ T, HEEX &l ToNT-3Te
THR % HE W T GAHAT T
o WY I hT AT § eiferd g2
(a) fefarsiw (diligence) (b) FHfefedt (versatility)
(c) THRRE (accuracy) (d) RemufEfeT (reliability)
UPPCL TG-II 28-3-2021 (Shlft 1)
Ans. (b) : Vel‘satlllty It FF F TH forern
g st P TEAE I HR A A B GAA
T 3R &I & 9 e JER & FE B B H
fore geffa 21
280. Which unit controls the movement of signals
between CPU and 1/0?
F. AR e/ & frar F Whal &
SN el shi= e shiar g2
(a) ALU/ TUA.Y
(b) Control unit /&I Ffe
(c) Memory unit /A1 Ifte
(d) Secondary storage/@gﬁﬂ (fsfores) =R
Allahabad High Court (RO) 11/12/2021 (Shlft 1)
Ans. (b) : H.9 g, IR AL F 99 > HOBdI %
HEATE # R A (CUY FRPA a § see
I Ey B U o 3, S TR F wEed #
ffem e 21

281. To measure the speed of a processor,

used.

SUERT T

(a) Processing speed/Fﬁ@@i"T it

(b) Clock speed/Fis et

(c) Memory/ﬁﬁﬂ

(d) Unit/gfe

Allahabad High Court (ARO) 20/12/2021 (Shift-1I)

Ans. (b) : T # T (Clock speed) W (Processor)
g 9T Yave Foafed =i @ e & A 2, R
eSS # War S 81 39 UM § W (Cycle) g
w7 & drdrg Y e 1 AT 2
282. Which unit of computer helps in

communication between the memory and the
arithmetic logical unit?

Wwﬁmmwmﬁwﬁﬁ'&aﬂ'{

..........

TETAAT AT &2
(a) ALU (b) CPU
(¢) UPS (d) CCU

Allahabad High Court (ARO) 19/12/2021 (Shift-T)
Ans. (d) : CCU (Computer Control Unit) I =0T THE
(CU), CPU # T S FET & W F W
Herer i R T 2

78 Hrged & qoft el @ fwE 98- dfe gfe,

W, YC-AMBYE ey e S &l 2 f (e
S @ ww FRE ® SEd #4281 ALU
(Arithmetic Logic Umt) SE, T, T, AT, & emfg
S SR Td difches HE HLT 21 CPU (Central
Processing Unit) % 3wd ALU, CU o MU
(Memory Unit) A& g1 UPS (Uninterrupted Power
Supply) T fsargq @ T fasrell fawemr (Power failure)
#t Refa # fosreft sAT W@ 2

e COMPUTER & q0f &Y & ow%mﬁﬁALUamﬁm!

—Commonly Operated Machines Used in
Technical and Educational Research.
® ENIAC & SfashR §31 o —1945

® 2025 A% FmR Ft difean 2 —gier
o F FI Ugell dEt § ST fohar T o
AR TGS
e USB &t @it fahar —3T91 9g o NI
o 3Tl MEEH FT (AGC) H LR &7l &
—64 KB
o 3UIcll MEEH FEL (AGC) F1 I T oo @
-1 &9 Be 3R 70 UST
o 3TUIE MEET HF (AGC) HT AHR far o
—Charles Stark Draper Laboratory August 1966
o SRS fEad S ST @ ABHYH | F8ed g
TG &l 2 —TaE
o FHIT THW N SAHHYA # qRafda fh S &
—3ET Y

—srfteriifes wiftes gfve
o FT & ARASH FI Fal A 3 —1:|°rn°r'ar
e CPU &1 forgd &9 8 — e drARiT i

o TURT SR GO FOT T FE 3 o5 AT 1 T
fepar ST 8, 5% 2 —ALU

e CPUS ALU ¥ &4 8 —Tfex
o Sz SR A § T R F e § A g
— sfverifem @it A
o U, HUN, ReAfeH W s e B €
—-CPUH
o FHET § SRR B 2 -CcPUH
o AU IRETT THF HLAT B- ALU

o Y= W (World Length) 31 8 § et st 7fa
-9 W &
o T g, # T H g FA AT B &
—IT6g U, SHTEH TS TE Rt BHR
o 2 TR H wfqes w8
—forvar e TR feaw
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02.

HFHT T farenrd

(Development of Computer)

1. EXcEalERRE)

(History of Computer)

1. What was the first university based attempt to
build a computer?
HEEX I W Ugen  fagfaEneg-snenia
JATH AT AT?
(a) Stanford University/T%ie faafammea
(b) Harvard University/gae fgafaamea
(¢) Towa State University/3TTaT ©2 feframes

(d) University of Pennsylvania

forfermmera

(e) None of the above/30® ¥ | HIF Tal

UPSSSC ETO 19.01.2025

Ans. (¢) : HI IAH H g8 fqgfemmerg-maia ae

3er W fyafmme § fFar mr an 1939 ¥ 1942 F

d, S 4l TeMET 3 3% GeEe fFawe ad 3

et TeHM-ad @l (ABC) @I fmir feam =8

el goiaeia fefSed dugex a1, o smfas swgedl
% faopre =t g i

2. UGS ATTAH chetghere sl el ST e
(a) Teiferal (b) HETFI
(c) TS (d) e

UPSSSC Junior Assistant Exam. 27-8-2023
Ans. (¢) : T8 FifIs hargpeied Pl IRhelre (Pascaline)
FET ST AT, SN 1642 3. H oIS Ul N STTERR
fpam T @R fearew siwnfrde @@t B g TN F
fere fesmea fepam T ani

3. The invention of gave birth to the
much cheaper Microcomputer.
T O AR
5= femm
(a) Mainframe/5-5hH
(b) Microcomputer/qﬁaﬁw
(c) Microprocessor
(d) PDA/® S T

Allahabad High Court (RO) 12/12/2023 (Shift-I)

Ans. (c) : TEHITIR & ATHR § T& A5kl g
H = fean) R fRier g didig o et s 2

4. The Second generation computers were based

on:
IS i gEH et fore oX smrenfa oft?

(a) Vacuume tube/aa?f-'l =

(b) Silicon Chips/fafershi fog

(¢) Transistor/2TRTET

(d) Bio Chips/siaifaa

Allahabad High Court (RO) 12/12/2023 (Shift-I)
Ans. (¢) : 390 g (1956-63) & R
STIRE | T el SRR % Fa SRRl 7 2R
3 B R T MR F T G F T R qer
BT B 2

5. When was WORDSTAR first released?

WORDSTAR Ta¥ Uget el T8 ofi?
(a) 1976 (b) 1979
(c) 1983 (d) 1990

Allahabad High Court (RO) 12/12/2023 (Shift-I)
Ans. (b) : 3 1979, # WORDSTAR U&cT-98 JETR o7
ST @i fomam o o11 S YA AES HFRR & T
fohar T 911 ST SMfAHR Segmeur Rubenstein 31
Reb Bornoboy = f&ar @i
6. How many operations per second can be

performed by a modern fast mainframe digital
computer?

amegfren <t A fefited wmger s wfa

Hehre foRa TawT feRam < Wehe 22

(a) 1000 (b) 1,00,000

(¢) 10,00,000 (d) 1,00,00,000

Allahabad High Court (RO) 12/12/2023 (Shift-I)
Ans. (d) : TF 3MgfAE o wT% fefed Freex ufa
e 1oooooooa:rrq%mamw%| amest aRfRefeat
T, TH BE-US SWhe(T X86 THE Ifd ¥ehs 100 faferas
§ oifr fordell o1 fooafed R Wbt @1 W HTEC,
8 sFiv=ies &9 § S0 a1 BT SeRT Fe S 8,
T FA ¢ (T9H ST 77 &9 § 92 e 5N
SO, Sﬁﬂaﬁta%ﬁnﬁméﬁé——rﬁ@aﬁf%m
AR T TAH W T TERT S AeEqul SIEn %
fore fopan s 21
7. Which of the following is not _a processor

manufacturer? i) 'élﬁ?@

a1 Trutorerat =i &2
(a) Nvidia /TAfafean
(b) AMD /T TH &I
(c) Qualcomm/FTeHH
(d) Apple /T
Allahabad High Court (ARO) 06/01/2021
Allahabad High Court (RO) 06/01/2022
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Ans. (d) : THA TR &1 Fmforsal 981 @ i iPhone,
iPad 3T Mac % T @off Toer WX @M § TSMC
g Icarfad fhu Einid Nvidia, AMD, Intel, Qualcomm
T Mediatek T@ e ot swfaf §1 wides
2 5 U SR, R dga SRR 9 (CPU) % &9 #
ff S ST 2, U fw A @ S el A Hiesd

SUFT FT 0T T THT BT
8. Who designed the first electronic computer
ENIAC?

TUALMECH. Ugel SoAaiteh hedel fera

fesmg feman?

(a) Von Neumann/ & ﬁ?{ﬁ:l

(b) Joseph M Jacquard/Gﬁ'@'CB T SEoice

(c) Presper Eckert and John W Mauchly/ﬁﬂ'cr{

TR 3R S g, Hebelt
(d) John Napier/S= Jf=R
Allahabad High Court (RO) 07/01/2022

Ans. (c) : ENIAC (Electronic Numerical Intragrator and
computer) T&El IATLIH HPL 8| TH &z STWR
TR SR ST T Ahell T A an 9 g & ween
I T A FHEed o 4 S 2
9. To access a malnframe, users oftenusea_

Y Aw wge ¥, W S (e

YT AT 872

(a) terminal/ZfifAa &1

(b) node/ATE

(c¢) desktop/STHeTq

(d) hand held/&E &eg &

Allahabad High Court (RO) 10/12/2021 (Shift-I)
Ans. (a) : BT T Tgd 37, TARH ST fiAd &
IYANT S 1 WHHH B SR H B a2 B g
TR TRT WRS G e g & adr ST S e
F M AT B E | T T B ITAN TG A,
T, 3fafer o we S & # R S 2
10. A is a large and expensive computer

capable of simultaneously processing data for
hundreds of thousands of users.

HHhel X TRl waIhRll ¥ UEehToleh ®0 &
TR RSl T HEM............ Ueh 9 ATRN HT
3 Tt dmuTe #)

(a) hand held computer/&8 8¢S U

(b) mainframe computer/ﬁqﬁv'q HIUTh

(c) personal computer/tlﬁq?{ GIUTR

(d) tablet computer/2acic HIUTH

Allahabad High Court (RO) 10/12/2021 (Shift-I)
Ans. (b) : §5S 3R ORI FARBIA 7] TEHIH ®9 §
TR Sl T e BT HWET Th I8 BN 3
Fo FEeX 31 TH FEg H 32 AT 64 fo A
ST 1 ST R S §

11.  The Napier's technology used for calculation is

called
AR dFHA......... 0 MHAT & 19 WART

Frelt 7

(a) Rabdologia/TsaIaferar

(b) Vibologia/daraitsrr

(©) Semiconductor/SHiHgaRT

(d) Rabdologia/AAitsran

Allahabad High Court (RO) 10/12/2021 (Shift-I)
Ans.(a):WWW%WWEﬁﬁ%I 5l
RIS 6 FEd 21 59 dw & @IS S AR 3
F off1 s AR S Bl (S a1 g0 # W ufga)
1 SEHIe TUAT % I B 2|
12.

What is the name of the first super computer of
the world?

forgr & Uge! GUX HEEET T AT AT 82
(a) CDC 6600 (b) USENET
(c) COMODOR VIC/20 (d) PARAM - 10000
Allahabad High Court (RO) 11/12/2022 (Shift-IT)
Ans. (a) : 59 & T8 W FH H A8 ‘CDC 6600’
21 Tg FE 1964 § VYT F g0 faekli fpar mar em
Al dig AR wRte iR faene JenuT emer

FX G FPEL FEAM & | IRT H FoIH TR FFA

-2 g fosfid 9 8000 11

13.  From which generation of computers IC's were
started in use?

IC's T&HT A @t J&eld ford digt &

HUTE W EE?
(a) lst (b) 2nd
(C) 3rd (d) 4th

Allahabad High Court (RO) 11/12/2022 (Shift-II)

Ans. (¢) : &l 9 (1964 - 1975) & FFEged  #
I &t S IC &9 (IC - Integrated circuit chip) T
TN SR g3 Y HI H AGEIU G99 F T
[HIAT H SSI (Small Scale Integration) T 9 7 MSI

(Medium Scale Integration) 1 fershrd g3 o
IC Foa & gl selaie SUHUl, S ZifTee, Shie

T Hufe & fmir geva ga)

14. Who invented the first microprocessor?

GeUYHHE HT  ITersehiT
ferem feRam

(a) Vint Cerf /féie h
(b) Terence Percival 2% uftae
(¢) John Mauchly /St Hr=reft
(d) Ted Holf /2% &%
Allahabad High Court (RO) 11/12/2022 (Shift-1T)

Ans. (d) : TfdaT T B® H TUH HEHEMEE &
fershish & &9 § AT ST 81 1971 H g3 H 51
TOH WIEHINIOWR ‘A 4004° &1 G e wen e
FIT h &F § HI o &1 THY DS B F Hrged

F1 fmfoT Hva gan = AIgshl HPRge e T

Development of Computer

47

YCT



15.  The first computer architecture was introduced

m:
AT TITUTeR SMTfehe oo Ter a8 oIram Trem?
(a) 1970 (b) 1968
(c) 1971 (d) 1973
Allahabad High Court (RO) 11/12/2022 (Shift-II)
Ans. (a) : T8 R Afhea=r 1970 § fesmea fowan
T AT FHFEL SfhearR Fre fawen & fafe sew
T HST SR STqHeY §| e HPHEY SMfchaR B A
The 'GF1' &1

16.

The first computer mouse was built by :

g1 hIEEY HISH {ehEch GRT SITET 4T o1?
(a) Douglas Engelbart/STad TSieiae

(b) William English / faferss gaferer

(c) Daniel Coogher/@»\ﬁ'ﬂﬁ ERUR

(d) Robert Zamacki / Tad Sre!

Allahabad High Court (RO) 11/12/2021 (Shift-I)
Ans. (a) : 1960 & TVF H TN B Y AR
RT3t SNfsHReE STTerd USiaisTe gRT a=ren T/ o
e fow 3% 1970 # 1R o3 9 gam o

17.

Time sharing became possible in

generation of computer.

fere et o HreeT W WU siEd T Wy g T 82

(a) 1% /999 (b) 2™ /fgi

(c) 3" /gda (d) 4™ /=qd

Allahabad High Court (RO) 11/12/2021 (Shift-I)
Ans. (b) : 5w G’ & Fge § 999 dea (Time
Sharing) Y& & T o471 9 YEIT 1950-60 F I
§ gaT o1 SHOR W IWAN S A IeH war
Ahiiehl H A THARAT, TG STRIA S Ao TsafHT
e 21
18.

Desktop and personal computers are also
known as:

SRR 3T THTe HEX & wg A oft
EIERCIC RS

(a) Supercomputer/JaHFIX

(b) Microcomputer/qﬁaﬁw

(c) Main frame/59 Y

(d My-computer/tﬂ's:-av'ﬂzl?'{

Allahabad High Court (RO) 10/12/2021 (Shift-1I)
Ans. (b) : SHHT IR THAA HH ABHFZLL & &7
H S S § | AR B¢ IaH % Th gl et
T 2 T TH 9T § U & =E g7 s & fau
fesie fpan Tn 21 RS FUEX B €Y ¥ qHAd
FEet a1 fiTa-fag AgsmeE R aRa feary wa
ST 2
19.

Tabulating machine was the first

electromechanical machine developed by:
gom fomreter wnufEs (arfeent &g 95) @
feraa feramfara feram

(a) Herman Hollerith/gtHd gy

(b) Howard Aiken/gfae T

(c) Blaise pascal/ﬁﬂ RISETN

(d) John Napier/sI< AR

Allahabad High Court (RO) 10/12/2021 (Shift-II)

Ans. (a) : Yo e awoft @ (Tfaees 39) & 5o
gy 3 fopfa foram | aifersnt s = e et wefie o
fSTaept ST gelt IR 1890 § SR SEUMT ST Hi
grofiEg T & faw fpar e an

20.

What was the name of the first computer ?
TE THUEEX ohT AT T o ?

(a) UNIVAC

(b) ENIAC

(c) ABC

(d) MACINTOSH

Allahabad High Court (CA) 21/12/2021 (Shift-I)
Ans. (b) : T8 FFII F W ENIAC 911 ENIAC &
T AW o AR IR U FTR &, T8
TEEl M I TR HET ol

21. Which device is
computing device ?

HIA-TT SUHKUT Uk HIGhINEET  STemia
TR ST § ?
(a) Personal Computing/3TETa e (THA
HFLT)
) Mainframe/H5hH
(c) Workstation/dehe ¥
(d) Server/geR
Allahabad High Court (APS) 22/12/2021 (Shift-I)
Ans. (a) : THAA HYX TH HGHEEE SR
FfT feargq 21
22.  Which of the following is not an example of a
Micro Computer ?
Freraa o S-TT UTEHT HIRET T ST T
(a) Q-Bit Computer/ﬂ—ﬁ? EFUI‘[:‘@
(b) Personal Computer/tl'\cf:lﬁ Eh'ﬂ?[d'@
(¢) Laptop/a9era
(d) Electronic notebook/Seia e A2
Allahabad High Court (APS) 23/12/2021 (Shift-I)
Ans. () : T HPE, WU, SAERIHS Aed® o
Tt IS FF & I ¢ ok F-fe FEH Th
T B B
23.  Pascaline is also known by:
UTEReATS hl TR 3171 &0 | T ATaT 87
(a) Abacus/TsHH
(b) adding machine/sig arett #efia
(¢) Division machine/9TT H%H arell 73
(d) Difference machine/fSHid (37R) #IM=
Allahabad High Court (CA) 18/12/2021 (Shift-IT)

a microprocessor based

Development of Computer

48

YCT



Ans. (b) : ThaTET Hl Sied arel 939 & &7 § AT
S R T UH N Fif o frEeE
EhR seisT Uehed 3 1741 v # S 3R 2™ &
fera fopam ami

24,

First generation computers were based on:

(a) Digital/SifSiea
(b) Hybrid/gsfre
(c) Analog/THTEANT

(d) Microcomputer/ATEshIehFZT

Allahabad High Court (ARO) 19/12/2021 (Shift-II)

TUH TRV % HEeR foRe UX i o
(a) Transistor/ZiEE
(b) Conductor/Hea (ATeTh)

(c) 1C/3TEdt

Ans. (b) : EERE HHR TH FEART TN g S
T SR fERed Hreget & HidHeE § FHEr S 2
foem wieH gRfe ®FEeR & W Ffued, WRR
WM, TR 3R B da # fpar < 8|

(d) Vacuum tube/doqq =& (frafa =)
Allahabad High Court (CA) 18/12/2021 (Shift-II)
Ans. (d) : T SFRF & FF G0 @ T AERA
g1 TH FHH =@ F TN 2T NNRT F S e
Bl

29.

The first computer which provided storage :
g SHrRIet ad WIE (storage) o
(a) EDSAC (b) EDVAC
(¢) MARK-I (d) ACE
Allahabad High Court (ARO) 20/12/2021 (Shift-I)

25. India’s first
developed by

ORd W UEST W
J g am

supercomputer PARAM was

WIS WA (PARAM)

Ans. (a) : IORIH fodf ®RY 3MeMiEH Sherpeiel
(EDSAC) I Hftsre gfafdidt nfordia s=mmemen # sHrn
T o1l EDSAC gl SEgIieh el qdel &R S
TAFIS FFT 7|

(a) TIFR/T3TE TH 3R
(b) C-DAC/S-3%
(c) IBM/3TE o wH
(d) ECI/Z df o7
Allahabad High Court (CA) 18/12/2021 (Shift-IT)
Ans. (b) : 9Rd § 9B §R FIL TH (PARAM) TR

30. The operation of a digital computer is based on
principle.
TefStest wFex &1 dere fagia W

amenie §

(a) Counting/Tor1 (b) Measuring/HT9-T

(¢) Electronic/oia2i=ih (d) Logical/dfe
Allahabad High Court (ARO) 20/12/2021 (Shift-I)

FrFET ST (H SH) T AT
26.

Palmtop computer is also know as:

TTHETT THEHEX hl foRe 32T 10 | ST ST 872

Ans. (a) : fSfSed ST &1 G4 AT (Counting)
fgi@ | emufa 21 o® fefea fma o sem
(discrete) et W menRa B

(a) Personal computer/tl'{ihﬁ ERECCAY
(b) Notebook computer/:ﬁ'{% S
(c) Tablet PC/2aie . €
(d) Handheld computer/%gg?s’ HIFIT
Allahabad High Court (CA) 18/12/2021 (Shift-IT)
Ans. (d) : THRTT FFHEY F deice B o HET S
21 3¥ T GeAeTH F WG TWHS A S THA o,

31.

The first version of Unix was developed by:
T T TIH GERUT _ R foramfaa feram
(a) Ken Thompson/& &TeqE
(b) Presper Eckert/JoR Tshd
(¢) J.W. Mauchly/st. $5e9 Hiereft
(d) Herman Hollerith/g8tq+ gty

Allahabad High Court (ARO) 15/12/2021 (Shift-1I)

AR I8 T T BT ¢ Fh =9 &1 § Teea of R
T 9 R ST Heha 2|

Ans. (a) : I F TIH TEHOT 9 AEF (Ken
Thompson) & faehféd fam i

27.  Seismograph is an example of:
TS ST &
(a) Analog computer/TATANT HFFT
(b) Digital computer/fefSieet HFeT
(c) Hybrid computer/gTEfsie HreeX
(d) Mix Hybrid computer/fie gEfsie HreeX
Allahabad High Court (CA) 18/12/2021 (Shift-IT)

32.

Which is the world's most powerful Super
Computer?

fova =1 wa@ wIfwITC YU HEEET i T €2
(a) Tianhe - 2/f@T=R-2
(b) Fugaku/%T%
(c) Titan/2Tzed
(d) Vulcan/gehd
Allahabad High Court (ARO) 06/01/2021 (Shift-I)

Ans. (c) : GG UH TRHE B H ISR §
FHif 3T e IR feled w2 A F T
I B 2

28.

Which types of computer are used in hospitals
like ECG and DIALYSIS?

fore YR & wreged o1 SuE fatwarerEt §
gHish., iR grenfafaw & fow grar €7

Ans. (b) : T T fopedt ¥ fay & =9 wiiwemel
YUEH FF (Fugaku) & ST ST g1 Fffd 442
pflop/s T arem g1 adam # (S 2023 & IFER)
H (Frontier) fo &1 Tad wIfRtbemel JoaHT=El 2
S USA 3/ faffa 1.194 Eflop/s (Exafloating of point
operations per second) 2l
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33.  Speed of first generation computers was in:

weorm it o Wt i e off|

(a) Nanoseconds/A1d%s &

(b) Miliseconds/frefidse &

(¢) Nano to miliseconds/A1 & fircfi@she

(d Microseconds/ATgshigehs |

Allahabad High Court (ARO) 14/12/2021 (Shift-I)

Ans. (d) : Teehl fIf & FPX HAWAR W Fesd IR
50 1 SUANT W FM H 4 R gl qihe &
®] F S S 21 9 TRRM M emmaR W
HTEhidehey # aArdt ST off frgeer a1 @ ol el & qu
#H § HA9 1/1,000,000 a1 T b B & g &
Setd off | g9 T 32T ENIAC 21
34.

Which of the following is India's first multi-
petaflops (PF) Super computer?
frafafad § 9 &H-U1 9Ra & Y90 §g
(WY ) YeTUATe (Ui ) GUT HIeR &7
(a) PARAM/®H
(b) Pratyush/5cqw
(¢c) PARAM Ishan/TH 919
(d) Tianhe-2/f@TR-2
Allahabad High Court (ARO) 14/12/2021 (Shift-I)
Ans. (b) : 9Rd # fohfid agd & weieds ot
W 21 I8 Ush A IeToeld ol HPe § o et
A & T - A fage SR SeEry e % e F,
mwﬂz‘rmaﬁ%ﬂﬁmﬁ%@%mﬁqmw%
T e T IR N TRl 0w R FR
a1 St F T F &7 # Hewyul M fRar o
AR T 7 3 e feem -2 e G
A ¢ a1 FE T 9T § 7 2
35. Which of the following is the smallest and
fastest computer imitating the working of the
brain?
frrafafaa # @ s a1 ufdss o 99 forr o=
I T T FAIHAT WA Gl TYAH 3R
teraw T €7
(a) Super computer/gIT HFFX
(b) Quantum computer/3FieH HFH
(c) Param - 10000/9%H - 10000
(d) IBM chips/3TEsy faeg
Allahabad High Court (ARO) 14/12/2021 (Shift-I)
Ans. (b) : FaieH FFX URAS FH FRVUTA H THd
T Al T SR A R ?1 T UH U
SUHT & ST FcH-Aehfviehel SIS S R
TRTEHE P HIFET FAT 81 TH BT R W
AR are fefSea soraeife et o i g )

(c) Difference engine/f%"ﬁ?? ESC
(d) Analytical engine/THTTeifeshel g5
Allahabad High Court (ARO) 14/12/2021 (Shift-I)

Ans. (b) : 39HY (Abacus) a8 AT Rebfe fepam o
T uRebe SR 2| FH TG TH WA
FIARET IUHWT & ®Y H ITAN AT S AT, TR
ag T 5000 a9 qd SeeltEn (3 50e) § faarg
feam i
37.

Artificial intelligence is an example of:
EaE i | - S T Uk ST 8
(a) Second generation computers
faeita didt gt
(b) Third generation computers
T d d
(c) Fourth generation computers
aqd 9 FoT
(d) Fifth generatlon computers
giat digl S
Allahabad High Court (ARO) 14/12/2021 (Shift-I)
Ans. (d) : TFE G F FEEeR EfRREe o
(AI)WﬁW@%%Wﬁwﬁﬁmé
¢ 7=t A e e ok died % forw e fen
ST 21
38.

A microprocessor is made of millions of:

Teh AEShIAET 38 org ( faferss)

fafifa g &1

(a) Registers/Tﬁrl'{?\cf

(b) Transistors/Zifvr=d

(¢) Microchips/ATgshifered

(d) Program counter/STETH H1ET

Allahabad High Court (ARO) 14/12/2021 (Shift-I)

Ans. (b) : T% UEHMEE /@l iRed, SEE 3R
Fufred oz § a1 A 8, 9 eI, AT
a7 didig % A9 F S S 8
39.

A hybrid computer is the one having the
combined properties of:/Uch TEfIS WUt a8
E3S 11 TIh Tagraarsit are grar €1
(a) Super and micro computers
R 3N HEH 0T
(b) Mini and micro computers
forft 3R ArEsh ST
(¢) Analog and Digital/TATelT 3 &Rt
(d) Super and mini computers
IR 3R ol g
Allahabad High Court (ARO) 14/12/2021 (Shift-I)
Ans. (¢) : T Eh'm‘{aﬁ 57" Analog Computer 3R

36.  The earliest known calculating device is/SRT¥e | | Digital Computer @1 & o (faremaisd) 1 THEw=
TREHAT STRT & A ... ! ST T B | (@, SEfE (Hybrid) $7el Fgar 21 59 HaeH &
(a) Calculator/Hagaex I sRiee WYl 3 T 73 2w |y s
(b) Abacus/Tsehd W 2
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40. The third generation computers were made

with

et fidt o ey 59—

(a) Biochips/araif=req

(b) Integrated circuit/Tehighd IRIY

(c) Transistor/ZifS&

(d) Vacuum tube/fafa g

Allahabad High Court (ARO) 15/12/2021 (Shift-I)

Ans. (b) : TE didt & FreX HiFT URUY (Integrated
circuits-IC) ¥ a9 91 IC fafesia (srefares gl 9@
Ffs uferdied wita @ €1 yem fid F Frger
fafd 99 (Vacuum Tube) 3R f5da dd & wmgex §
ZI2X (Transistor) I SEINT BT T
41.

The basic architecture of a computer was
developed by who of the following?
frrafafaa o

foroe wmER @ g
sTfehe o ot TamtuT feRa?
(a) Blaise Pascal/soIST qTeehct
(b) Denis Ritchie/2f R=t
(c) Garden Moore/TE= 1@
(d) John Von Neumann/Sii- ai- ?fi:f
Allahabad High Court (ARO) 15/12/2021 (Shift-I)
Ans. (d) : P F A AfheF=R &1 fmfor ST
CIC] ?f}:f (John Von Neumann) 7 f&ar o1 =@
R Uh ©RE T SR WAy 8 v
T 3R 22T F TH NN WY Afe § Hafed fma
ST @ 59 w9 e €)1 dera e @iy F e &
o B 8 ST U et 9, WL e B et 2

Ans. (¢) : Ta¥ Ul HFY (The foremost vital

computers) ENIAC (Electronic Numerical Integrator
and Computer) 3N UNIVAC-I (Universal Automatic
Computer-1) & &% UNIVAC 3 & v g
TEIRVA FeFeie HEL A1l UNIVAC-1 & USA #
ENIAC & STf=hRs J. Presper Eckert 3 John
Mauchly g0 IESiEGRERIKEIRI

43.

Which of the following is NOT a component of
a Turing machine?/fF=fefaa ¥ & &9 =R

v AT Ueeh e &7
(a) Input tape/3T4E 2
(b) Output tape/3TBYE 27
(¢) Control unit/fa0T gH1E
(d) More than one of the above
IR § ¥ UF ¥ s
() None of the above/3u® ¥ | HIF Fai
BPSC TRE 3.0 Exam-2024 (11-12)
Ans. (d) : 2T 7Y F qEAG: 7 SeH & &9 § g
e < & |
1. afeeerstl &1 gRfd 998
2. 392 Wil 1 IRMHT 98
3. 29 W%
4. gRfe ST
5. 3t STaEs F1 T
6. 392 o foru sifw Akt & 9 § ST fRT I a1
& &6 T
7. Ueh HehHUT A7 AT heR
m:é&;ﬁa{ﬁzaﬁ(wﬁa{ﬁnmﬁ%m
B

44. Trfafaa ¥ 9 few ate 3 €8 wam &t
o e STALTUT ST JTEITTT i 7
A (a) Sophie Wilson/drs! faegm
- (b) John von Neumann/Sita 3 =i
T el (c) Judea Pearl/Sgfean oet
ez [ (d) Claude Shannon/FaTge M
%l(:) L UPPCL Executive Assistant 29-11-2022 Shift-II
: 7 UPPCL Executive Assistant 22-11-2022 Shift-11
U Ans. (b) : IS JAM H FURIT HN Jfqure 4 ar
. AT (John von Neumann) ¥ & 1945 # fan sg
U J He #, fide et ger (Fe W e @ & §) aF
. 45. TUHT AT AT €, T §eE @ DARPA X
1/O A=A ferarfaa feram aml DARPA T JUT &0 SITG|
- a) Defense Active Research Projects
EFW{ET(W)G?[W ()Agentmmﬁﬁmﬁz :
42. Name the first general purpose electronic (b) Different Advanced Research Projects
computer: ) Agency/FEiba Td R Sro TR
TR | ?,i'sﬁtr Wﬁiﬁ RIS oAl HTH: (c) Defense  Advanced Research  Projects
(a) ADVAC (b) ADSAC Agency/fSH Teaite REd deeey wE
(c) UNIVAC (d) EDVAC (d) Defense  Advanced Review  Projects
Allahabad High Court (ARO) 19/12/2021 (Shift-I) Agent/fEHH TEaite R deied Tsie
(SSC (CGL.) 2011) UPPCL Executive Assistant 28-11-2022 Shift-1
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Ans. (¢) : DARPA =1 Tﬁ ®Y9 'Defence Advanced
Research Projects Agency' (549 tsaie Rud oy
) T 31 TR TH SRS TR A i 71 T
srenfe 3R fagm @ dmei @ fEr s & fae
FHYE 3R e uRaeHet @ daR SR Rt
A &1 THN JH1 S 2 6 See B DARPA F famfe
fepar e

46.

Who developed the first mechanical calculator?
R =it uRerere ot eett an e fera?
(a) Charles Babbage/ﬂl?@f EEE]
(b) Blaise Pascal/=AsT TRahet
(c) Ada Augusta/TsT 3T
(d) Herman Holorith/gtH gy
Allahabad High Court (APS) 23/12/2021 (Shift-I)
Ans. (b) : HHTHT FAFA B Tl IR oA TR
forefa fopam om1 1645 S, § Ut 3 37T o wRfe
FUI T G 18 U H T ThAIE TRV HaTl 1645
T, Thdl WA § IR W &M Hd 9, S grhers
g1 ST o7
47. Trafaftga o @ feg widd wfes i it
AT URheT (Blaise Pascal) §RT fareftra femam T
a7, & Eﬁm "9 ( Arithmetic Machine )
& B0 T off FT e §?
(a) Abacus/3T9%d
(b) Pascaline/9T&heiigd
(c) HHYT N YRhelrs a1
(d) T T T 3R T &§ ez
UPPCL Executive Assistant 28-11-2022 Shift-1
Ans. (b) : UEhel & helpeied FHAORE HA A
Uhellsd (Pascaline) & &9 ¥ ff ST S| 21 3H
il TRTY 3 it sisl 9 (Blaise Pascal)
SR G 1642 | faepfyd fopar mam an
IHY T TOfe STHToT B Forrehr Syt et & forg
fepam T &1 THH ITA A ®Y § WS ¥, O K
T % fore fepam s 21
48. T o @ @ W-S% (C-DAC) Rt fffd wra
T UEAT HTT-TeheT GUTGTIET HIHT STl &2
(a) PARAM 8000/9 8000
(b) RARAM Yuva/9%H FaT
(c) PARAM 10000/9%7 10000
(d) PARAM Padma/TH T
UPPCL Executive Assistant 25-11-2022 Shift-1
Ans. (a) : T 8000 H-8% (C-DAC) g1 1991 § ffifa
9RG F TR MM A W FPE TAT S E 178

el gm Frged 1 U 9l 2

49. Who began developing the first mechanical
computer in 1822?

1822 U Ugel Hehf-rehet shrwreX fera fersmfara
T Y fewar ar?

(a) Charles Babbage

(b) Ada Lovelace

(c) Herman Hollerith

(d) Joseph Marie Jacquard

UPPCL Executive Assistant 24-11-2022 Shift-11
Ans. (a) : Hohf-eheT HPeT HAMLH 1822 § Charles
Babbage 3WI fashfad foham Tan on| =@ goiaifeh
UZH o aemg wtel 3R fiRR 9 =ity ueen °@
forfefe shreger €
50. RIS e fsargd W ¥ U, TATAeeh g9

w1 frmtor feraer ferar en?

(a) S frer (John Napier)

(b) =T BARY (Herman Hollerith)

(c) AT IR (Blaise Pascal)

(d) 9T S&9T (Charles Babbage)

UPPCL Executive Assistant 21-11-2022 Shift-11
Ans. (d) : TIARSA o o1 iy =red das 4
o | SIS Whal o TRl hetdpete TR 1 T fepa
S AR eRemHier &1 fasER fFAr @ wem
fefea Ahfrhe herpeiet o
T RS 4 U9 FE F TH FOFRARARA qART
A3 1 i fepam o
51. In 1950, a mathematician and a

computing pioneer, proposed the 'Imitation
test".

1950 ¥, U&w TR S HOIET U,
= “ZRYE TR @y @l

(a) Alan Turing/Teid E@ﬁﬂ

(b) Geoffrey Hinton/samsh! f&ea

(c) Tim Berners-Lee/feH -

(d) Vint Cerf/fde g%

UPPCL TG-2 10/11/2023 (Shift-I)

Ans. (a) : Tad IfT U ffewr nforas, @ifiss ok PWas
T 4 S Fre fagE & g e S §1 =
ZIfoT e 1 enfashr fhar @1 e SR A 1950 §
YT S H WA &
52.

Which of the following components was used
for logic circuitry in the first generation of
computers?

frefafaa § @ fore o2 w1 ST huge @t
TN TR T AfTeR \fehedt (logic circuitry)
o forg femam an?

(a) Integrated circuit/Tehighd

(b) Register/ISET

(¢) Transistor/ZiEE

(d) Vacuum tube/fafa et

UPPCL TG-2 7/11/2023 (Shift-I)
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ans. (d) :

BT TR FIEAIT Rl SUART

Tl TRIE - I =

T S - TaiHa |fhe (IC)

Hteft SRIE - ISR

e SRIE - smfefefra fefasia (AD
53. EDVAC stands for:

EDVAC &t 31ef &-

(a) Electronic Discrete Variable Automatic Compiler
Tag i fEuhie aRuee sficifes HEer

(b) Electronic Discrete Variable Analog Computing
TR feuhie aluaa TAmm Fefem

(c) Electronic Discrete Variable Automatic
Computer

ol fehic aftuaa sfiemfess Hwex
(d) Electronic Digital Variable Automatic Computer
seag it fsfiee aRuae sficmifes Het
UPPCL TG-2 17/11/2023 (Shift-I)
Ans. (¢) : ENIAC (Electronic Numerical Integrator and
Computer), EDVAC (Electronic Discrete Variable
Automatic Computer) 3R EDSAC (Electronic Delay
Storage Automatic Calculator) X I geel didt &
AT §1 ENIAC Teal | YaisH Womwane &
oar, o e fre 98 & <R dvEn wERT Sad @
T S H GG e IR ¥ fafaa fhar wa em

54.

Who developed the 3D printing technology?
frafafaa & @ 3D fiiféT aodter @t foRee

Tarerfra feran?

(a) Charles Babbage/ﬂ'l?x‘:f EEE]

(b) Charles Hull/aTed gt

(c) Scott Crump/&hie e

(d) Emanuel Sachs/THITT gy

UPPCL TG-2 3/11/2023 (Shift-I)

Ans. (b) : 3D fiféT @1 wfefea = ST CAD #fsw
¥ f-smandt awg 1 famior @1 59 fafe= wfwensit § foran
S & fored g @ sreger feE & qed s feen
ST 8, SISl Sl @ A1 319 SEn S 21 3D e )y
3RO 1984 H A" g (Charles Hull) )T 997 & T8
| ae § 32 3D fyeen Sud # ge-rre &, R
3D fifEn i & fompra & wewqul sftrer oo
55.

In which of the following countries was the first
Electronic Numerical Integrator and
Computer, the first programmable general
purpose electronic digital computer,
developed?

YEAT WTHe W Uis golaei-eh fefieed
ey, frAfafiaa § & fee qor # fawfaa
Terar T o?

(a) China/94

(b) United Kingdom/gTges fhmew

(c) Japan/SITard

(d) United States of America/Hqh T STHRE

SSC CHSL 21/10/2020 (Shift-I)

Ans. (d) : TS IASLIH ARG T US FFA
(ENIAC) @1 Ugell WHad SRod qusl  3oAieh
fefiea et & W@ U7 smfa 3 fasfa foear o
ENIAC & 3ifg=hr sTftst dafs o @ wh g o7
Tl T fFar onl gewew 39 B 1 YA gRgied
I S M0 2 fRAT TN ENIAC UgEl S |
IR (SRA qUS) g fefiiee s 21
56.

Which of the following is not a
computer?

o ¥ A AT YU hEgeT T E 2

(a) EKA/TH (b) PDA/GEIT

(c) PARAM/TH (d) Cray-3/%-3
RRB NTPC 05.03.2021 (Shift-I) Stage Ist
Ans. (b) : §R F 3T HUAH B Fgl o 8, I
FAAE T TMO-wIRE S efern ffe erwar, e iR
oY A SR & AT B ¥ e debeten
¥ 9% R HER ag7 ag-a¢ URehad iR s
TS A § HT GohaT B 1 TH, T, -3 IR B
g1 PDA TH fom1 #-aiE &1 derge feasy & R
T 1 ARGTA e Yaus b &9 § FrEd BT S

super

57. UR&%AH (hAgelel) i Seurd g
ofti
(a) TIES & (b) fewig &sm
(c) 3T (d) 37T

UPPCL ARO 13-09-2018
ns : (d) FAFAR F IAN ARG F g A | AR
TS HhiIohel feaey & fee Suan i geeh worm
FH & fau e s 21
58. Folaii-ich ShTEX ohl STTUSRR TR feRa?
(a) WA (b) TEA T, S
(c) TS AeH ad  (d) @red s
MPPSC (Pre) G.S. 2005-06
MPPSC (Pre) G.S. 2000
Ans : (b) THFRIS HFELT F TR Teld TH. ST
3 foman o, Sefh Wbt 4 WeAr @ ewfashr fRar on
Tdeiel TE9 ad 9 Joi%iH T Uel afede d

HESHIBH T EHR fBam a1l

59. Which of the following is the first generation
computer ? U 9 i 9T ggelt et
T HEEX &7

(a) STAR 1000/=R 1000
(b) ATLAS/TzaH
(c) ABACUS/31%d
(d) SEAC/qus
RRB NTPC 11.03.2021 (Shift-II) Stage Ist
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Ans. (d) : f9U& (Standard Eastern Automatic
computer) Tgel didt &1 geraeTe HgE o1, 9 que
IIHA A 3% LW (NBS) 5RT 1950 § aaman
a7l IE H T T AMe 0 SiaR" FrRy F@l S
o, FF I8 TH DS T F Fr o, T & #
ST T SR e § e e v

Ans : (¢) T8 HTLL A F 9T Gcd o B &
S 81 B (s @ fawm # wem wEg 194
YA H AT S 5N IS b FHERT & 35avd ¥
TS I & fuior & ®9 § fFar T A8 3T R
YER F 47 AT, EF geEa: fF 9 §UES (store),
= (mill) 77 =6 (controller) &1 & &1 T oI

60. Vacuum tubes were replaced by transistors in:

FRIH T, TR | TR ha T
qH—
(a) Fourth generation computers/ﬂ%?ﬂ Gt Y
(b) First generation computers/Jgcil gl HFII
(c) Second generation computers/aflf[ Gt
F
(d) Third generation computers/dTed Gt HEIX
UP Police (Computer Operater) 19.05.2016
Ans : (¢) T T F PR | d9gH =@ I i
T TEIRA o T o
61. wed Sew g fesga feram wean wem anfeaen
IS THEEATAT AT-
(a) TIHT (Abacus)
(b) TAAfEHA §5 (Analytical Engine)
(c) e (Calculator)
(d) SR (Processor)
Uttarakhand RO/ARO, 2016
Ans : (b) e 7Ty =ed a9 T ad 1822 # fRwiw
9 &1 TSR fFar 1842 # A1y da9 T U W@
TRl S5 oM@, S e & feen fesi W
SER HE HA A1 TAT AT HHUME O H
Hehdl AT
62.

The first mechanical computer designed by
Charles Babbage was called?

el Se gRT fewg feram o ugen witsen
HEeX fRE AW | AT S 82
(a) Analytical Engine/UATcifeehel g
(b) Processor/TEH
(c) Calculator/aa_ci@?{
(d) Abacus/3T8hd
RRB NTPC 21.01.2021 (Shift-II) Stage Ist

FHEY A T o, W I Hrge fmfor &t faen §
it T o &
64. Tt ¥ & frE wafed @ ‘& &

&' % BT W AT AT §?

(a) =Ted slest (b) fom =44 <

(c) fhfera s Tfes (d) o= Tiifker=T

Lower Exam — 01-10-2019 (Shift-I)

Ans. (a) : TcH doSl H 3d% MR A 1837 ¥
(Analytical Engine) fa¥cioumetss $519 &l {aumoT & a8
FAET & @ A S 21 faveers d99 F us
ST T B (ALU) T 518 Fe0r 3R wshisha
foreciooTeT® 399 @ f99 & Ted WM AN S
YR &% &Y H @rTd fohar o
65.

Who is considered the father of computers?
HETET T T fehdl AT AT §7
(a) Charles Bachman/=Ted EERC
(b) John Atanasoff/SiH TZATE%
(¢) Charles Babbage/aTed EEE]
(d) Alan Turing/Tei SfaT

RRB NTPC 08.01.2021 (Shift-IT) Stage Ist

UPP Computer Operator 21-12-2018 (Batch-01)

RRB NTPC, (Shift -2) Online, 04.04.2016

(UPSSSC Lower 2 2015)

MPPCS (J) 2014

UP Lower (M) G.S. 2013

(Utt. PCS/Mains/2002), (SSC - 2010)

S.S.C. Hifean wie udia, 2008

Uttarakhand UDA/LDA (Pre) 2006

Ans. () : P IR e 99T & FFIE (compute)

v @ foram e @ frgenr o g & o e srfa

T BT (TTUTH) FET ST @1 B H SF Al

AT H WA S R A oo 7 B FT SAETHR

T 1822 # fFaml @ =¥ 3®H W Fge @
IR foham 3TaT A 3+ fewiled 59 W@ o)

Ans. (2) : Analytical Engine (facmumes §59) &
TgA FFE HAT S 7, o 1od veedt # fafew
Aferhieh =Ted aoel g0 fooied fham T o1 g9
oot & wh weg (SRemls <R ghe) iR
e somfes yarR e @ A e e an 39
T TSl 1 STANT ik WA fRaT T e
63. UEAT SHITET SIATAT AT AT—
ORESRICEAY (b) forer faede g
(c) e dest g (d) HrHH gRT

UPPCS (Pre) G.S. 2007

66. ENIAC, EDVAC, 9% ---- Wigt & &wel &
TR
(a) T (b) 5o
ORESIE] (d) =ieft

UPPCL Executive Assistant 22-11-2022 Shift-1
Ans. (b) : ENIAC, EDVAC, UNIVAC, IBM-701 and
IBM - 650 Yo Hidl & FFe & 3SR 81 Th doH-
=@ Fe o/ geelt Wit &1 FFe F@r S 2|
Tg TF UH HER g S olife Giehedt F fu deem
T FI TN HIT 2
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67. T TH AR § HiURe JFIWaT & forw
fesrgw fovem oM wgem WETH-SEYE @TelT
TS~ fefied et (electronic digital
computer) F=feRaa o & s=-|1 2ar?

(2) 73 7=

(b) IR 7Y (Turing machine)

() UNIVAC I

(d) ENIAC

UPPCL Executive Assistant 23-11-2022 Shift-1
Ans. (d) : ENIAC (Electronic Numerical Integrator and
Computer) gell Z HFEL ATl SR
aferssR URreafar fyaframem & o, JeR TR sk S
Tt T 1945 €. fpar maw o)
68.

Electronic Numerical Integrator and Computer
(ENIAC) was first binary programmable

computer bassed on .
e g s
T MR UgeT  Sgl

kN [N

(ENIAC)
WTHE Shgey ol

(a) Blaise pascal's concept

(b) Von Neumann's architecture

(c) Charles Babbage's architecture

(d) Turing's machine concept

UPPCL Executive Assistant 25-11-2022 Shift-11
Ans. (b) : a= bR =IE M Hel
FHE W AR g, Tl é@m 82T R MW g

w & WG § WR 6 9W 51 cemE ShRed

WQW(ENIAC)W@HWW
STERT TRl A TTHae FPRET |

69. fova &1 worm gotaei-e fefiee e B—

(a) THTH (b) fosrd
(c) WA (d) @
UPPSC Asst. Forest Conservator Exam. 2013
(SSC (CGL.) 2011)

Ans : (a) {99 & v goaeie fefSea Frey s
of & (ENIAC- Electronic Numerical Integrator
and Calculator) 1 SRR 1946 # 3R& awfs
Sodl, THS (J.P. Eckert) @91 S 4 W (John Muchly) J
T HEr % foe fFar an

70.

The name of the 1st electronic digital computer
of the world is:

fefee wreres &t A == 2

(a) ENIAC/SuATEudt

(b) PROLOG/ T

(c) PARAM/TH

(d) UNIVAC/JuAsTEdTdt

RRB NTPC 01.04.2021 (Shift-I) Stage Ist

Ans. (a) : ENIAC (Electronic Numerical Integrator and
Computer) g+ T Ggell HI 911
o st SRt RafaeE § 3. JeR e
AR S HiEel T 1945 . H fEar o ag omRaY T
SR fEsme foam TTam o1 STt Ugel AT gEgie o
T % forg feRar T

-

71. ENIAC, the first general-purpose electronic
computer, stands for:
qUH  AHTA-FENTE SAeRie hEEy,
ENIAC T Uut &0 == €7
(a) Electronic  Numerical Integrator  and
Computer
o =HRHA R TE HF
(b) Electronic Numerical Integrated Automa’uc
Computer/AT e
sffemfes HRR
(c) Electronic Network Integrated Analytlcal
Computer/3a =
THIfeAfEsher HeT
(d) Electronic Network Interactive analytic
Computer
RRB NTPC 07.04.2021 (Shift-II) Stage Ist
Ans. (a) : YW UERI - VAN Soieiee SRR,

ENIAC & T 99 ‘Soaive Jied R e Fev
(Electronic Numerical integrator and computer) 2l
72.

The first electronlc digital computer was built

in:/TgeT TefSteet dhwrex s=man & o

(a) Cambridge University, UK

(b) Bern University, Switzerland

(c) University of Pennsylvania, USA

(d) MIT, USA
UPPCL Assistant Accountant 24-02-2022 (Shift-1I)
Ans. (¢) : ENIAC (Electronic Numerical Integrator and
Computer) (T &I Teell soierel-eh fefseer Hrge ol
fooen snfespr e faafeaea § . SoR
T S HEE T 1945 E O R o1 g SWRE T
SR fEse o T o1 ST Ugel AT gRee aH
o o few feRar
73. In 1642, the calculatlng machine was
introduced by........ /1642 W, UReAT-IT Hhi

b L7 A g s o
(a) Adam Pascal/TsH UrEhct
(b) Roman Koheller/TH HEeR
(c) Joseph Mark/SITH% @1
(d) Blaise Pascal /AT qTEhel
UPASI 04.12.2021 (Shift-I)
Ans. (d) : TEhaeA, 5 it weie o wer S g,
A hAged A Sred aren wefA off | aRersd &
1642 3R 1644 & o= B TomEg-awie o

e g fese e i frar e e
74, wEd o IfoeRR ¥ frefeiad § @ @
g 87
(a) Hebftrer (b) TmTTEw
(c) ufewd (d) st
S.S.C. ueet SRt udtat, 2014
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Ans : (d) FO F AETHR T Aed da9 Geifed €
TrEfeper % SAMIERR ¥ Freferd 2
75. EHA TRY I IO AT Rew H gutar
T it 3R Tg WY ferentae whi-
(a) TATARSHA o (b) YHH TR
(c) 2T FH (d) 3TEH & § FE

S.S.C. €gh HIdeh & (Tier-T) Tiiem, 2014

Ans : (b) TG qeiet AR A1 g BeRY T
forpita mefieT 21 =8 welie efiften & SHoEn & wedm
% forw 1890 & AR T ot

76.

£ 2 ST 3Tfersah Y e T em
(a) Evanglista Torricelli/ wafeRT SR
(b) Charles Xavier Thomas/3Ted SfqaR 4iag
(c) Edward Teller/Teag e
(d) Gustav Tauschek/T&Ie LiIENE
(SSC 10+2 CHSL 10.01.17, 10 am)
ns : (b) IR & frsHr 1820 F =y iR
I €t HIGER g fhar M| T gom fRied dehfehe
FAFA |
77. Ut swgex yunferat s o Rt fave &
frder @em ¥ ww € Wi (AE) TR A
WS wAAt § HIOET U¥ ATenia gt g
(a) ¥Ee (Harvard)
(b) s (Babbage)
(c) ¥ (Knuth)
(d) 3= ?{EF[ (Von-Neumann)
UPPCL ARO 13-09-2018
Ans : (d) “TF A TfRSFR H 37d felt off dadia
e Rl § 3, Pt deeE iR s
SRYA TH & G9g § 7L & Goba1 ¢ HfH I TH B
o H SO T IR B 7
78.

With respect to the first digital electronic
computer, what is the full form of ABC?

go fefiedt soaei~e el & dayg ¥,

ABC T Ui €9 =T &7

(a) Atanasoff Binary Computer/TZHMEIG SEAd
P

Arithmometer was invented by/2TRermieT | | T&d

.............. gave stored program concept in which
program and data to be processed are stored in
the same memory.

ferom Tufea wrdern & staumun &, R

HTdeRT ST GOTRIa feram ST aTetr S1eT Ueh &

Tt o wufe feRam Srar 21

(a) John Von Neumann/Sii9 aiq zg-&l:f

(b) Alan Turing/Teld T

(¢) Charles Babbage/aTed EEE)

(d) Bill Gates/fsat Te|

(RRB JE (Shift-2), 29.8.2015)

Ans : (a) ST aF <A 4 AL S P STTEROT B
% & T § dada fear S @
80. WA W UZAT SHFEET gl TATiua feharm T ar?

(a) WA Srenfires gegm, faoeh

(b) WA f4EH §eH, SR

(c) T 3 e Ed Hul [, TR

(d) YR HiReTh TEIH, Herehdr

S.S.C. Gk Faeh W (Tier-I) THia, 2011
Ans:(d)wﬁa—chm 1952 ®, 9RdE Hiferaht
TH, Hedal § TIAM HFET H T HF TS| 3H
Gug ARA fagm e, Wﬁﬂﬂ@ww
Tfua fopar 7o arae § Hreed g7 &l arsdfas et
1955 # g%, S WNAT Wileas eI, sHorhal § g9W
gt fefSed F@et HEC-2M w@nfia fea e
81.

Where was the first computer in India installed?
AT # GO SIS Hel gioedntid (§eeten) T
T=?
(a) Tata Institute of Fundamental Research, Mumbai
(b) Indian Statistical Institute, Kolkata
31:5"?4? A TR Y S{dld?id EANEARI
(c) Compunational Research Laboratory (CRL), Pune
o daRedt (CRL), 01
(d) Indian Railway, New Delhi
(UPSSSC Sugarcane Sup.-2016)
Ans : (b) YR § ¥I¥ HrPE IR GiRsTenl T
(3TE.TH.3TE) Hietshral # a9 1955 & Tonfuq fopam
Tg S % el TRTET F ugen T Hrgey o

(b) Analog Berry Computer/TATANT ER HFFT
(c) Atanasoff-Berry Computer
G- FFeR
(d) Analog Binary Computer/TATANT aTgd S
UPPCL Assistant Accountant 22-02-2022 (Shift-I)

82.  Which was the first electronic digital computer"/

TR FAa (e TSfTeet HEeX @I T o1
(a) PASCAL (b) ENIAC
(c) EDSAC (d) IBM-PC
UPPCL Assistant Accountant 24.02.2022 (Shift-I)

Ans. (¢) : Y97 fefiea golaeie HP=et il TeHMIG-
I FX A ABC el ST oT1 g difqehl & THE
S fofle TEHEE 3N 3% was oF, Fwe o g
1942 ¥ (EET R Hias § o 73 o1, [ e
I W FERidt % T8 § S S 2

Ans. (b) : g g fefied F™Iet ENIAC @
g g A selagife gARed I U B 21
F John Mauchly iR J. Presper Eckert 5/ gt forg
g5 & I S T RSl SEW And QE-339d

g fefied Frger 2|
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‘Fifera afer’ (Integrated Circuits) 390 &
o wmroget it & Heig 37
(a) e it ORREERIE
(c) =eft it (d) 3HE b
RRB NTPC 18.01.2017 (Shift-III) Stage 11!
Ans : (a) Fﬁﬁfﬂ 9R9Y (Integrated Circuits) dT& digt *
# s fear Smr on, fSod gl sdae
ELCU] @?ﬁ Ziferee, SRy sk Hefe T R f W
9 B 8-
wom didt & FFEe - fafd 2@ (Vaccum Tube)
{Flf[ G & FRIIT — TS (Transistor)
et didl % ST — IC (Integrated Circuits)
=t e F FrEET - VLSI
gfedt fidt &% FreT ~ULSI
84. 1965 to 1975 was an era of:/1965 ¥ 1975 U& I &
(a) Fifth generation computers
FI FH qradl T F
(b) Third generation computers
HAL H g diel
(c) Fourth generation computers
Free & aqd dd &
(d) Second generation computers
Frged & faedta didt =
SSC JE Mechanical 27.10.2020 (Shift-)
Ans. (b) : F FH FaF dE (1965-1975) § IC
(Integrated Circuit) T BRI G B 1 B I s
31ITq Ui Hfehe o1 SMTHR SHFAE TLHS BT &
T SRR S et 3 fear o1 39 6 b prged §
1CL-2903, ICL-1900, UNIVAC-1108 #R System-1360
é|ﬁ$ﬂzgiqmqa@?ﬁaﬁ%ﬁ%m il
AR T a5 | goh 3N 31fereh fwageig 1
HIFST A {ohd UIGl | I o forq Aitreh
(Fehf=TgheT) TS ST JET fekarm wram om?
(a) Tt (b)
(c) il (d) e
RRB NTPC, (Shift -3) Online, 12.04.2016
Ans : (a) FF N ggel W F Wl % forw @it
(Hehferehet) WTST T ST fahar w7 o
86. In which city is India's first Post Office ATM
opened? e U URA T Ul SThEr
T3 U, Gt T 2
(a) Chennai/a=T¢ (b) New Delhi/7§ et
(c) Hyderabad/R&s1E  (d) Mumbai/q=
(SSC CGL (TIER-1) 04-09-2016, 10 am)
Ans : (a) 90 & U8 SIH TILTH 27 HEEd, 2014
H . TR, I9E § G T4 91

87.

83.

85.

An electronic digital programmable computing
device, that was used to break German ciphers
during World War II was called............. /Teh

TAGE-eh TSiNTest W ara sefe feamsy,
e swem fidfar fog 95 & e S
g I UgH @k fo@ feRem Tem em, S
.............. hgT WA &

(a) Analog Computer/TATAIT sheT
(b) Super Computer/qH HH
(¢) Difference Engine/fS®=g o
(d) Colossus/Hiaraq
UPASI 04.12.2021 (Shift-IT)
Ans. (d): 5T B9 35 F I T Teora FI T $ foIg
FAET (Colossus) 3RS fefed Tomwae feag &
ST e T o el e g IR B AR o
TeH IR (Alan Turing) 5 HEE (Colossus) AW
FE IO AW B B b T fesTe A or it S
& T G F OGO S G| IH FRI & I @
1970 o &I T IR TE@T T4 |
88. TAWYH TWTT HIIET ShiA-HT &AT?
(a) THA I (Apple )
(b) T II (Apple 1I)
(c) 191 (Maschintosh)
(d) T fer & (Apple Lisa)
RRB NTPC, (Shift -3) Online, 26.04.2016
Ans : (a) THA I (Apple 1) IIH THT HFYT ATI THHT
fohre Toe HrEX HHE a9 1976 § fpam o)
89.  Who is the co-founder of Apple computer?/ToeT
HeH & Ug-UTA Hi 82
(a) Paul allen/9Tel T
(b) Bill Gates/f5d Teg
(¢) Charles flint/=Ted foic
(d) Steave jobs/=1a Sifeq
RRB NTPC 11.01.2021 (Shift-IT) Stage Ist
Ans. (d) : €19 Sed U0 Y & H9g GETH 41| 97
T TH RS foomg TEFT iR enfshns 91 a7
TOA I% h TEEENS HR g FEGH R °
3T 2011 § 3 39 UR ¥ IEW S AT 9k 9@y
HT disHs (dle) a1 Jeg a9 4 e 1 31,
1976a$rchaa$rqumﬁaﬁ1m=rﬁm| T 2011 ® &
13?§ 3 | Rreied st O Tod TEsET F

el fifere FEfeT aafdT Rl dut gobrd (3.
TH.) % GO 2|
90. Which

technology do
computers use? et

qehTeh ST SUDNT feRarm TTe &2

(a) Integrated circuit/Tahighd IRIY

(b) Transistor/ZifSRET

(c) Microprocessorﬂﬁm

(d) Vacuum tube/aa?{q =

SSC CHSL 19/03/2020 (Shift-I)

Ans. (a) : S FH THY G H YEA 1964 § A
S 21 39 SRYE # oM. & o & wam fear s
@ T, IC &1 G0 1 Integrated circuit 81 IC %I fr@
1958 ® Jack kilby 7 fam o1l 3" BE o&e 9T
YA ST % fAw R S @) gEH A F AR W
T e 1 yamT fBar T am

third generation
wrged o
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y Ml FTTe ht Wi (Generations of Computer)
. TEmwwe

it TEAIT | |iveaaT | Aud AT | SuEeT | fagteend | SeeRer T/
pe)
(fen)
yor et frafq | #efiet oo, | deerE, el 9 9w |foEd siR [ENIAC | @dfan, @
(1942-1955) | = EIESI YR 3T | (ms) AN wn | =it EDVAC |smam, oo &
© = 1), ﬂiqzﬁ"'[ 7ot UNIVAC-I I T, iﬁ
TR I 1 31 e
fofrr it | |3=a Wi, |demm |WEswl |o9fe | AWd SR | IBM - 1401 | W stened
(1956-1964) W@ | HE, He (us) | 3 s |UNIVAC | gy e i
o, s | g 2, wa e g |POP -8
ARfeT | FARes swm |3fga
o=y few= IR R
(T dEh @R |3 wig | gee A Y | BT & | eSS | [BM - 360 | ST0&THd e,
(1965-1975) | e, T qUERTT | (ns) SR | AT PDP-11 |g@ ot 9,
SSI, HHHIHLOT, | &FaT § ELpi| 3T YT § e
MSI | eww vt | 3fs forsey, #-
R T T
firew A &
Epin)
aqd d | Wb | Sefieheder | il T |k & (U g |IBM PC- | ST0eThd 9&d d
(1976-1989) |FEW, | TR A (ps) Faats | FE @ | XT Apple | dm, s=a aman
VLS, |Zethy, s, |sw s |PC e, SuAT #
FL | UNIX 3R ARG | &7 A
EECELOR L 2 IwEm
F1 T | qdaer I
T | g
| fqw s
fen
T gl ULSI, |3t a1 |afesha | 100 Foe 3R | @ 3 [IBM Note | 31fd ®12, a1fd
(1990-37 SLS, nedHifen | e, million to | grerer o Book, e
T) =ﬁE§T£, TR, aﬁam 1 bi_llion Hifea ¥ Pentium
9=y, Reuh. B logical — PC, §W
3'2-@2 YRS W ugfrences N FIT
1 o HUSU Is)econd
&
WO WiEt (First Generation 1942-1955) (92 %X &1 fohw it & wmnfi s < &0 &
. . it w1 wEnT e ?
91. vugeht it & HHEEH W ------ % ®T A (a) T (b) 5o
Tarfga feram =T werar & ' (©) (@) S
(a) FTH (b) YR =T SSC CHSL (Tier-1) — 15/03/2023 (Shift-)
(c) TATART X (d) fefoea Feger Ans. (b): T $ Fo UIE T 1946 ¥ 1955 T &
UPPCL Executive Assistant 23-11-2022 Shift-1 | |y g 21 w9 gaie FY 1946 H aa H
Ans. (c) : Tell 9F & FFATH  H TACT FFL h| || 9, Rrgeh T Feiaih HRed E TS St
wq # fufed fear ST e 21 (ENIAC) @I
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